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1.0 GENERAL PROGRAM INFORMATION

1.1 PROGRAM PURPOSE

wmﬁﬁ% ""*’*“ ﬁfi"’i;?,ﬂf’? < gt
THESE TESTS A nm ! 0 FOUR MAJOR SECTIONS %v&.
R. BRSIC CPU TESTS (BCPT)

E%C?DM ? ? TEST TO0 VERIFY THE "% llm FT'&LT

B. BASIC INSTRUCTION TESTS (BIT)

THIS iCTIGl CONSISTS OF A OF BASIC

HSTTEEHM "ﬂm? DS, Al & Do

%I'? FMI TI IEGI!TSM

HINIH

)1 mx HI

i mﬁ:&* £

ANY F“ T IN TH CT1 ’80 'I'I'E H?UF"T
s&ﬂgm

I
.S&W o o

ING
"#l{ ERROR lll.T CRUSES R RETRY FRILIM sT.
C. COMPREHENSIVE INSTRUCTION TESTS (CIT)

TR S
L e

L
IPOSIT ETC.). ERCH TES'I’ IN THIS SECTION CALLS
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DOKDRB.P11  25-APR-77 08:29

178

BRSRRPRB SR TERRREBRER

CHES

nn
b
-0

1.2

1.3

1.4

1.

e.0

o R R R Sron e

g%ﬁ% i

D. COMBINED INSTRUCTION EXERCISER (IEX)

A A

u%“ns T0 u:rbm ERRORS AND ALLOM sxs

SYSTEM REQUIREMENTS

A. HARDWARE REQUIREMENTS
POP11/6X CPU WITH OPERATOR

5 801120 R TNCHRONOLS 'xr{lfﬁwmy WITH LINE CLOCK

B. SOFTWARE REQUIREMENTS

. PDP11 ORDER PROGRAM FOR TAPE SYSTEMS
é. )N} m& DECTARPE, MAGTRPE, TTE, OR DISK SYSTEMS.
RELATED DOCUMENTS AND STANDARDS

DQKDA USES THE STANDARD APT SOFTWARE INTERFRCES FOUND IN
THE MACY1l SYSMAC PACKRGES.

DIAGNOSTIC HIERARCHY REQUIREMENTS

DGKDA WILL NORMALLY BE THE FIRST DIAGNOSTIC TO BE RUN RS
PART OF 1176X CPU CHECKOUT.

FRILURE RSSUMPTIONS

“DOKDA™ ASSUMES THAT THE STORAGE MEDIUM USED TO STORE THE
PROGRAM IS INTACT AND THAT IT CAN BE LOARDED INTO CORE.

OPERATING INSTRUCTIONS
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wn
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DOV E

P11
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e.l

e.e

2.3

GOl

WYI} 27(1006) @25-APR-77 08:37 PAGE S
LISTING

LORDING AND STARTING PROCEDURES

R. LORDING PROCEDURES

1) STANDARD PDP11 ABSOLUTE LORDER PROCEDURES FOR PAPER TAPE.

2) STANDARD XXDP MONITOR LORDING PROCEDURES.
3) STANDARD APT OR ACT LOADING
B. MANUAL STARTING PROCEDURES

5, LORD SHITCH REG WITH 000000 (NO SHITCH OPTIONS)

cu#m. no"s%mss BUTTONS SIMULTANEOUSLY

SPECIAL ENVIRONMENTS

16K POP11/6X SERIES SYSTEMS
FM vou W1 UNRBLE
'% R 5
il S IILTNEGJS
moa%g FREE CORE IS
MONIT ' DOKDAR™ CAN BE

LMWMM
PROGRAM OPTIONS

A. SHITCH REGISTER OPTIONS

(PG BHTEAING T CoppROvENRILE LeTRueTION TETE (CIT)

SECTION: ION IS ACTIVE WHEN SW IS SET TO R *

SK1S T F PRINT THE HALT
B T e T
POINT OF ERROR.

SWI4  CONTINUOUSLY LOOP ON THE CURRENT TEST
SW13 NHIBIT NORMAL ERROR PRINT - THIS NOT INCLUDE
POLER FAIL, s ERROR, OR RSVD TNSTR TRAPS.
SWi2 %MIBIT NfL PRINTWTS NOT COVERED UNDER SW13. THIS
TR_TRAPS.

% BUS ERROR, AND RSVD INS
NO T 17 ts NOT POSSIBLE TO INHIBIT END PASS OR
POMER FRIL PRINTOUTS.
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SRR

HO1

IC LOGIC TESTS MACYll 27(1006) 2S-APR-77 08:37 PRGE b
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2.4

3.0

3.1

SH1l I&I-.E?Mi TEEIglsTI! T &TERRTIUS ARE

m;'-g f.f.%‘#a it W

00P ON THE ENTIRE “BIT* SECTION

SHO9  LOCK ON HARD ERROR

SW¢B: 0> % w% &MTM I;ET“FF*?IN IF Sdl10=1.

B. MEMORY LOCATIONS

4. BPTLOC: M IS A me ON TMQT'UT%F MTM%M

R g
TS FEA Y4 %K A WTRILED MSCRIPTIM OF THE USE OF

EXECUTION TIMES

ONE COMPLE LEWMFRE;PRSSW WITH NO TEST ITERATIONS
SHOULD TRKE THAN 7 SECONDS. A SSFUL PRASS WILL BE IN-
DICATED BY THE FOLLOWING PRINTOUT ON THE CONSOLE DEVICE:

END °RSS & 000001 ERROR COUNT = 000CO00
mﬂcoun MT&EMEDRTTﬁﬁGIMIMG'RPEHPRSS
I&TH COMPLETE ERROR FREE

TIONS ENABLED R PRSS SHOULD TRKE
S MINUTES.

ERROR iNFORMATION

ERRGR REPORTING PROCEDURES

A. ERROR MESSAGE FORMATS

THERE ARE SEVERAL DIFFERENT ERROR FORMATS. ERCH IS DESCRIBED BELOW.

1.) ERROR 1 IS OF THE FORM

S/B DST WAS DST DEST (IR) TEST (PC) (SP)  (PSW)
XXXXXX  XXXXXX  XXXXXX  XXXXXX

XUAXRX  XAUXXX XAAXXX  XXXXXX
WHERE :
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9 05T (0 St SO 2D, T RGS
s 05T 10 SIS B0 SO PORRD PETACTIRS DS

ncnm.ms

DEST  FOR Sllﬁ‘t mm%(lﬁ THIS

(IR) THIS 1S A COPY OF THE TEST INSTRUCTION
'&ilw& 'STL%TIMINTI{CRSEWM

{5

TEST INDICATES THE TEST NO. (IN OCTAL) THAT FAILED
o pge T LT e
%DFRIL NG . o

o P I8 RS & I8, I
UhPTENG i S R e,

ORED) SIS TYPED, WITHOUT
) RODTTIONAL PUSES
(PSW)  INDICATES THE %‘:rnrrsormmssoasmnsm
AT THE TIME OF
XXX IS AN OCTAL NUMBER.

NUMBER TYPED OUT IN THE "
THE TYPOUT WOULD LOOK RS FOLLOWS:

S/B DST WRS DST Esga (IR) TEST (PC) (SP)  (PSHW)
XXXXXX X000 000X JO0KXX XXX XOOOKX  XXXXXX XXX

EiGePT Tt ORLY I LASY 5.6, R 7 CoLUrws (RESPECTIVELY)

aoecTFICALLY Iiﬂ%" caﬁsmwr % FEANING RS

DESCRIBED FOR ERROR 1 EXCEPT
S/B SP IS WHAT THE STACK POINTER SHOULD HAVE BEEN (S/B)
WAS SP IS WHAT THE STACK POINTER ACTUALLY WAS

FERERFRRRELA S Sttt otdtiblil sl £ 3 S driniaini it sl
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KD11-K BASIC LOGIC TESTS mcm 27(1“) 25-APR-77 08:37 PAGE 8
7 DOCUMENT L

| 0L L DL a0
ml’nﬁvﬁﬂ% RECEIVD

R
}

X1
e s
~§

u ncn cxsnm
"r&g 0B &5 zma
ACKMARDS, ERROR 11 WILL 'ruxsasrouous
TESTS SK
gc m ncm (TEST #'S)
XXXKXK  XO000KK

EXPCTD THIS IS THE TEST NUMBER THE SCOPE WRS EXPECTING TO BE

RCTUAL THIS IS THE TEST NUMBER THAT IT FOUND IN RO
7.) RESERVED INSTRUCTION TRAP ERROR MESSAGE

NSTRUCTION TRAP DETECTED AFTER THE
MSIC TESTS TS IN THE FOLLOMING PRINTOUT:

TRAPPED TO 10 PC = XO0XX

mmxmmm TPEPWISKSTMTED

FROM THE BEGINNING.

§ 5078 RIS R e
OR A BUS ERROR R DESCRIPTION
OF THIS HALT ISOGITRIIED mm 323&0‘

IF A RSVD INSTRUCTION TRAP ogcmsTmoa T0 COMPLETION
2, PO SRl T Sl De ity
THIS HALT IS DESCRI N PARA. 3.2.2 BEL

4. BUS ERROR TRAP ERROR MESSAGE

ANY UNEXPECTED BUS ERROR TRAPS (BUS TIMEOUT
ADDRESS rt:moa 2&_{@1 INSTRUCTION, OR STACK OVE mou)
RESULTS IN THE OMING PRINTOUT:

TRAPPED TO 4 PC = XXXXXX
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3.2

FRRREL S S L St L R F 22

££L
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S3RERRIER2AII
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KO1

MACY1l 27(1006) @25-APR-77 08:37 PAGE 9
LISTING

oo RPLIE B IRRRD

mmimmmmmxsmm

8 BT T PO e e

IF moa 1’0 THE com.mou OF THE
Pl T s (o T ST,
xs x 5 2" 2

S. POMER FRIL

IF A POMER FAIL CONDITION IS DETECTED, THE FOLLOWING
MESSAGE IS PRINTED:

RAFTER PRINTING AN ATTEMPT IS MRDE TO RESTART THE PROGRAM AT
THE BEGINNING.

ERROR HALTS

1. BASIC INSTRUCTION TESTS (BIT)

ERROR DETECTED_ IN ﬂE ansxc TESTS (AUSES THE

WTY? mﬂlw o N THE LOCATION CONTRINING
i Wm&&mas BPBIE

,s M*& “*'zm',;s

nut ou
Lﬁ'fmﬁa s*'*"r"m el

2. TRAPCATCHER HALTS
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ll-K BASIC LOGIC TESTS mcvu 27(1(!5) e25-APR-77 08:37 PAGE 10
- DOCUMENT LIS

PR Mool ehe" ol 18 S omoen i
V 7 Ve
vVe2/ HALT

ﬁl“ NII'G VECTMS
NESETIPTO PO% 10 IQTESERV

: %ﬁ% =

,..,:ﬂ*ﬁ va%:? '

P‘mWMW% SEN THE TP OR
UVED N THE STACK W A TREP O INTERRUST OCCLRS:

3. CATRSTROPHIC ERROR HALTS

wus ONE IN
wﬁi" rﬁ*‘eﬁ” U R e
i e & TE BTt bl S
E:ms 8 S 19, 1 G T o

gl = BR1000 mﬁﬁ%ﬁ&“
SOENTIFTES WiiCH TYPE OCCURRED LAST.

THE STACK PROVIDES THE FOLLOWING RDDITIONAL INFORMATION:
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m Pll  25-APR-77

wn
¥ ]
—

R B SR SRR B BRI ool SN S S L R R L BB AP AEBRTESE

EREERESRRE
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4.0

4.1

4.2

4.3

PERFORMANCE REPORTS

e Wt g e
SHOWN BELOW:
PASCNT = X)XXXX ERRCNT = YYYYYY

OF 118 ENTIHE PROGRAR (OCTAL) 1ot PASSES

YYYYYY IS THE TOTAL ERROR COUNT IN OCTAL
PROGRESS REPORTS

PRINTED THAT REPORT NORMAL

ERROR FREE EXECUTION OF

A. END OF PASS PRINTOUT RS DESCRIBED IN 4.1 RBOVE.
B. PROGRAM IDENTIFICATION MESSAGE RS DESCRIBED BELOMW:
MD-11-DOKDAB KD11-K BASIC LOGIC TESTS
PR THE Fl TIFE THE PROGRAM ENTERS
gL
IIHI TED INTOUT
IS AUTOMAT ClI..I.Y IMIIOITED UNLESS THE mom
MINTM BRERKPOINT FERTURE

Ry

AR M
WITH THE é&’éﬁ&" N DISPLANED F%ac'&sum HALTS

IS RESTARTED AT 200(8).
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DAKDARB.P11

ovororor o oo
s s s bt s D
nNEwn—o0

b
oo

619

SRR RN TEIE S5 E5A= 2 RRRRROERERRERERTRREE

25-APR-77 08:29

5.1

s ""’Sﬁ R

5@2 i
1
i ﬁ
BIT1S=1
T I, SR PERSTER A ORGP T e

THIS ;ETUE&S USEFUL FOR TRACKING DOWN THE TEST THAT CAUSES
A" Y* OR "HUNG™ PROGRAM.

LOCATION “BPTLOC" IS PROGRAM LORDED RS 000000 TO INHIBIT ANY HALTS.

MAINTENANCE PROCEDURES

THE KD11-K BE VIEWED RS
CONSISTING OF TWO MRJOR LOGIC ARERS DEPICTED BELOMW
DATA IN Hl:
v
BEAREEFEREREREY 36300096 06 0096 36 0696 36 0636 36 06 36 3

% % ¥
#C BINMNNMNMNINE DATA
: %% :uu((«««(: PATHS
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IR R SRR PR R S B SRR I BREE Jo Joivt - S S B GF LS B

NNNN
— b
wn—0O

~
—
£

715

SRR R HHH R
l

mmm ouT

e

5.2

E:%'&ulﬁ 4'"-%-0 KD11-K BRSIC LOGIC TESTS

THIS PROGRAM ING THE PW MIIIIC SYSMAC
{APACKAGE CHATNDEC-11-D2hc-c33, JoN 19,

.SBTTI. OPERATIONAL SWITCH SETTINGS

- . e —— G % L = —— =

—— e —— . e e

e —————e—



DAKDARB.P11

71
71
71
71

3332 PTER TR It 33 3352382 duduiatdeiNSuaai gl NN

MRINDEC-11-DOXDA-8

coe

- SR Eﬁ‘éﬁnaﬁ""&.x?’o&'%ﬁ&" e

001

I
e

:

177776
177774
{77772
177870

‘-‘..‘*

13 é’ owutmcm TRAP MESSAGES
IN

! B0

.ENRBLE RBS
.SBTTL BRSIC DEFINITIONS

'%&‘&IIK OF THE STACK POINTER ##& 1000 ##%
M W psk G ER G

AL TRB
INE FEED

; XLAT= m y um G

I 177772 g&l QUEST REGISTER

BoiP= 177870 Eim?mm‘%

= 2

R2= zé

R3= %3

Ru= )

RS= %S :

e B '

oz 13 1 COUNTER

-mxoaxgv LEVEL nermxrggﬁ a -

% 5 AR
s sPRIORITY

PRO= {iERIGRTY LEVEL
t:PR 1Y

- 4. g TY ?
e STER™ SWITCH DEFINITIONS

PERRETE
el

B Pt e o == fe=o

. —— .
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L PR AR AR LD EE L L EE RRRERPAR

e b s Bt Bt Bt ot Bt Bt s
OO NCTNLEWN-0O

'\
-

JREBEREE

25-APR-77 08:29 BASIC DEFINITIONS

1

’
8
i
QUIV ’
v ,
.EQUIV .
. 8 M '
.EQulv :
. w v '
-EQUIV '
TA BIT DEFINITIONS (BITOO TO BIT1S)
15= 100 D00
Tl4=
11
11
Tli=

T
I

% ﬁ& "CFU" TRAP VECTM;.mS“ OTHER ERRORS

C= 10 1 AND ILLEGAL INSTRUCTIONS

14 C=14 el BIT
Y -c % TRAP
ﬁiu m& { INT TRAP (aP}

000020 10TVEC= ao :: INPUT/OUTPUT TRAP (
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eS-APR-77

RERFRRREL S i bl ol tif bl Gl ¥ 283 5 RF AR a A A g

BASIC DEFINITIONS

% g Eﬂ‘f& *W (EMT) #%ERROR#%
iggc o s m REQUEST VECTOR

:&mﬁ tel By 2 T
; #LOCA IM CMTRIIS TO CATCH IMY LORDED VECTORS

e TINTE
;}p w.,iﬂ’ TO ST%W gm e

SB% APT PARAMETER BLOCK

SIS 0

’sn LOCATIONS 24 AND Y4 RS REQUIRED FOR APT
BEEBER R B E SRR REY

B
whon Ll RLEGRAS

HHHHHHHHHHHHHHHHEHHHHHHHHEHHHHHHHH
a TER BLOCK RS DEFINED IN THE APT-PDP11 DIAGNOSTIC

-
283,
’“§

ﬁ:mgi JHORD O HIGH BITS OF 18 BIT MAILBOX AOOR.
: ‘HORD SMAIL LgOx (BITS 0-15)
. MR .,nw ok [

i 3ol oL RO g o Pnss oR ae eI T ToNAL UNIT

ﬁ mgsmo-#n ; SLENGTH MR Iﬁox SRa ¥ uome

.SBTTL ACT1L

R S Y NI sy YIRS SRR T SIS
! hOOKS W BY ACT11

;SAVE PC

m ::1)SET LOC.46 TO RDDRESS OF SENDAD IN .SEOP
Zﬁ 0 +:2)SET LOC.52 TO ZERO
.=SSVPC RESTORE PC
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TRGS

.SBTTL COMMON TRGS

§ 5 SHEHI RIS S HHEHHHHEHEHHHHEEHHHHHHHHHHEHHHHHHHHHE
;THIS TRBLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
; #USED IN THE PROGRAM.

"
.g-

:;START OF COMMON TAGS

:

R BT o
o
O

i NTERRAY ROBE HBTERTOR

%QMQQ@OMQ&OO@OOM
—

e

.e
e P ot B .

SS
SS

ey o SRR

“
=
o

BEEEEE 5

oSS

7%
(S
: . (12 HH EED

;;!lllllllllllllIlllllllillllll!i‘llllllll!llll!l!llliiIllilllill

2
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GO2

APT MAILBOX-ETRBLE

2S-APR-77 08:29

P11l

MAINDEC-11-DAKDAR-B  KD11-K BASIC LOGIC TESTS MACY1l 27(1006)
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, 11740=04, 11/45=05

N
-
-l

o
—

7
.&-m

SISO T I 0 00 000 0 00 000 00 3 00 30 00 00 00 %

PR OBR IR IR IR IR IR IR IR IR IR e oo o aP=d B oneel) e
smsmsacmsactacattttsacncacace o) [+s]es]0]

el it

.SBTTL APT MAILBOX-ETRBLE

w | wmm mmm.mm

RRNULERNARPPTHT

Lt R e R e B e e R R e K I e )
o= o) o= =4 =4 4§ o—§ =4 =4 o—§ o= ==l =G > =d =d

8888888 85888588
el F RS § £ R T

— . —— e — — — ———

959 001150

2

e ——— - ——— ——— —— - -
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8
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[ ol and ol o B e e ] I
Gt pmt s . s et Pt P P Pt Pt P
odnid FIRNE FE0S8

g

888 8888 SE8E8 \888

o

001206

BEASAASS S22 00NN 00N

1005

[
8888
BEERR E
b

n

Y

o

1011 001236
101%
1013 001240

HO2
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ERROR POM Tﬂ.é

.SBTTL ERROR POINTER TRBLE
Hi gl ”&‘n??’"“l S ogAIND 4%‘%‘”‘ NOEX, MPGER, FOURO TH -

LTS

i & EM PO

B bt 10 he e

L% OF ::Po NTS TO THE 1n FORMAT
SERRTB:

sITEM 1

;S/8 DST WRS DST DEST (IR) TEST (PC) (SP) (PSW)
§Tl ;SREGY, SREG3, SREG2, SREG1,SREGO,SERRPC,SREGS,SRECH

i5/8 DST WARS DST %ST (IR TEST (PC) (SP) (PSW)
8T2 SREG‘G SREG3, SREG2, SREGI, SREGO,SERRPC,SREGS,SREGE

5!13 ;S/B SP WAS SP (IR) TEST (PC) (PSW)
873 ;SREGY, SREG3, SREGI1,SREGO,SERRPC,SREGE

EM4 :S/B DST WAS DST ogsr (IR) TEST (PC) (SP) (PSW)
§¥2 *SREGY, SREG3, SRE Gl, SREGOD, SERRPC, SREGS, SREGH

ITEM S
;(IR) TEST (PC) (SP) (PSW)
8T5 ;SREG1, SREGD, SERRPC, SREGS, SREGH
ITEM &
5!% ; DEST (IR) TEST (PC) (SP) (PSW)
8'[6 ;SREG2, SREG1, SREGO, SERRPC, SREGS, SREGH
:ITEM 7

5 ;WAS DST DEST (IR) TEST (PC) (SP) (PSW)
017 ; SREG3, SREG2, SREGl, SREGO, SERRPC, SREGS, SREGH

0
;ITEM 10
EMIO ;:S/B RES WAS RES DST OP STC OP TEST (PC) (SP) (PSW)

0
ngO ; SREGY, SREG3, SREG2, SREG1, SREGO, SERRPC, SREGS, SREGH

ﬁiwa,gt i Js oo

———
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77 08:29 ERROR POINTER TRBLE

e230) Bl iTRC “BPCio acTuaL (TEST w'S)
11 :SERRPC, STESTN,SREGO

82888
s Ps o e
it
ﬁ
-.-
=
(= - ]

-

sese  gess
VW PR
W ES
-o'°§
5"‘2?"'
?
g
2

|l el end.and

1

888 8888 8888
WDt
B o s
£LMNVO
?ﬁg
W =
= e
P Pt s e
U

2
—
o
R
E
Q

é% -TO-"! Dg NOT OCCUR
; ITEN 16

&% E.'.'m %ﬂ{ TA t%GED INCORRECTLY

DT?‘! ; SERRPC, SREGI SREGO,0
ITEM 17

701 .M TAG LOGGED WRONG
gnﬁg BEFag QRRPC SRE*W $REG1,0

c
SREGI. SREGO,0

W I e bR
R —_
i
%3
=
-3

ot B 5 B

07 e ; g? CTD RECEIVD
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MAINDEC-11-DAKDR-8 KDH-K BASIC LOGIC TESTS MACY1l 27(1006) @25-APR-77 08:37 PAGE 21
. DAKDRB.P11  2S-APR-77 08:29 ERROR POINTER TRBLE

l
1

}m

1

7
1 1364
1078 001366
107¢

1080

1 |

1 i

1 1

1 |
iﬁ

1087

1088 001
1089 001
1090 001
1091 001406
1092

1093

1094

1 141
1 141
1 1414
1098 001416
2

110}

1102 001420
ug 001
11 0014
1105 001426
1106

1107

1108

1109 14
1110 14
1111 00143
lllg 001436
111

1114

111

1116 001440
111 1442
1118 14494
1119 001%46
1120

1121

1122

i

1

!

113

1128

§

e B RS

e B f

B

b R B

:0,0,0
: 1TEN 23
E g 000 PC TRAP
;ITEM 24
000 ROR. a&r}o“; SET IN CPU ERROR REGISTER OR LOG JAM
gm Egﬁfﬁl G1,SREGD
;ITEM 25
17 ;LOG CUA L NCORRECT U-RDDR
L iHC g s
Orau :SERRPC SREGI  SREGO
; ITEN 26
'pC 99 T-PR( 15:0 > PA<17: 16> -RECVD-PA<15: 0>
81 : #Sxﬁc GO,SREG3,0 :
: ITEM 27

EM27 CACHE PARITY LOGGED IN BACK UP MODE
DHe? ;PC_LOGPBR LOGDATA LOGTAG
8T27 ; SERRPC, SREG3, SREG1 , SREG2

; ITEM 30
EM30 ; CACHE PARITY TRAPPED WHEN DISABLED

0

s ITEM 31

@ ;gg CACHE PRRITY TRAP
01 : SERRPC

; ITEM 32
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MAINDEC-11-DQKDAR-B KD11-K BASIC LOGIC TESTS MACYI1l 27(1006) 25-APR-77 08:37 PRGE 22
DOKDARB.PL1 eS-APR-77 08:29 ERROR POINTER TRBLE
1 4 s REGISTERS INCORRECT
O1aes ;§
81‘5‘1 T s , SREGO
1466
; ITEN 33
14 IT NOT SET IN CPU ERROR REGISTER OR LOG JAM
Bm g R
1NN 7700 SERRPC, SREG1, SREGOD
001476
s ITEM M
1 +NO ILLEGAL INTERNAL RDDRESS TRAP
1200 Gegias boy  iPe
001SOMY 067674 pTe3 ;s SERRPC
001506 000000 0
;ITENM 35

81?}2 % ,%%g ERROR BIT NOT SET IN CPU ERROR REGISTER OR LOG JAM
; SERRPC, SREG1 , SREGO

; ITEM 36
EM36 ;LAST INTERRUPT/TRAP VECTOR NOT LOGGED IN FLAG REGISTER

E% 5%%@0

g
s

; ITEM 37

Bn Bt Bt Bt Rt R B [t B Bt Bt ot ot Bt s e B B Pt Bt B Bod Bn et o ot Bt [t Bt ot et s o et Bt (e B (s B B et Bomo e e e frent Pt e st sy B o faees B B B0 Broe
Bt B ot P ot s Pt Pt Pt Pt Pt ot et ot B ot et ot P Bt (et e Pt B Pd Pt ot Pt s P Pih Pt Pt P Pt ot Pt P s P B Pt Pt Pt ot e Pt Pt P ot P ot p s P e P

2BREBISIAA LI~ SELFHELAEBBIRAPUBEESFF ESTESB8Y

B
001530 066433 EM37 :LOG FIRST MODE DID NOT INMIBIT ERROR LOG ARFTER FIRST ERROR
5 B2 L A
{ E‘Tg : , SREG]1, SREGOD
; ITEM 40
1 m : NOT RE-ENABLED, ODD ADR BIT CLR IN CPUERR
gigg 06 ; DT2M .SERRPC SREG?JSREGD
001546 ﬂ% 0
s ITEM 41
ig M4 %STMTION NOT ABORTED IN CACHE ABORT MODE
001 76 DT : SERRPC
001556 000000 0
s ITEM N2




e o= = P fome Pt R Pt Bt Bt et e (ont ot Bt Goed
e (= bt s (pmS b Pum Prod Pt im0 Poad Pt e B Pam

g

.g

HaRS

o B B B

2S-APR-77

3

5
2

UUUZLUL

N B

MAINDEC-11-DOXDR-B  KD11-K BASIC LOGIC TESTS MACY1l 27(1006) @25-APR-77 08:37 PAGE 23
DQKDRB.P11 08:29 ERROR POINTER TRBLE

kg M PARITY BITS NOT SET IN LOG SERVICE
; SERRPC, SREGO,0

BTES
; ITEM 43

EMY ;w TAG PARITY BITS NOT SET IN MEM ERR REGISTER
T ; , SREGD

;ITEN W

1 ;EIS SET
T L R VUV
0 Sl GRO SREGI SREGY SERRPC SREGO STMPO

;ITEM 45
EB? "&”"&%ﬁ nzc-sxa-ascu PC TEST (IR
Bmsx :SREGRD SREG2 saeca SREG] SREGY SERRPC SREGO STMPO
; ITEM 46

EM46 ; AUTO-INCREMENT (MCEF!‘ENT) DID NOT OCCUR

B ischiec siwd

g

176
S

.EQUIV SP,KSP

e

s MED OPERATION CODE DEFINITIONS
WCNSSk=226

1=022

1=g22

LAG=144

chi




DAKDRB.P11
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MAINDEC-11-DOKDA-B  KD11-K BRSIC LOGIC TESTS MACY1l 27(1006)
25-APR-77 08:29 ERROR POINTER TRBLE

)
So0A81
0001

MO2

25-APR-77 08:37 PRGE 24

1246
1247

|

1251

1§ 0001

1

1

1

g 000071 sMICRO ADDR. IN SWAB INST.

i3

{g | sADDRESS ASSIGNMENTS FOR DL11 CONSOLE TERMINAL INTERFACE

1 " 177580 RCSR=1 s RCVR. ATUS REG. ADDRESS
1265 177562 RDBR .% .azceg% G. ADDR.
1585 17ree s o {%‘ Tmusm' DAt /e T HooR. "
ga 1% LK 1 LINE CLOCK aoo&'s-sm . g

S S — -
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NoONEWn—O
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= B B Bt Bt

DAXDRB.P11

001630
001630

001632

001634
001636
001640
001642
0016M4

001646
01655
001656
001660

001662
OC lﬁb‘i

001674
001676

831 B2

g

3
R

B2

== =

1

—0—8

2

:
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MAINDEC-11-DGKDA-8  KD11-K BRSIC LOGIC TESTS MACY1l 27(1006) 25-APR-77 08:37 PAGE 25
2S-APR-77 08:29

ERROR POINTER TRBLE

: ///W/&é/////////
/////////////////I///
3 65303 36 36 36 36 06 36 36 36 30 38 3 338 338 30 38 36 3% 3 3036 3 3% 36 38 4 3 9 3 S8 %% %% %% %%
.SBTTL BTOO1 "BR™ TEST -POSITIVE OFFSET

’ %%
START:
BT00l: BR BT002 ; TEST THE BR FORWARD
EOCI: HALT ;BR FAILED TO LORD PC PROPERLY
K
’

.SBTTL BTOO2 "BR™ TEST - NEGATIVE OFFSET
s SIHHEHHEHHHHHHHHHEHHEHEHHHHHHHHHHHHEHHHEHEHHEHHHHHHHHHBHHHHEHHHH

BTO02: BR 1002 ;GO TO TEST INSTRUCTION
ROO2: BR BT003 ;GO TO NEXT TEST

EX002: HALT ; JUST IN CASE

I002: BR RO02 ; TEST THE BR - NEG. OFFSET
E2002: HALT ;BR FAILED WITH NEG. OFFSET

; R
.SBTTL BTO03 “BASIC COND. BR™ TEST - FLAGS CLEARED
HERE FERERNRRRIRER

BT003: Ela E003 BR IF 'l'l" SET

i Ef E Sl

i AT AR A

BR 87003
s HHHHHHEHHHHHHHHHEHHEHHHHHHHHEHHHHHBHHEHHHHHEHHHHHHHHEHHHHHHHHEHHE
.SBTTL BTOO4 “SCC AND COND. BR’'S™ TEST - FLAGS SET
e e e A R R e A
BTOO4: SCC ;MAKE N:2=1111
1004: BPL ;BR IF "N" FRILED TO SET
Z" FRILED 10 SET
§ E@‘l s "V* FR ro SET
F “C* SE

& THA %R%Tw QLSTFIEQIIFP&S

BR BTOOM

$ llll!llllllll!llll!lll!IllllllllllllIll'lllllllllllllllllll!lllillll




l

mzmmmm

B st o Bt B et B et Bt et o B Bed ot st P v B s Bt Bt

k=

RE LA A dd d ot

B S s s (ot et P Pt (et (o Bt Pt B e P s o (e P (ot (e et ot o ot i Pt Pt Pt Pt Pt Pt 0 Pt Dot

L

001700

1

1

1
00171

001712
001714

001716
001720
001722

20175

1730
173

0017M
001736
001740
001742

179
1749
001750
1
1788

001756
001760

001402

U 0 0 [ G BT B0

.SHTTLIYGIS'OO;C“NM. BR’S™ TEST - FLAGS CLERRED
BHHHE I I HHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHH

BT00S: CCC ;MAKE N:C=0000

“RE B ﬁfiﬁm
- ERESETR

. .SBTTL BT006 "CLR XR™ TEST - SETS THE "Z" BIT
FEERRABHERREEERAEE

'S FRILED

BT006: CCC ;MAKE N:C=0000
1006: CLR RO ; TEST THE CLR - IT SHOULD SET *Z°
BEQ BT00? ;BR IF CLR SET °Z°
E006: %T 8T006 ,wa-' %Fﬂ TO SET *Z°
’

5 SHHEHHHHHHHHHHEHHHHHEHHHHH HHHHHHHHHHHHHHHHHHHH S HHHH R
.SBTTL BTOO7 "TST *R™ TEST - USING THE CLR
SR EHHHHHEEHHHHHHE

; R
BT007: CLR RO ; (RO] =

i IRE N:Cz0000
1007: TST RO ; TEST THE TST - IT SHOULD SET "Z°

BEQ 87010 ;B8R IF "Z° SET 0K

E007: HALT ;@ - F:ﬁ TOLEgU RO WITH
: ﬁ% r FRI
BR 87007 ;

5 SHHEHEHHEHHHHHHHEHEHHHHHHEE HHHHHHHHHEHHHHHHHH
.SBTTL BTO10 "COM %R™ TEST - SHOULD SET “N™ AND “C"
PR HHHHHHEHHHHHHHE

BT010: % RO :ﬁ &Qw

1010: CoM RO ; TEST THE COM - [RO) S/B = 177777
BN BETEeT

EDID: HALT ;ERROR - COM Fg&ga
BR BT010 ;LOCK ON HARD




MIII!C;H-W-O glwaFIC LOGIC

1368

1

1

e 0Bi7es M

=
E
8

13% o001
g ool

] 1772 00

}5 Birre |

2w mR

1

1398

1399

1400

:

14N 00500

1408

1406 002006 012700 177777
1408 002012 00S100

3 gmi

141
l'ﬂé
141

CO3
Y010 ~cOn X~ TEAT = SWBLLD SEF =N° MWD G0~ &

o BHEERFEARTARPIEBEIFUTEEERENRB VBRI RRNRE
' .SBTTL BTO11 "COM *R AND RDC XR™ TEST
3 BERREEEE YRR RN B R B EA R E R R R E R ARG R E NNV E RN RN RS RN AR

BTOLL: QR RO KE Area00

Toi: g RO iTEeT TE &0 - 1RD) @B = B0
B Bl REEBE ™

i gt i EBROR N oo "Erk FRILED

S0 SIS S I HHHHHHHHHHHHHEHHHHHE
" .SBTTL BTOl2 "MOV 8N,R™ TEST WITH N=177777, [R)=000000
3 lllllll!lllllll!!iI.lllli!‘l!’!!!lllii'ii'llﬁlli‘li!'llli!liill!lll
- i R s

1012: MOV *-1,R0 ; TEST THE MOV - (RO) S/B = 177777

5 Bt BRIF o3 ser 0

SR

EDI2: HALT :ERROR = FR TO LORD RO WITH ALL 1°S
:LOCK ON %

BR BT012

#RERER

5 SHHEHHHHHHHHHHEHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
.SBTTL BTO13 "MOV 8N R™ TEST WITH N=000000, [R1=177777
T T T T T PRI R AR R Y

EREHHHHHHHHHHHHHHH m&uni BREREE

BTO13: CLR RO =
COM RO :&Eﬂ% e 1“%
cCC 3 SYNC
1013: MOV 80, R0 s TEST THE MOV - [RO] S/8 = 000000
? 3 ;% E } : 77777, SET "C"
Q BTO1M :BR IF "2* GO
E013: HALT :ERROR = FA 10 CLEAR RO
BR BT013 :LOCK ON %
3 BERRR R RSB RN R PR AR BA PR R U DY BB R LR RN B RGN B LS VAR R ARG R RR SR RS EE
.SBTTL BTOIY "CLR (R)™ TEST - [R) = 177776

5 SHHIIHE I I I O I 0 S I R R

BTO1Y4: ﬁ %NEKROSP gT PBP"?;QK :gHNTER

MAKE [PSW] = 017




MAINDEC-11-DOKDA-B  KDI11-K BRSIC LOGIC TESTS MACY1l 27(1006)

DAKDRB.P11 eS-APR-77 08:29 BTOIM "CLR (R)™ TEST - [
l o
{ﬁ 002060 00S010 I0I4%: CLR (RO)
}% 002062 001002 BNE BT01S
1 EOIY: HALT
1w 00S086 000767 R eTo
1S
I ;

19

002070 012700 17777% BTO1S: MOV #PSW, RO
{Egé 002074 (000277 SCC '
i’ﬁi 002076 00S020 101S: CLR (RO)+
i-nss 002100 001002 BNE RO1S
1 0021 EI10ISA: HALT
i 0021 1 BR BT01S
iw 002106 00S700 RO1S: TST RO
}3 002110 001402 BEQ BT016
1464 002112 000000 E201S: HALT
}g 002114 000765 BR 87015
146 ;

1468

}m s EHHHHHHHHHHHEH

1471 002116 012700 177776 BTO16: MOV #PSK, RO
i: 000257 ccc

1NN s )
e 1016: COM (RO

14 BPL 016

i: BNE 016
2 B
1481 EO16: CLR (RO)

1 HAL

ig BR BT016

1 s EEEHEHHHHHHHH
lg .SBTTL BTO17 “COM
i s HEHHHHHHHHHHHHE N
1489 002144 012700 177776 BTO17: MOV 8PSK,

1 18 (RO)

i 1

1493 002154 00S120 1017: COM (RO)+

-

.SBTTL BT01S “CLR
HHHHHER

HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
.SBTTL BT016 “COM (R)*™ TEST - [R] = 177776
SHHHHHHHHEHHHHHHHHH HHHHHHHH

D03

eS-APR-77 08:37 PAGE 28

R] = 177776
;TEST THE CLR - IT SHOULD CLEAR PSH
;BR IF CLR MRDE "Z" = 0 - IT SHOULD

;ERROR- CLR FR TO CLEAR PSW
;LOCK ON HARD

(R)+* TEST - [R] = 177776
SHHEHHHHEHHHEHHHEHHHHHHH HHHEHHHEHHHHHHE

2
; PSH] = 017

; TEST THE CLR - IT SHOULD CLEAR PSW
;BR IF CLR MRDE “Z" = 0 - IT SHOULD

.Lw( mq’%amro CLEAR PSH

;AUTO INC SHOULD ZERO RO
;B8R IF IT DID

;ERROR - AUTOINC. FRILED
;LOCK ON HARD ERROR

SR R
SRR S I 0 S0 0 00 000 0 0

;RO POINTS TO PSH
sMAKE (PSN] = 000

; TEST THE COM - [PSW] S/B = 357
;N:C=1111 ?

f;:om %FM TO MAKE (PSW] = 357
.

SRR SR R

(RO)4+" TEST - [(RO) = 177776
BEREABBU AR L AR B R RR R B RN B RN R RN R R B R E R

POINTS TO PSM
000
;TEST THE COM - [PSW] S/B = 357

ms
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MAINDEC-11-DOKDR-B  KD11-K BRSIC LOGIC TESTS MACY1l 27(1006) 25-APR-77 08:37 PRGE 29
DOXDAB.P11  2S-APR-77 08:29 BTO1? “COM (RO)+" TEST - [RO) = 177776
l
% mp R EEG et
i I"
ig 002164 103405 gg %;
1 | 1 177776 EROL7: MOV 8PSKH,R1
8 g we % i
R L 1 o
i§ i BO0% R e if& ON FARD ERFOR
125 YES 7: ; 77777
1 550c oi7: e 3 iSIULD MAKE [RO] = 00000
i BEQ BT02C
1 E2017: MOV 8PSH,R1
1510 CLR (R’
151 HALT ; ERROR - %ra TO AUTO INC. RO
% { BR BT017 ;LOCK ON
E{g ; SBTTL BT020 "MOV RA,RB™ TEST - WITH [RR)=177777, [RB)=000000
> - =
i§i9 ; FHEHEHHEHE HHHEE N R H Y
1518 T020: SPSH,
1519 - ﬂ (RO) ~
2] & Ao 2
1 Rl ;
1 Rl ; R1)
i ccc ; SCOPE
i 1020: MOV R1,RO ; TEST THE MOV
i BMI RO20 ;BR IF “N" GOT SET
i ERO20: HALT m-mv FAILED TO SET "N
i§ BR BT020 OCK ON HARD
1 RO20: COM RO 9?"5? GO TO 000000
i§ BEQ 39031 &i iF
1535 E2020: HALT ; ERROR-MOV FRI TO LORD RO WITH 1°S
ig BR BT020 ;LOCK ON HARD
1538 s SHEHHHHHHHHHHHEHHEHHEHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHHHHHHHHH
1 .SBTTL BTO21 *MOV RA,RB™ TEST WITH [RA1=000000, (RB1=177777
i T T L T P T T E R e PO T T P
1 BT021: CLR RO (RO]
1 CON RO : fnm ;%
1 CLR Rl , R1)
i ccc :SC
i I021: MOV R1,RO ; TEST THE MOV
1549 BEQ RO21 ;BR IF “Z* GOT SET
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i
, MAINDEC-11-DQKDA-8 KD11-K BARSIC LOGIC TESTS MACYll 27(1006) ~APR-77 08:37 PRGE 30
| DAKDRB.P11  25-APR-77 08:29 BTO21 "MOV RA,RB™ TEST WITH [RA)=000000, (RB)=177777

i ERO21: HALT : FAI 70 SET *Z*

{ BR BT021 E%x oul'am cgoa

| ol B B3 I (I o =

{ BEQ BT022 iBR IF "Z° SET

1 E2021: HALT : FRI T0 RO

{ BR 87021 E&x o«'ﬂo m

1561 s ERERHEHHEHHEHHEH I HHHHHEHHHHH B

1 .SBTTL BT022 "MOV 8N,38R™ TEST WITH N=17 . R=177776

i s B R R

iSS 002310 000257 BT022: CCC ;MAKE [PSW]1=000

i 002312 012737 000017 177776 1022: MOV 817,98PSKH ; TEST THE MOV

%569 % & EDEE ;N:C=1111

1 1 1

5 BR B

1S7Y4 000000 ED22: HALT ;MOV FRILED TO LOAD PSHW

i575 002332 000766 it BTO22 ;LOCK ON HARD ERROR

1 s R

1578 .SBTTL BT023 "MOV RA, (RB)+™ TEST WITH [(RA)=17,[RB1=177776

} T LT TP T P P PR M F e PP T P T e R e e e e e

1S81 00233 0{22;.@ 177776 BT023: % 5’.71‘“*!1!0 3 POIN}'S Ig PSKW

e cee ' : NG WAKE <N:C> = 0000
002346 1023: MOV R1, (RO)+ ; TEST THE MOV

1 %3 ;N:C = 1111 *

1 1 1

i b 1

| D0236( ERD23: HALT ;MOV FRILED TO LOAD PSHW

ig 002362 m BR BT023 ;LOCK ON HARD ERROR

1595 005700 R023: TST RO ;DID AUTO INC MAKE RO GO TO 07

iga % 001402 BEQ BTO24 ;BR IF IT DID

1 % 00000C E2023: HALT ;%g FQILES T0 %!S INC. RO

i%ﬁ 000760 BR BT023 3L ON

iwl : ll!llll#:!;;&qﬂzsglﬂ.:l;g_"%;:l:}:;l;::::iﬂlﬁllllllllllllll
: iw‘ SRR

| 1605 002374 012700 177776 BTO24: MOV 8PSW, RO ;RO POINTS TO PSW

— e —— ——
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MAINDEC-11-DAKDR-8  KD11-K BRSIC LOGIC TESTS MACYll 27(1006) @2S-APR-77 08:37 PRGE 3l

DAKDAB.P11  25-APR-77 08:29 BTO24 “CMP ®N,38A" TEST WITH N=(R)
(RO) i [PSW]=000
83348 55 o ; RAKE N:C=101]
022737 000013 177776 1024: CMP 813,38PSH ; TEST THE CMP
001402 BEQ BT02S ;BR IF 2" GOT SET
ED24: HALT ;CMP FRILED TO SET "2
000756 B eToy 100K ON-HARD ERROR
T
s R R
{ g 002420 000257 BTO2S: CCC ;MAKE (PSW1=000
}6?.2 O02422 022737 000017 177776 102S: CMP $17,38PSH ; TEST THE CMP
1 002430 001401 BEQ E02S ;BR IF *Z° GOT SET
{sas 002432 000402 BR BT026 ;GO TO NEXT TEST
lg M M E02S: HALT ;CMP FRILED TO w 3
l .
i& - : Wﬁggwwmwnmuuuuui
ibal SRR R R R R S
ig 002440 000277 BTO26: SCC ;MAKE [PSW]=017
{g 002442 022737 000000 177776 1026: CMP 80, 98PSK ; TEST THE CMWP
1 002450 001401 BEQ E026 ;BR IF "Z" GOT SET
1638 O0M52 000402 ER 87027 ;GO To next TesT
1640 002454 000000 E026: HALT ;CMP FRILED TO CLEAR *Z*
ig:l 002456 000770 BR BT026 ;LOCK ON HARD ERROR
ig:il : iﬂﬂﬂﬂ*ﬁ{g&ﬂ::&ﬂ;}wnmlﬁ%:uuuuinuumln|
ims ; uuuiﬁmmnmunnilummumumlutuuuiuimuui
1647 002460 012700 177777 BT027: MOV *-1,R0 ;MAKE (RO1=177777
iw 002464 000257 ccC ; N:C=0000
ig 002466 020027 177777 1027: CwP RO, 8-l ; TEST THE CMP
i 002472 001402 BEQ BT030 ;BR IF CMP SET =2°
1 ™ E027: HALT ;CMP FAI
i% 7% 000770 BR BT027 ;LOCK ON ERROR
{557 : "“"'S}"{“E#&'%“ﬁ'“.#'?E;?‘:}?ﬁ'?;}","ﬂ“"““"““"'"'
i% ; nnnilui%lununuuuhnnuwuuuuuuuuuunnunnu
166l 002500 012700 00000! BT030: MOV #1,RO ;MAKE [RO1=000001

e ——————
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ERRREERRER
(IR BRNIIE
& & 5 s
:

e e B e B Bt Bt Bt B > et s fmt e
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|

HO3
oL OO Ren- 9 b2 1€ LOGIC CE38 =l A i~ TEST WITH CRI o N o PAGE %

% 002504 000264 SE2 ;SET THE *Z" BIT
020027 177777 1030: CMP RO, 8-1 s TEST THE CMP
002512 001002 BNE BTO31 sBR IF CMP CLERRED "Z"
14 E030: HALT :CMP FRI
16 % BR BT030 :LOCK ON ERROR
3 llllllli!i!!lllll!ll!ll!llllllillllllllll!llill!l!llll!i!!l!!*l!{ill
.SBTTL BTO31 "CMP R,sN" TEST WITH [(R) ¢ N
3 llllllll!lllllllllli!lll!i‘lllllIllllllillllllll!!llIllll!lliillll!l
002520 012700 000001 BTO31: MOV 81,R0 sMAKE [RO) = 000001
002524 000264 SEZ . sSET THE "2 BIT
002526 020027 000017 1031: CMP RO, 817 :TEST THE CMP
002532 001002 BNE BT032 :BR IF CMP CLEARED ~Z*
002534 (000000 E031: HALT :CMP FAILED TO SET "Z"
002536 000770 BR BT031 :LOCK ON HARD sgoa

5 SHREIIHIEIHEI I S I I S S S I I HHHHEHH

.SBTTL BT0O32 "CMP (RA)+,RB™ TEST WITH [SOURCE]=[R8]
s !l!li{Illl!ill!lllll!!lll&llll‘l!!|llllll!!!llllllll!lllll!ll!lll!ll
1 BT032 #PSW, RO RO POINTS TQ PSW
Tl Rl - SRy
12701 000340 cngcv $340.R1 ; T1=340
022001 1032: CMP (RO)+,R1 s TEST THE CMP
BEQ AO32 :BR IF "Z= GOT SET
ERO32: HALT :CMP FAILED TO E'ﬁss PSH
BR BT032 :LOCK ON HARD
RO =" T
BEQ BT033 'BR xrs ':%Is?f.
E2032: HALT cm m 10 INC. RO
BR BT032 5%3

3 SHHEHHHHHHHHHHHHHHHHHEHN HHHHHHHHHHHHHHHHHH
.SBTTL BTO33 "CMP (RA)+ RB™ TEST WITH [SOURCE]>(RB]
S OEERREERREE R R S RS R R R R R R R

U8 o T B BEEe REERS
w‘l‘ 000330 Is?zv $330,R1 n3‘§"'3ﬁ

022001 1033: CMP (RO)+,R1 ;TEST THE CMP

001002 BNE AO33 ;BR IF *Z* GOT CLERRED {




MAINDEC-11
DAXDAB.P11

%_91 E':(EFIC LOGIC

1

16; Rpop—

179 goexer ooocon

{;q.% 002670 00S700

{7‘7.2 002672 001402

i3 ER

{7

{7511’ 002700 012700 1252%2
75w Do)

1755

i% 002710 020100

17S8 00271

12 ey oo

% = s

i

}7&5 0esese
i fers RoEnn

78

iw 002730 020100

igé 002732 001002

103
BT333 ~chP . thade,REE TEST WITH (SOURGET) (RBT ~

ERO33: HALT ;CMP FAILED YOE%SS PSH
BR BT0O33 ;LOCK ON HARD

sl S R ¢

o T gy IR

3 SHEHHHEHHHNHHHHHEHHHHEHH
.SBTTL BTO34 "CMP_(RA)+,RB™ TEST WITH [SOURCE]¢[R8]
§ HHHEHHHHHHHHHHHHHHHH FHHHHHHHHHHHHHH

BTOM: MOV 8PSW, RO sRO POINTS TO PSH
hov Eﬂ:ix"s Em Jﬁo
SEZ ‘SET THE =2~ BIT
1034: CMP (RD)+,R1 sTEST THE CIP
BN  AO3Y sBR IF "2 GOT CLEARED
EAO3Y: HALT sCMP FAILED TO ACCESS PSW
BR BTO3M :LOCK ou"ﬁ% :%
AO3Y: T RO - T
é% BT03S 'BR xrs' '-n%nsg
E2034: HALT :CMP FAILED T0 INC. RO
BR BTON *LOCK ON s%s
$ M“Hlm*l‘llll""!"!ll'l“l"ll“ﬂ“““ﬂll“l“““llll!Ill
.SBTTL BTO35 "CMP RA,RB™ TEST WITH [RA] = [R8)
3 mm&m;mmduum&mumuiulmnuu
BT03S: MOV 8125252, RO sMAKE [RO)] = 125252
MOV  RO,RI ;%mn = 126252
cee : SYNC
1035: CM  RI1,RO s TEST THE CIP
BEQ  BT03% sBR IF “Z" GOT SET
E035: HALT sERROR - CMP FAILED TO SET "Z*
BR BT03S :LOCK ON HARD
3 u*mmm&mmmhuumuunnunnunui
_SBTTL BTO36 "CMP RA,RB™ TEST WITH [RA) ¢ [RB]
3 lmummnumuﬂimmummnuunnunn
BT036: MOV 825252, RO : (RO)
CLR  RI INKE (R1] = 600000
SEZ :SCOPE SYNC - SET 2"
103: CM  RI,RO sTEST THE CMP
BNE  BT037 :BR IF "2" GOT CLEARED
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MIIIIC-NW KD11-K BRSIC LOGIC TESTS MACYll 27(1
DAKDARB . eS5-APR-77 08:29 BT03% “CvP

7 B R

000017

177776

000017

177776

000017

BF B4 BF B3 g 8CC3

JO3

eS-APR-77 08:37 PRGE M

006)
RA,RB™ TEST WITH [RA] ¢ [RB)

E036: gT

SERROR ~ CHP FRILED T0 SET “Z°

BTO37 “CMP_ RA,RB™ TEST NITH (RR] > [RB]

3 GRIREZERBEERREL RN
BT037: RO . RO] =
@ 817,R1 Eﬁhx] = W
: SYNC - o -
1037: CwP R1,RO s TEST THE CMP
BTONO sBR IF *Z* GOT CLEARED
E037: HALT ;ERROR - CHP FR 10 SET =2*
BR BT037 :LOCK ON HARD
o SRR I 63383600 6 063 3 36 3 3696 364 36 98 38 96 9440 30 3 398 9631 3638 38 369600 30 6 3098 96 30 00 0 3 3 38 3 3 9 3 3% 3 O 9 % %
.SBTTL BTOMO "MOV (RA),RB™ TEST WITH [SOURCE])=(RB]=17
. uuuunmn&mmn PLERERBRELFERELREERE RS
BTOMO: MOV 8PSW, RO sRO PO!NTS ro PSW
- ]
: éx 111
(RO),R1 s TEST THE MOV
R, 817 :DID R1 LORDED WITH 000017 ?
BTOMI ug IF ng

oo (LR

BR
; il&i&i}l&l{{ﬁi&i&i{l}l{il{iiliiiiliiiiiiilliiiaﬁllilliii;|§l§§§i§iii
.SBTTL BTO41 "MOV (RA)+,R8™ TEST WITH [SOURCE]=(R8]=17
;L S

F,Rﬂ E%POIN‘TS I&nPSH

(R11=000000
N:C=1111
(R0)+,R1 ;TEST THE MOV
RL, 817 :DID R1 GET LOADED WITH 000017 ?
R041 :BR IF YES
nov m 10 Rl
81041 ERROR

Bfou2 gk 1F S 60T SET | il

;MOV FRILED TO AUTO INC. RO
BTOMI ;LOCK ON HARD ERROR
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. MAINDEC-11-DQKDA-8  KD11-K BRSIC LOGIC TESTS MACY1l 27(1006) 25-APR-77 08:37 PAGE 35
f omm Pll  25-APR-77 08:29 BTOMI

=
at

i i
-8

BTD‘E% g(ll

"MOV (RR)+,RB™ TEST WITH [SOURCE)=[RB)=17
“XOR

HHHHHHH
.SBTTL BTOM2 RA,RB™ TEST WITH (RA] = [RB] = 000000
HHHHHHHHHHHHEHHHHHHEHHHHH SHHHHHH

1) R

1042: R1,RO ;TEST THE XOR
éo BY043 $BRTE yEg 00 !
EN2:  HALT ;XOR FAILED
BR BTOM2

SRS 3 I I S 0 3

SHHHHHHHHHHEH
.SBTTL BTOM3 "XOR RA,RB™ TEST WITH [RA] = [RB] = 177777
FEERHE R R

BTOM43: % RO ;MAKE [RO) = 177777

gg %.Rl g%l%z 177777

I0N3: XOR R1,RO ; TEST THE XOR

2{1 E?ow ml”tgssu.rsc -

EO43: %T ; XOR FRILED

BTO43 LWK ON HARD ERROR
s EBHEEHHEEEHHHHEH R EHHEHH HHEHHHHHH I
.SBTTL BTOMY "XOR RA,RB™ TEST WITH tns1=osasas [RA]=125252
s R R R FEEE

o WERN RS (e

cce
I0N4:  XOR R1,RO s TEST THE XOR
CHP RO, 8-1 as T = 177777 ?
BEG BTO4S : suf
EOY4: HALT xon FRILED
BR BTONS :LOCK ON HARD ERROR

¢ BIHEHHEHHEHEHHEHH I HEHEHHEHEHH I HHHEHHHEE HE HHH

.SBTTL BTOMS "XOR RA,RB™ TEST WITH [RA)=0S2SeS, [RB]1=125252
FEREEEREHEE R b FHEE R R R

ccC

— e ——— - -




DOKDAB.P11  25-APR-77

ig 00314 074100

177777

12sese

LO3

MAINDEC-11-DAKDA-8 KDIEKENSIC LOGIC ;ESTS MACY1l 27(1006) @2S-APR-77 08:37 PAGE

36
“XOR RA,RB™ TEST WITH [RAR)=0S252S, (RB)=125252

I0NS:  XOR R1,RO s TEST THE XOR
cHP RO, 8-1 sRESWLT = 177777 ?
BEQ BTN :BR IF YES
EONS: HALT sXOR FAILED
BR BTONS : ON HARD
3 Y22 222 RYIII ST SLRSS2 2222283382223 22 2 T
.SBTTL BTOMG GPR RODRESS INTERRACTION TEST
3 Wmmummm&mnmunuuu&
TO46: N ;
BTOYG %« gﬁfsz RO (RO] = 126262
COM Rl o ;[R1] = 052525
% %’m :[R2) = 125252
% g'm : [R3) = 052525
% RY' :[RY] = 126252
RY, RS
COM RS :[RS] = 052525
I046:  XOR %,g : = imn
XOR . s [
XOR R3 4 : 1555
E B8 e
5@ 5' :[RO] S/B = aﬂmn
BEQ AO46 ;BR IF [RO] WAS 0O0OOO

s
3 %
:

BEQ BRSIC
E2046: HALT
BR

;0ID R6 GET DISTURBED
;BR IF NOT

;R6 _RDDRESS PROBLEM
;LOCK ON HARD ERROR




MAINDEC-11-DOKDA-B8 KDU-K BASIC LOGIC TESTS MACY1l 27(1006) @2S-APR-77_ 08:37 PRGE 37
DOKDAB.P11  25-APR-77 08:29 BTO46 GPR ADDRESS INTERRACTION TEST

l i
;

{ 7 7/ ¢ 7/ 7 7/ BRSIC INSTRUCTION TESTS / / / / / /
2 X0000000000000000000000NNNNNNNNN0000000000000NNNNBNNNNNBNNNNK
1 ]
ig o B B
‘ .« - e °
1 INIT: ﬁ PRIFLG,RI iSE , RS AND
ig : &ﬂ ﬁx.m :C : 3S AND ; -
1937 BNE 1 o .&xr
i& 177770 m OSUBREAK ; &m CODE OPERATE
1940 001074 MOV 8-1, JSREGS ; mmx POINTER T0 BE TYPED
{ig sIN F1
1
}32 'msr 0 BRSIC "BNE™ TEST WITH 2=0
ERPEEEBERBRERLRERE

15 ahie ol 000000 té10: %0, RO LORD RO WITH TEST NUMBER
{ &&Q 18: I s MAKE zﬂ
1 00332 2s: d
{ 003324 001002 BHE TST1 : s TEST THE BNE - IT SHOULD BR
1953 000000 3s: HALT . BNE mn.eo 10 PC
}g 003330 000774 BR 18 :LOCK ON E%
l% 3 Y s sttt s itttz sz e e e R bR LRSS TSRS L
1 msr 1 BASIC "BNE™ TEST WITH 2=1
ig *QWMMHIHWNW!HH!M!H
1 012700 000001 MOV 81,R0 ‘ébr RO WITH TEST NUMBER
ig 000264 18: SEZ : =Z* BIT
iem 001001 2s: BNE 3s s TEST THE BNE - IT SHOULD NOT BR
iqas 000402 BR TST2 :;G0 TO NEXT TEST
ig i -, SRR A
1
1 o 3300 38 36 0036 36 30 36 98 36 06 00 36 36 38 38 08 36 36 36 3 36 3696 96 36 36 36 36 36 38 3¢ 36 3 36 36 36 36 363 3 36 3 96 36 36 3 36 36 3 36 3 3 3 3 3 3 3 9 % ¥
1 iTEST 2 BRSIC "BEQ™ TEST WITH 2=l
{ *g;glllHlm{ml!““!llﬂi!“lllﬂ%l“l“llﬂﬂl“m{lllll
im 012700 000002 E % #2,R0 : *Koao RO WITH TEST NUMBER
iﬁ = .
}m 001402 ’ BEG 1513 ;s TEST THE BEQ - IT SHOULD BR

: T F 0 THE PC
8 B B ® T B Rl R
1 lllllll&illlllllllllilll“!lllilllll!l!llllllllllllillllillllll
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77 08:37 PAGE 38

DOKDRB.P11  25-APR-77 08:29 13 BASIC “BEQ™ TEST WITH 2=0
ia #TEST 3 BRSIC "BEQ™ TEST WITH 2=0
1985 *é#;?" LRE LR ERERELE
1 Eﬁ 000003 : #3,R0 «:LOAD RO WITH TEST NUMBER
1 B W . g
i 003372 001401 2s: BEQ 3s ; TEST THE BEQ - IT SHOULD NOT BR
i 003374 000402 BR TSTY ::60 TO NEXT TEST
1 D0337¢ 3s: HALT H WITH 2=0
I R B B ATRED R
199% 32
i ATEST ¥4 BASIC "BPL" TEST WITH N=1
AR IR i’éfq. e
00M02 012700 000004 © oMoV 84, RO ;:LOAD RO WITH TEST NUMBER
m % 177776 18: &z 3sPSi ;%;nm THE PSH
; N=1
003414 100001 2s: BPL 3s s TEST THE BPL - IT SHOULDN’T BR
003416 000M02 BR 1515 :;60 TO NEXT TEST
2008 003420 (000000 38: HALT :BPL HITH N=I
gz 003v22 000771 BR 18 ;wam ERROR
11 T HEHHEE FHHHHHHEEHHE
2012 :kTEST S BRSIC "BPL™ TEST WITH N=0
gxa o o B IR I I 0036 06 36 36 06 30 38 36 36 36 36 06 90 6 6 9 9 % 338 FEERPRRRERE A RA R AN
1 B s o 100 RO WITH TEST NUMBER
himm o g s ymERw
2018 X
2019 003M»%
003436 100002 BPL 1576 :;TEST THE BPL - IT SHOULD BR
DO 3s: HALT :BPL FAILED TO THE PC
55558 5T e ek ™
33 PE ST TR IR ST ISR RBI LSS T NTL TSI ESS SIS ESS LTSS
g :KTEST b BASIC "MOV (RA),RB™ TEST - (RA)=177776
t ‘ i gz,mm&mauummuhmuuuuniuuuunu
1 © o omov RO e WITH TEST NUMBER
13& % MOV séu.ns .so%;"&ol - 1;;775
18: CLR (RS) ; PSM)
R3 il z
s PSK =01
003462 011503 2s: MOV (RS),R3 :TEST THE MOV
000017 817 :C T RESULT ?
B3 Sorace & By R TF vES




BO4
m&‘“‘%@‘b‘“f“ LOGIC TS5 DREYA-ROV TR RFNEST- MR

'ATEST 10

ETIO:
1 @2 53"
lé 18: CLR
SE2
003S5M 020M12 es: cHP
003556 001002 BNE
= o~ i g
’ircsr 11
< 3 R
00364 : ok tar11:
1l
18: %
003600 022703 12S2%2 es: cHP
003604 001402 BEQ
T B - iy
BR1E B -
003616 000000 cs: HALT

9 g 0o B R S EOK ON WARD.
HTEST 7 BASIC “CP RA, (RB)™ TEST - (RA) = [DEST) -
. ts17: - s
i % MV 825008 By ig 01%
| 063312 1S: sl , 88MBUFO0 ;
: :

g20M12 28: O  RY,(R2) ;TEST THE OP
001402 BEQ  TSTIO ;:BR IF "Z" GOT SET
0ED 000770 I P ey $E0CK O HARD ERROR | o -

BASIC “CMP RA, (RB)" TEST - (RA) NOT EQUAL TO [DEST]

sl %'

"o
RY, (R2) ;TEST THE CHWP -
TST11 ;:BR IF *Z" GOT CLEARED
;ERROR - CMP FA T0 CLR =Z"
18 .LWK ON HARD
R
BRSIC “CMP ON.R™ TEST - N = [R)
aha FEHEE N
8l HITH
gég.z,m :ﬁ;’? g W
' : sné
#1252%2,R3 ; TEST THE CMP
“§ ;BR IF N = [R]
;CMP FRILED
18 .LWK ON HARD ERROR
R4 D ALTER [DEST)?
TS??% :,g ?Fm

;CMP DELIVERED AR RESULT
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MAINDEC-11-DGKDA-B  KD11-K BRSIC LOGIC TESTS Y11 27(1006 77 08:37 PAGE Y0
DOKDRB.P11  25-APR-77 08:29 Tl &Ié 'go m.‘- m« = ﬁi
BR 18 sLOCK ON HARD ERROR

C o N HHHHH R R R AR AR AR
'4TEST 12 BASIC "CMP N, R™ TEST - N NOT EQUAL TO [R)
}éngnmlmumcuum PRBER
. 3 OED A
: : s
Q}' ! : sm!
es: cHP 81,R3 ;TEST THE CHP
BNE 48 sBR IF N NOT EQUAL TO [R)
1 m 000000 3s: HALT :CMP FAILED
}g 000771 BR 18 tLOCK ON HARD ERROR
13 003 ys: P R :0 ALTER (DEST]?
14 kS 00140 BEQ T 5;8 ﬁ"uo
16 00365 5s: HALT :CMP DELI A T
{2 BR 18 ;Locxo& NG ERROR

3 3 SHHHHHHHHEHHHHHHHHHHHE EREERE R
s ATEST 13 BASIC "MOV RA, (RB)" TEST
DL HHEHHHHHHHEHEHHE HHHHEHHHHEHHHHHH R S

Bt ot Bt B 0 Gt ot Bt Pt s Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt et Pt s Pt Pt Pt Pt Pt P Pt Pt Pt Pt Pt Pt s Pt P P Pt Pt Pt Pt Pt e P P P P P e

t8t113:
§ 1 000013 MOV ugt ; NITH TEST NUMBER
g | ROV - :
1 8 :ié,lﬂ : : s \77777
S : O0Pe °e20000
003676 010412 2s: MOV RY, (R2) ; TEST THE MOV
00370C RY, (R2) ; T CORRECT ?
% gﬁé‘ g 1stiy ::BR IF YES
000000 3s: HALT :ERROR - MOV FAI
i M 000771 BR 18 :LOCK ON HARD m%
53 FEEABE SRR R IR R AR RSN R RS RN U RO B UL YRR L U NI C Y AB RN R RR R
ATEST 1M BASIC MOV &N, (R)" TEST
a 18 -? gﬂ:?iunnm.uummuhuummnmuiuuuun
4 10 01 14 C MoV 81y ‘s MITH TEST NUMBER
30 i B e EAT
4y 1 18: CLR uéi : (DEST) = oﬁuuno
5; ccc ; SCOPE SYNC
003730 012712 177777 es: MOV #-1,(R2) ; TEST THE MOV
5 g; gtma CHP RY, (R2) sRESULT OK ?
1 BEQ 1stis ::BR IF YES

— — —



E

—_—— s ————— 1

UL NNV TLTUTUN

MMM RN R R R LM N LM DR PV
e e e B B e B P s Bt Pt e s Pt P P P

Bt Bt Bt P ot Bt ot Pt Pt Bt B Bt Bt Bt B Pt ot ot ot P Pt ot B Bt Pt s et st P e e

——
- -
T
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C-11-DGKDA-B  KDI11-K BRSIC LOGIC TESTS MACYl1l 27(1006) 2S-APR-77 08:37 PAGE 41
P11  25-APR-77 08:29 TIv BASIC "MOV 8N, (R)* TEST

B5ne B007% R $EGOR on Hiko EARGR

PATEST 15 BASIC "MOVB SN, X(R)® TEST - DEST EVEN
*é;I;?l!lllllllil!I!illlllil!I‘llllllllll!lllill!lllll!l!llll!lll
1 %s ’ sl ;s NITH MUHGER
1 é 8177401, RY : / 'n'u} 1
i | MOV SMEUF '% : A slmo
‘B’ﬁ# 18: ggwcf 8-1, (R2) : 5\'«6%
003772 112765 000001 000OOM 28: MOVE  81,%(RS) s TEST THE MOVB
gl’ RM, (R2) : T 0K?
Q Tstie 1:8R IF YES

=g, 188 G ARG ==

IR SEE LR EDRZEIBIRRA PO

; ; R P23 2T TSRS RRT LA LNTL LT AL ST ETTISESSSTL L
s &TEST 16 BASIC "MOVB 8N X(R)* TEST - DEST 00D
2.8 11223221
10 o retie: MV 8 WITH TEST NUMBER
4 01l m J#?"gu ; 1678 = §§7
1 16 m6.§ : = MBUF ]
00 Ol 1777:1'; 18: ROV 8-1, (R2) P TDEST :T %’ .
R Gl I 190k L
112765 000001 00000S 2% MOVE  81,5(RS) s TEST THE MOVB
RY, (R2) 3 ?
g8 1408 g Tl "B Vee
000000 38: HALT :MOVB DELI WRONG RESULT
000766 BR 1% :LOCK ON
;-!llllllllllllllll!!lllilll|lllllllllll!!lll!ii!illlll!lll!lllll
s kTEST 17 BASIC "TST a38A™ TEST WITH [R) GT O

o & SO EAE 0 000000 0 00 000 00 00 300 S0 30 0000 0 0 0 O 0 OO SO0 S0 00 0 00 000 00 00000 3000 30 36 36 30 36 3¢

té117:
81?7 s MITH TEST NUMBER
5’ - §§&/' = 377 (NO CHANGE)
[ IM’

RY, (R2) :
;

RRLBECBIBIRREBB2B A Jotot 2

(G WAl

JEMBUFD s TEST THE TST

Prao {76 TF S~ GLEAR - 1T SHOULD BE

063312 es:

1%

|

1

1041 18:
005737

206002

5B 4 83332




MIIIIC-H-W-B gll-K BASIC LOGIC TE;TS
DQKDARB.P11

EO4

MACY11l 27(1006) %ﬂ-ﬂ 08:37 PRGE 42
BRSIC "TST ?ﬂ' T WITH [R] GT O

2R i o ol miod TELF RO owes ooy
lllll!l!i!!llil
'lm""""mmsxc “TST 38R TEST NITH (R] LT O o -
ls Iy Y Y R R R R R R AR R R ISR TSI I S22 2222222222222
gx ggug tér20:
f' uq o{mo 000020 MOV 820 T &m%m
gl Bl HoE ek B R
1 1 10812 18: MOV RY, (R2)' IE w:s ) = 100000
18 00M126 000257 cce ; SCOPE
; 004130 00S737 063312 28: ST J8MBUFO .n:stncrsr
BT B G B o - s -
38: HALT X ?gxm CODES PROPERLY
4s: & &'0 (R2) b DEST) *

BEQ 1stal ::BR IF uor

- . LT XL oy

o SEHIE SIS0 SIS S 3 0 00 0 0 S O S S S 0 0 0 3

8
£58
k-

RN RRBENRRERARR
2

'hesr 21 BASIC "TST 8™ NITH [R) = O
154 *s¥s:llllill!llll!lll!lllll! FPEEPFRERRRAN RSP BB R RN LB P LU BB
154 01 1 MOV : MITH TEST NUMBER
1 %Exa MOV u&r"g.nz 5 @a m}g
1 CLR RY : /8 =0 CIT SHOULDN'T CHANGE
1 1 18: CLR (R2) :
1 cCC : - 2=0
005737 063312 2s: ST 8MBUFO s TEST THE TST
001402 BEQ 4§ :BR IF TST SET =Z*
3s: HALT :TST FAILED TO SET "2Z*
BR 18 £L3cx ON HARD r:%on

G S = oo

B00P7
Bo0e oW e
ooo0o s wur 1181 MIERED TiE_ (0EST)

o 30030 300 300 00 00 0 06 36 30 36 36 000 06 00 38 36 38 006 000 0000 00 000030 00 30000000 000 00000 SO0 00 3000 0 0000 3030 0 00 30 30 30 30

'hEST ce BRSIC "BIT #N,38A™ WITH BIT SET IN "R"
I HH I R

téree:
% Sde RS
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25-APR-77 08:29

PSB85

032737 040000 063312

DQKDRB.P11

00M234
0oM242
OoM2Y
004246

=
=
.
S
.
:
-
S5
559
-

*

oo CaRay A
2223

B P B Bt s b et = B

@ NN

s

000001 063234

INIRININ

BASIC "BIT &N,38R™ WITH BIT SET IN "A"

18: v R, (R2) gw‘tﬁp_sz:?om
2s: BIT  840000,3sMBUFO ;TEST THE BIT

BNE  TST23 ;38R IF 2=0 - IT SHOULD BE
R R R R T
3 ETZITSTITTLIITLILISLLISZ LIRS 2L PI I SR2ITTIS LSS S22 S22 2L 2
hssr 23 BRSIC “BIT N 988~ WITH BIT CLEAR IN -~

n&mmmummmhlmmumuumuuuuun

MOy w0 s e
18: &E (R2) %(?ST] = w

es: BIT #40000,38MBUFD ; TEST THE BIT

BEQ 45 sBR IF 2=1 - IT SHOULD BE
3s: HALT ;BIT FAILED TO SET -7
BR 18 :LOCK ON HARD ERROR
ys: TST (R2) :D T DELIVER A RESULT
o o5 .,68 B noT-
cs: HALT :BIT DISTURBED THE [DEST]
BR 1S ;LOCK ON HARD ERROR
3 R RN R R RN R AR R R AR RN RRRA R R ER R
hssr ) BRSIC “TST (R)+" TEST

} g:gHMIHMMNlHHGQHWllmll!l“llmllll

il WITH TEST NUMBER
.SBTTL USER 0@“&8 BREAKPOINT “217
IT CBITO S8BPTLOC i 'é'T“ HALT SET ??

Q F
T & DEPRESS CONT IN.E TO RESTART
MOV SMBUFO, R2 INITI%?T RDDR =
18: CLR (R2)
ccC
es: TST (R2)+ ,TEST THE TST
BEQ 4s ;BR IF *Z" SET - IT SHOULD BE
3s: HALT TST FRI T0 "Z"
" ERROR

Ys: % %FSO'FE.RE :?g ?EGQEEET AUTO-INCREMENTED ?

cs: HALT ; TST FRILED TO UPDATE REGISTER




MAINDEC-11-DAKDAR-B  KD11-K BRSIC LOGIC TESTS MACYll 27(1006) =77
USER CONTROLLED BRERKPOINT -

DQXDAB.P11 2S-APR-77 08:29

10412
000760

PR R e

N
A

A

063312

ARSI

012700 000027

GO4

08:37 PAGE W
- BITO

BR 18 ;LOCK ON HARD ERROR
B I SIS S SIS IS I SIS S S S

'm:sr 25 BASIC "TST -(R)" TEST
?Q;5;3..'.'..*...'.".'..' EREBEPHBEPUR U B RSP EREES
RO ‘ Wl NUMBER
W A+6,R2 : sﬁa m
18: ﬁ %Mo RS :ﬁ nﬂoa = DWTA+10
L}
2s: ST -(RS) s TEST THE TST
BPL ys§ :BR IF "N" CLEAR
3s: HALT :TST FAILED TO CLEAR "N”
BR 18 :LOCK ON HARD ERROR
ys: cHP RS,R2 :DID P:sr REG GET DECREMENTED?
BEG b$ :BR IF YES
cs: HALT :ERROR - TST FRILED TO UPDATE DEST REG
R 18 :LOCK ON HARD sﬁm
6S: cMP RY, (R2) :DID r;r afm (DEST]?
BEQ Tstae ::BR IF NO
78: HALT s TST DEST]
sgv lli:, (R2) ;ésr&t' Etgsh

o 000 S0 IE 00 00 S 0 36 30 30 06 3 3006 30 3600 36 630 6 36 06 38 3638 00 90 36 30 3030 000 0000 00 38 36 30 36 3030 38 30 3000 30 3030 30 00 06 30 0 3

'lm:sr 26 BRSIC "COM a8A™ TEST
’ggsgflllllllllllllllllIlllllllillliii!ll!lllllil!lll*l!lllllllll
MOV WITH TEST NUMBER
RV seB0FD, R otS“’& HeUF
CLR amw RESWT S # B = 177777
18: % (R2) ,m (DEST] = 000000
cce :SCOPE SYNC
2s: coM J8MBUFO ;TEST THE COM
CHP RY, (R2) RE T = 177777 *?
BEQ 1sta7 IF YES
3s: %r & ,con DELIVERED THE WRONG RESULT

o USRI U 3 30 000 00 00 3000 06 00 00 0 00 00 306 00 0008 JE 06 00 30 00 3030 36 30 38 36 06 48 36 38 0 00 30 0600 36 36 30 36 30 30 36 36 30 36 36 36 06 36 6 06 8

'IYEST e? BASIC "INC @8#R™ TEST
ts#;;llllllllll!llllllllIIllllllllll!!llllllIlllll!li!llllllllill

MOV #27,R0 ;;LOAD RO WITH TEST NUMBER
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. MAINDEC

e |

PERVRPRY
NethZomne

[
a

T

2430

™

e

\

:

:

GEIGE BHi4

%gx&ﬁgﬂc LOGIC ;S;TS

15708 000100
005237 063312
001402
000000
000767

15703 Booooy

HO4
WCYLL 27C1006). @-n 08:37 PAGE 45

Rz
nov
18: MOV m,!nz)
ccC
2s: INC JSMBUFO
CHP RY, (R2)
BEQ 1st30
38: HALT
B8R 18

5 SHHEHHHHHEHHHHEHHHHHENHHHHEHHHH
BASIC "DEC RN™ TEST

ST ADDR = MBUFOD
SL#TS/B:IN

'

;TEST THE INC

;DID T =100 ??

;:0R I

s INC DELIxEEED MRONG RESULT

:
S O 0

¢ ORI I I IR 3 000 0 0 30600 00 3006 00 30 30 00 06 36 0 236 66 S0 30 00 36 30 3000 06 00 36 00 30 30 36 30 3830 06 3 6 0030 36 06 30 30 06 30 30 30 30 36 36

.l% RO HITH TEST NUMBER

TESTTI'ENC

RESILT:W”
;sBR IF YES

; DEC MIVERED THE WRONG RESULT
;LOCK ON HARD ERROR

o S SIS 6 SO IS I 0036 300 0 0 S S 06 S0 S0 S0 36 30 300 00 3 0 0 000 3 0 S 31 30 06 30 30 36 36 38 36 38 8

S8R” TEST

& 0300030 00 3000 00 00 30 300 3036 0630 336 038 6 0 06 0690 96 36 3090 30 06 3098 36 38 330 030 36 30 000 00 0000 36 3000 06 303096 30 30 36 36 36 36 36 6

M&HITH TE T_NUMBER

%EIMSTJ

: TEST THE DEC
:D SULT = 177777 77
52 ?E YES

,%"%Im WRONG RESULT

o S 00003000300 00 00 00 300 06 36 00 00 0030 30 06 0 00 06 J636 06 38 000 06 00 96 36 0 00 90 36 30 36 38 96 00 0036 3036 00 00 00 30 3030 0 30 00 36 36 0 8 8

BASIC "CLR X(R)™ TESTS

o 36300000000 3000003000 30 30 3006 30 36 06 06 31 016 036 638 38 38 396 36 30 38 30 00 00 30 00 9090 06 038 36 48 36 36 3636 36 3630 36 00 90 36 00 8 3

'hssr 30
t&730:
MOV #30, RO
18: MOV ¢1,R3
cce
cs: DEC R3
ST R3
BEQ TST31
33: HALT
BR 18
'msr k]| BASIC "DEC
tirar;
o B
MOV ncro.na
18: CLR (R2)
cCcC
25 DEC 8MBUFO
CHP RY, (R2)
BEQ Tst32
38: HALT
B 18
'irzsr 32
tir32; S :
g&g ndfgoe R
18: MOV mo HE
MOV s-1, (R2)

%I,OM%HITH
SUT S 7B =
T ADDR = MBUFOD
;s [DEST) = 177777

.-,

—— L — — .« o e
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MAINDEC-11-DOKDA-8 KD11-K BASIC LOGIC TESTS MACY1l 27(1006) 25-APR-77 08:37 PRGE 46
25-APR-77 08:29 T3

BASIC “CLR X(R)™ TESTS

cec :SCOPE SYNC
2s: CLR 2(RS) ;TEST THE CLR

cHP RY, (R2) sRESULT = 0?

BEQ 1st33 ::BR IF YES

ol T A Rl R,

o & SIS0 00 00 0T SO I 30 30 30 00000 0 0 06 S0 06 30 S0 00 00 3000 100 050 00 30 300 S SS90 00 38 00 303090 3 36 36 3030 36 3¢

S &TEST 33 agsxc “ASL RN" TEST WITH [DEST)=125252 AND C(0)
o SPRABEUUEF LR R R B R LR E R R R BLE RN SRR Y E TR BE RS AR R R R BN RS
t8133:
MOV «:LORD RO WITH TEST NUMBER
18: MOV %,m s WAKE t&srf = Igase
ccC :MAKE C=0
2s: ASL R3 :TEST THE ASL - IT SHOULD SET “C*
BCS 4§ :BR IF "C* GOT SET
3s: HALT sASL FAILED TO SET =C" BIT
BR 18 :LOCK ON HRD ERROR
ys: CMP 852524, R3 sHAS RESWLT = 52524 77
BEQ TST3™ ;38R IF YES
HALT sASL DELIVERED THE WRONG RESULT
BR 18 :LOCK ON HARD ERROR
;-llllll!llil!!!!lllllllilllllilll!iilll!!l!lllllll!lil!lllliill!
hTEST M BASIC "ASL RN" TEST WITH [DEST)=052525 AND C(1)

o s BRI I 0O 000 0 330 I 0 02 0 O 0 0 R R
$STau:

1S:  Bv  S0o335.R3  LAAKE [DEST] @ OERcae o
;MAKE C=1

SEC

es: RSL R3 ; TEST THE ASL - IT SHOULD CLR "C"
BCC 4s ;BR IF “C" GOT CLEARED

3s: HALT ;%KFRILED T0 CLEAR "C"
BR 18 ik ON HARD ERROR

R OMERS e

5§: HALT ;R&K%IW KRONG REULT
BR 18 ‘L ERROR
;-lllllllilllllllillllllIl!{!!l!‘lllilllllllli!llllllll!lllllllll
ATEST 35 BASIC "ROL RN" TEST WITH [DEST1=125252 AND C(D)
ig?sg?lllllllilillllllll!lllllll!l!lll!!lillllll&llllllllllilllll
T oMoV #35, R0 :sLORD RO WITH TEST NUMBER




JO4

, MAINDEC-11-DGKDA-8  KD11-K BRSIC LOGIC TESTS MACYLl 27(1006) 2S-APR-77 08:37 PRGE 4
' DGKDRB.P11  25-APR-77 08: 135

m |
2
%

0061

.g

EHHEE
L

e
85

S
=

1

g

¥

008020 06

1402

E

125251

BASIC "ROL RN" TEST WITH [DEST)=125252 HO c

My e125252,R jKE (OEST) = 125252

2s: ROL R3 sTEST THE ROL - IT SHOULD SET C
BCS 4§ :BR IF =C" GOT SET
38: HALT :ROL FRILED TO SET "C*
BR 18 :LOCK ON HARD ERROR
4s: ,R3 s LA
Be 1o 0 1 e
5§: HALT :ROL DELI HRONG RESULT
BR 18 :LOCK ON ERROR
3 o BRERERE 1323232 PEERES
m:sr BASIC "ROL RN" TEST WITH [DEST)=052524 AND C(1)
fsTS' BEBUBERA SRR AR R R R R AR PAR BB R SRR TR
T MoV mgg s : LORD @su}m ‘rgr NUMBFR
18: ,R3 : T
Qg ;m &1 v
2s: ROL R3 s TEST THE ROL - IT SHOULD CLEAR C
BCC 4% :BR IF "C* IS CLEAR
3s: HALT sROL FRILED TO CLEAR “C*
BR 18 :LOCK ON HARD ERROR
4s: cHp 8125251 ,R3 nssur . 25251 77
BEQ 15137 SiBR I
HALT 1 RESULT
B 1s ek N WM
: R IITIT IR SIS LE S PRERBREVFRESRABBUB LU LEREE
msr 7 BASIS "TSTB (R)* TEST - EVEN ADDRESS
1’ gg;?&m;mmumulmm{mmmuumimml
MOV 837,R0 Lono RO WITH TEST NUMBER
MOV :gg; A+6,R2 § = DT
MOV s / B =z
18: cCC s
2s: TSTB  (R2) s TEST THE TSTB
BMI 4§ :BR IF "N SET - IT SHOULD BE
3s: HALT :TSTB FAILED TO SET "N"
BR 18 :LOCK ON ERROR
4s: CMP RY, (R2) :DID rgre DISTURB (DEST)
BEQ 1sty0 ::BR IF NOT




DAKDAB.P11

i
22

e R T
i i
]

=
*

Ss: HALT

MOV

B8R
1 4TEST w0
t81y0: o

oy
18: cCcC
es: TSTB

BMI
X, H Q.T
4s: cHP

BEQ
cs: HALT
'iTEST Y1
'fs‘m-

MOV
18: cCC
cs: TSTB

BEQ
3s: g‘f
4s:

5%
es: HALT

KO4

MAINDEC-11-DAKDR-B KDH-K BASIC LOGIC TESTS MACY1l 27(1006) @2S-APR-77 08:37 PAGE 48
2S-APR-77 08 137 EVEN RDDRESS

BASIS "TSTB (R)™ TEST -

: DEST]
poo AT
18 LOCK ON
BASIS "TSTB (R)* TEST - 0DD ADORESS
FRERERERESES
m|m - T uxm
% mo;:m ;
|R3 3
(R3) .n:sr THE TSTB
4§ sBR IF "N* SET - IT SHOULD BE
:TSTB FAILED TO SET "N*
18 :LOCK ON HARD %ﬁa
%ﬁvfa) ;og r;m gxsnm (DEST)
DEST]
poo AR
18 ;
RERERRRRER
BASIC *"TSTB a8A™ TEST - EVEN RDDRESS
SREFRBL R BB TR AR RN B U BB L RS R R R R AR R AR RN IR AR

T R

8177400, R4 sc%T S /B8 = 177400
JSDWTA+Y ; TEST THE TSTB
ug :BR IF =Z= SET - IT SHOULD BE
: TSTB FRILED TO SET “Z*
18 ;LOCK ON HARD ERROR
RY, (R2) ;0ID T ISTURB [DEST]?
Tshy2 5;8 ;rag
;18 [DEST)
my, R2) '?o&’%

o 03303030 30300 0 000 6 00 00 36 36 06 36 36 38 36 36 38 36 3600 3008 3838 0608 06 000000 0100 00000000000 00 00 30 30 00 00 0 00 0 0 0 0 00 0 00

'irssr uz

BASIC "TSTB @sA™ TEST - ODD ADDRESS

o JH3H0E 030 S 003036 06 3006 36 30 3606 06 00 06 06 636 36 36 36 30 06 00 00 06 30 36 30 36000030 38 36 36 30 30 36 36 30 00 30 00 00 3000 00008 36 36 36 3¢

oty
MOV
MOV

:LOAD RO WITH TEST NUMBER
ST ADDR = DWTA+6

oou'rm,ne




DQKDARB.P11

MAINDEC-11-DAKDA-8  KD11-K BRSIC LOGIC TESTS
25-APR-77 08:29 e

-
008275
i

:’-
M
e ety
£0

S S e A ad e aa A KA e

000043
177400

105366 000001

LOY

MACY1l 27(1006) 25-APR-77 08:37 PRGE 49
BASIC "TSTB asA™ TEST - ODD RDORESS
MOV 8377, Ry . 1S/8=37
18: ccC ' 5& SYNC
2s: TSTB  JSDMTR+? s TEST THE TSTB
BEQ s ;BR IF *2* SET - IT SHOULD BE
3s: HALT :TSTB FAILED TQ SET 2"
BR 18 ELE& on ﬁn gn&
ys: RY, (R2) :DID T ISTURB [DEST1?
% Tshy3 :.8 Iinlﬂ?
58: HALT e ;% o&r?to [DEST)
BR 18’ sLOCK ON H Emn
i R RN RRAE
:RTEST 43 BASIC "DECB 1(SP)"
ié#‘l’s- $EEE FREEZRFZRARERRRER
T MoV 843, R0 s:LOAD RO WITH TEST NUMBER
MOV SP. RS : ?
MOV %Mm.m ; S/ B = 177400
et R 1 08) DEST] = 000000
- . =
cce Egcorz SYNC
2s: DECB  1(SP) s TEST THE DEC8
CHP RY, (SP) . T = 1774007
BEQ S BRI vES
3s: HALT :ERROR - DECB FRI
BR 18 :LOCK ON m% m%"
y§: MOV RS, SP :RESET THE SP
$3 FREFELLBBRERLERBRENRRERE 9838 36 36 36 36 3698 3 36 3% 36 96 3 3% 3% ¢
s kTEST Wy BASIC "MOV a8A,R™ TEST
i 5::?’""““"“““&"“&!‘%5“““!“}“%"!"!!“"
: 844, RO 53“? RO WITH TEST NUMBER
18: CLR R3 : [DEST] =
ccc :SCOPE SYNC
28: MOV J8ATA,R3 s TEST THE MOV
CHP 8OWTA,R3 sRESULT = DWTA?
BEQ TSTYS ::BR IF YES
3s: T MOV FA 0 VER CORRECT RESULT
B s s X" R iR ERROR -

5 5 SIS IS B S I HHEHEEHEH
BASIC MOV SN, X(R)"™ TEST

s TEST 45




%83

1}

SR AR AL ER SR AR SRS

d

CERERERR

3
1S

2S-APR-77

L

geoM12
001402

== =]
= o

R

012713

e

12700
1

1=

1

it

B

125252

000047

—— — o —
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MAINDEC-11-DGKDA-B8  KD11-K BRSIC LOGIC TESTS MACY1l 27(1006) 2S5-APR-77 08:37 PAGE SO
DQKDRB.P11 08:29 T¥S

BASIC "MOV #N,X(R)* TEST

s 2 FHEEEERR
t5Tus:
32 HITH
sl h’e -
1’! Cl (m) 0*3 :
&8 ;
2s: MOV $125252,2(R3) ;TEST THE MOV
cHP RY, (R2) sRESULT OK?
BEQ Tstue ::BR IF YES
3s: HALT I RESULT
B s Ok G NRD ERROR
H BURBRREREL RN R LR ER R AR RRCRBABE 4R
m:sr Yh BASIC "MOV 8N, (R)” TEST
tée: MOV WITH TEST NUMBER
RV elrO.R3 {087 000n = HelFD
MOV ogsasé 4 : r s / B = 126262
18 &'ci ;
2s: MOV 8125252, (R3)  ;TEST THE MOV
CHP RY, (R3) T 0K?
BEQ 1sty7 F YES
3s: HALT .nov IVERED WRONG RESULT
B8R 18 :LOCK ON HARD ERROR
: R 2e sz s a s s R T s s iR AR 2L LT TR LL LT LT
' kTEST 7 BASIC "MOV (RA)+,RB™ TEST
1_sg:;uuum&muu&muﬁ&umnlmiuimmm
MOV "7 m 0RD uxm TEST NUMBER
1s: MOV ﬁogrh th mlag
- m
cce .scogt':
2s: MOV (RS)+,R3 : TEST THE MOV
CHP 8DWTA,R3 sRESULT OK?
ER Uy :BR IF YES
38: HALT MOV DELI WRONG RESULT
BR 18 ELocxog'a W ERROR
ys: CMP 8ATA+2,RS ;DID SRC REG GET INCREMENTED?
BEQ TSTSO ;;BR IF YES
cs: HALT MOV FRILED TO UPDATE SRC. REG.




MAINDEC-11-DGKDA-8  KD11-K BASIC LOGIC TESTS MACYIl 27(1006) 25-APR-77 08:37 PRGE SI
™7 BASIC "MOV (RA)+,RE8™ TEST

DAKDAB.P11  25-APR-77 08:29

1% ;LOCK ON HARD ERROR

RS
BASIC "MOV 38R, 388"

ﬁ xwm
/anoum

T:Mﬂ’

SATR, ISMBUF 1
X

18 s. PO D R T

-
o=
. ‘. e L IR IR LR 1% 1]

BASIC "MOV  X(R),PC™ TEST
1,RO0 i NITH TEST NUMBER
:&.s ;,kg‘,",ﬂg, (BASE ADDRESS)

Y$-2$(RS),PC  ;TEST THE MOV - GO TO NEXT TEST VIA 4S
MOV FRILED TO LOAD THE PC
:LOCK ou"n-E&m

1S
;POINTER TO NEXT TEST

& SSRGS I SO S 003000 3006 36 30 36 S0 36 00 00 300003030 36 300 00 00 000 SO0 3030 30 36 30 30 30 06 00 00 00 00 0

BR
tiTEST 50
térs0: mx
MOV
18: CLR
cCcC
es: MOV
CHP
BEG
38: HALT
BR
PATEST 51
t81s1:
MOV
18: MOV
cCC
cs: MOV
3s: HALT
BR
L H .+
'ilggt g2
t8rse: 533
MOV
18: CLR
cCcC
cs: MOV
so
35: HALT
BR

BASIC "MOV 3#A, (R)* TEST

RERTLEE
RO :: NITH TEST NUMBER
A, RY ; TS/ I s 5
(R2) .R2 ' (DEST)
+ BCOPE ST ‘°9°°°°
38ATA, (R2) :TEST THE MOV
RY, (R2) : T TR 27
Teyse iR TFoVEd = "M
oa.xv:a:o WRONG RESULT
18 LOCK ON HARD ERROR

o S0 0 00 U000 0 0 00 06 0 00 06 00 00 36 06 08 3606 36 36 36 30 30 00 3030 38 30 38 38 0000 00 00 00 06 00 00 00 06 330 36 36 38 363030 36 00 00 36 0 8

'msr €3

BRSIC "MOV X(RR),RB" TEST

o 63 BH SEIHIHEIHEBB BHESESHHEIEIHI IHEHEHHEHHHHH

trsa:

e e——— e




BOS

%QIEKZFIC LOGIC EgTS ﬁYél %vl &A)W 08:37 PAGE S2

-

Attt i [\ N
2 . KON < 38R '
St St ek 3t 3t
St Sl Sl S Bt -
w A%
¢t y 4ot

. B ENk Eg,ﬁf%"% (ATA)

2s: MOV Y(RS),R3 .rss'r THE MOV
o TA,R3 T = S0BTA 7?7
BEQ ?g?s-u F YES
38: HALT I MRONG RESULT
BR 18 ;I%K%I mm
: SRERARFRERNBY
m:st i BASIC "MOV RA,-(RB)" TEST
treu:

. § B GRS

% (Re)

es: MOV RY,~(RS) ; TEST THE MOV
RY, (R2) : T = 125252
&% s Eﬂ YES
3s: HALT ; MOV I THE WRONG ESULT
BR 1% ;L&K% WM

Ys: g %@ :?R lﬁﬁ;gﬂl GET DECREMENTED ?
cs: mmu s g&xfal.womﬁ REGISTER

3 I IT TS TR SRR RS L TSR AR 2SR R RS Ty
m:sr gc BASIC 'nov“ 384, -(R)* TEST
FRERRNCEBRRRELBRGERE RS HHM

BRBEBELRY
'rsrss
MOV RO T um NUMBER
A R Y
18: % %&a.ns : NITI w = MBUFD+2
CLR (R2) ;
cce
28: MOV 38ATA, -(RS) n:sr THE MOV
RY, (R2) : T
e s iBROTF vEs
3s: HALT MOV DELIVERED THE WRONG RESULT
BR 18 :LOCK ON ERROR




COS

(R2)

MRINDEC-11-00KDA-8 _ KDIL-K BRSIC LOGIC TESTS  MACYL1 27(1008) 25-APR-77_ 08:37 PAGE 53
DQKDAB 25-APR-77 08:29 BASIC "MOV A, -(R)™ TEST
& uS: CW  RS,R2 ;010 DEST REG GET DECREMENTED ??
001402 Be@  TStse ;;BR IF YES
000000 SS:  HALT ;MOV FAILED TO UPDATE REGISTER
000762 B 18 sLOCK ON HARD ERROR
A ; 3 BREES i S SIS B 3 3 %
) : 4TEST Sb BASIC "MOV (R), 38" TEST
8 L3 llumlmiumnuiummum
- . toTse: —
1 R :
28 1 %aah ; 1TS$/8 =
58 TR, RS ; =
x ; ¥
K

B et

£ L%

(RS),38MBUFD ; TEST THE MOV

Bk B3 & 803338

RY, (R2) T = SOWTA 7?7
Tsts? F YES
38: T I WRONG RESULT
18 ;EB‘&“& YRD ERROR
W FEPRRERNR
mst &7 BASIC "MOV ~-(R),38R" TEST
* REREREEER PRERABERFER SRR
térs7:
MOV §57 lg i um T NUMBER
MOV R2 ;
MOV A, RY iR
18: MOV TA+2,RS : IN : ATR+2
&g (R2) ;
l
2s: MOV -(RS),38MBUF0  ;TEST THE MOV
CHP RY, (R2) . T = SOWTR ?
BEQ 4s :gs'i'# YES
38: HALT ; I THE WRONG RESULT
B s 0ok O HARD ERHOR
ys: CHP 8ATA, RS :DID THE REG GET DECREMENTED ?
BEQ 15760 ;;& Y?C

Ss§: %T 18 %FML%O Em'f! SOURCE REG

llllllllllllllill!llllllllllli SRR

'lm:sr 60 BASIC "MOV  (RA),RB" TEST
fggzaflllllllllll!illll!lIlllllliill!!Ill!lllll!lllllllllllllllll

18:  Hov  sATARS {IRTTAC SOURCE AGOR = ATA

e - —— e — = mm ———




FEE

i

10

1

012700

1-K_BRSIC LOGIC

08:29

&

177777

063314

TESTS MACYL1 27(1006)
Te0 BRSIC “MOV

2S-APR-77 08:37 PAGE S

(RA) ,RB™ TEST
I e TR = o000
2s: MOV (RS)+,R3 s TEST THE MOV
A,R3 : T = SOWTA ?
e &7 iR IF YES
3s: HALT ; 1 RESULT
B 1s Ok 5 D ERROR.
ys: TA+2,RS :D REG GET INCREMENTED
g T6l ;;g m
5§: HALT MOV FAILED T0 TE SOURCE REGISTER
18 E% ou"ao R
;-IIl!llillli!!llllll!ll!l!llllli!llllilll!ll!l!l!lll!l!l!lllllll
1 RTEST bl BASIC "MOV  X(RA) RB™ TEST
. 1212
t8tel: R —
- S o] e
18: CLR R3 : )
ccc ;
2s: MOV 2(RS),R3 s TEST THE MOV
CHP -oua.na : T = SOWTB ?
BEQ TST ¥ F YES
38: HALT MOV FRILED TO VER CORRECT RESULT
B s O ONFiARD ERROR
;-.l!llill!!ll!l!lllil! S B O
:ATEST b2 BASIC "MOV  aX(RA),RB™ TEST
;{ é;ammmunmmmmm1uuu
© oMoV &*no <L MITH TEST NUMBER
MOV mekgmmé . TRBLE MBUFO
MOV SMBUFD, : N 8
18: &g i [ ]l =
2s: MOV 32(RS),R3 s TEST THE MOV
CMP s-1,R3 ; T = 177777
BEQ 15763 ;?Ems"fr vé
38: HALT s I WRONG RESULT
B s O G MR ERROR
;-lllill!lllll!lllIIlllllll!lllllll!llll!lllll!!!l!lllllllllllll!
s §TEST 63 BASIC "MOV (R)+ X(R)™ TEST

¢ o SISO ST B S 0 0 O O O O R

t5183:
#63,R0

B R
;;LORD RO WITH TEST NUMBER




063314

063312

EOS

IC LOGIC '{EngS MACY1l 27(1006) 2S-APR-77_ 08:37 PRAGE S5

BASIC "MOV (R)+,X(R)" TEST
TS /8 = 126282
=

MOV 8l RY ;
B R "
T 1 TRS) = INITIAL SRC-AOCR = MBUFO
Y CLR (R2) 5&( =
0 3
es: MOV (RS)+,4(RS) s TEST THE MOV
RY, (R2) : T = 126262 *
% 4s :5% YES
3s: HALT : W RESULT
BR 18 ZE%( oM
ys: cHP SMBUF0+2, RS ;DID REGISTER GET INCREMENTED ?
BEQ TSTEM ::BR IF YES
5§: HALT FAILED TO TE REGISTER
B 1 O ON iR ERROR
3 Iy I eI IR ST RI IR S22 3 2282223222223 23
lm:sr &M BASIC "CMP R,38R" TEST WITH [R] = [R)
!!lllllllilll!& FRBRLURRERE
a? RO WITH TEST NUMBER
}m HALT SET ??

F NOT

.SBTTL E carr&!figagmm

HEATS

g;lu TO RESTART
/7B =

AR LA LA LA Lo IA TR 1]}
-

T

18: RY, (RS] = 25252

nov RY. (R2) %t ) = 12555

cce
2s: CHP RS, 38MBUFO s TEST THE CMP

BEQ 4s sBR IF 2" WAS SET - IT SHOULD BE
3s: HALT crp m 10 o o

B 1s ERROR
ys: CMP RY, (R2) 1 T STILL = 125252 ?

BEG 1stes E;Eﬁ?"ﬁs

5§: HALT : CMP (DEST)
BR 18 !Locxm Egoa
22T T II I I R I YRR YR R R R R T I R R R YIS

'hssr kS BASIC "CMP R,38R"™ WITH [R] NOT EQUAL TO [R)
lllllll!i!ll!lllllllllllllllllllillill!l!llllllll{lllllllllllll

MRy wem o amo s wime it s

MOV 8125252, RY ‘MAKE RESULT S / B = 125252




- ———— —————— .

e %

FOS
Ml ?,}{%Q‘E“z?m — TETS BASI = ngasam {R) NOY EauRL Yo ta)

53 ¥ Re B
SCC ;

020537 063312 es: cHP RS, 98sMBUFD ; TEST THE CMP

001002 BMNE TSTe6 ;3BR IF Z=0 - IT SHOULD BE
38: HALT Cfl’ FRI 10

80770 R ERROR
3 lQlI*!iiil!!illlllll!llllil!llll!!lllll!lllll'llllll'll!lll ##
lTES BRSIC "BIS #N,asR™ TEST - N=177777, (R)=000000

; gggfimmmlumuumlnmmuninmulnnn
MOV Lm RO WITH TEST NUMBER
MOV mo R2

1S: S't;cg .Réi é :?é&m 977.”

177777 083312 @28: BIS 8-1,98MBUFO ; TEST THE BIS

0s2737
001402 o Tster i8R Ir VS
000787

=
¥

006374
0EHGH
00EH0E
006426
00H
B0sHe
B0
i
&R
006502

3s: HALT :B1S FRAILED TO SET ALL BITS IN BITFLG
R 1s DRk ON-FiARD ERROR
3 CBEESRERER RN B RN BRI R DB AR BN R R AL SN LU R LSRR R PR R
hssr 67 BASIC "BIC ®N,3sA" TEST
?g?g;llllllllllilllll!lli!l!!li!i!lilllllll!llll!l!lllll!I!!lllli
012700 000067 MOV 867,R0 :LOAD RO WITH TEST NUMBER
1 MOV -g{ro.nz 5&,}_ = MBUF
1 MOV $77,RY /B =
12712 1 18: MOV -1, (R2) MAKE [DEST) = 177777
000257 cce :SCOPE SYNC
0N2737 177700 063312 28: BIC 8177700, 38MBUFO ; TEST THE BIC
12 CMP RY, (R2) ;D T=77"?
% BEQ 15t70 "8 n;s&
000000 3$: HALT ;BIC DELIVERED THE WRONG RESULT
000766 BR 18 :LOCK ON HARD ERROR
3 R BE RN AR RSB B NS R PP BN AR R R PR RN R LA B R AN LA RN R R R R
hssr 70 BASIC "BIC #N,R™ TEST
?Q;;alllil!llllllI!I!ll!lll!l‘lllllllllllilillilllllilllllllll!ll
01 000070 MOV 870, R0 bga? RO WITH TEST NUMBER
1 18: CLR R3 :|DEST) = 177777
1 1 COM R3
1N 000257 cce s SCOPE SYNC
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B
i
i

042766
o

g-
P -

SREd AR AR S TR ANIER

W
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R

2S-APR-77

Badd

d

P 18

010S06
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DAKDRB.P11 T70

Bz 006516

i
8
0%
i
i
06
E;
i
=

BASIC "BIC sN,R™ TEST

28: BIC 8177400,R3 s TEST THE BIC
cHp 8377.R3 sRESULT OK
BEQ 15171 s:BR IF n:s
3s: HALT sBIC FAILED TO CLEAR HI-BYTE
BR 18 ;LOCK ON HARD ERROR
s R BRNERERGER AP BB R R EPEERE R A B RN AR LR B RN R R R AR TR RS AR R R R R R AR
tATEST 71 BASIC "BIC #N,2(SP)™ TEST

D+ IS I I IS I SIS S S S S

171

MOV 871,R0 .Lommum TEST NUMBER
MOV RY : 1TS/8B = 357
MOV g : 5
18: MOV : SP FOR ERROR LOOP
8377, -(SP) : [DEST) = 377 PUT ON STACK
ST -(SP) : sp
ccC ; SCOPE

3
@
8
8

; TEST THE BIC - CLERR BIT 4
; [R2] = DEST RDOR

2
g
R

ST (R2)+
CMP RY, (R2) :RESULT = 3577
BEQ s :BR IF YES
3s: HALT BIC FAILED TO CLR BIT2 OF DEST
B 18 §L88K ON Hzno EShoa
ys: MOV RS, SP
3 R Y Y2222 2222222223223 8322222322 SRS 2 2SS SRS 2]
lrssrn BASIC "ADD ®N,RN * TEST

} gggllllllllllﬂlmlllllﬂllh"l“"l“ll“"“llli“““lllli

MOV 872, RO &m &g uxm resr NUMBER
18: MOV 82,R3 (

cce sco§:
2s: RDD 82,R3 : TEST THE AOD

CMP #4,R3 sRESULT = 4 ?

BEQ 15173 ::BR IF YES

3s: mI'UEIJ' 18 i &o&xms%m RESULT

o 00000 30 33030 0000 06 06 00 36 36 0 00 06 00 3806 08 96 06 0600 30 00 38 38 06 00 30 30 3048 00 00 9000 0038 38 6 0090 36 36 0 00 01 30 3636 30 38 0 30 36 36 36 6

'iTEST 73 BRSIC "ADD N, (R) ™ TEST
llllllllllllllllllllllllllIlilll!l!'llillllllllllll!lllll!lllill

tr73:
Hov ‘.'.&28 hEOTORB0R = HBUFD e
MOV RESULT S / B = 4

18: MOV na ma) :MAKE (DEST] = 2
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—
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[NIRTNININRIRIRINIRIAIAIRIAIRINIRIRINIATNIN
P s B b s s B Bt b s B o B Bt B Bm e s s G Bt

SRMBEENTh oo 38IRREE

Al A v
T

)i t)

B

G G G G G G G G € Cad € ) G €a) € €a) G ) G G L )

OB EESFF ESS=E38YRRPBRE

.—.-.-n.-.-"hhhbh.—.—hhh.—h.—’-.—.—hh.—.h.—.—.—.

W W) W Lttt W

BIFRE

-11-DAKDAR-B gxg« BRSIC LOGIC r;grs MACY11 27(1006) -77 08:37 PRGE 58
PIl  25-RAPR- 129 T BASIC "ADD N, (R) " TEST
0066SY 000257 cee :SCOPE SYNC
006656 062712 000002 2s: RDD 82, (R2) ;TEST THE ADD
RY, (R2) . T=4"
% 8?'4& g’é Tst7y ::BR IF YES
006666 3s: HALT : 1 KRONG RESULT
Xer0 oomey R 1s 000, 6h MARD ERHOR
33 IR0 300 00 6 3 3 3 06 06 06 30 36 38 46 3 36 3 3 3% 3 % EEREZRBEXRERR
S kTEST 74 BASIC “AOD 8N, X(R)™ TEST
Y PR Y I
0066 ot
1 w 879, RO ;s HITH TEST NUMBER
1 82, RY : 16/8 =
1 4 MOV sMBUF0+2, R2 : = 0+2
ms;tlrza 012705 063312 18: ncslov ?R%ro.ns g{%ﬂﬂ = MBUFO
0%715 003088 &8 ; o
006716 062765 000002 28: ADD 82,2(RS) s TEST THE RDD
006724 020412 CHP RY, (R2) sRESULT = 2 ?
006726 001402 BEQ Tst7s ::BR IF ¢£s
006730 000000 3s: HALT :R0D DELI THE WRONG RESULT
006732 000765 BR 18 ;Loopng'n W ERROR
33 3636463636 96 36 36 3 06 36 30 36 30 38 3038 36 38 36003 3638 3698 36 98 6 08 38 36 9096 38 36 040 36 38 36 3 36 38 36 38 6 3 3 36 38 36 3 06 36 0 3 3t 3 3% 3 3% &
s KTEST 75 BASIC "CMPB SN, (SP)+* TEST
g;g 1 é‘;;g?lllﬂllllllﬂl?"lllllllh“ll“ll!ﬂl“lll“lﬂ"&l!llllH
012700 000075 " mov 875,R0 ::LOAD RO WITH TEST NUMBER
nns;g oimu 177400 MOV 8177400, RY ‘RESULT S / B = 177400
g% % %3 g’g 1SET u? gssr ADOR
0 2 < ST ié%’: sR2 CONT xlgs DEST noonoop
BE I B RS T
ccc ; SYNC - 2" = 0
006760 122726 000000 2s CMPB 80, (SP)+ :TEST THE CMPB
006764 001402 BEQ 4§ :BR IF “2* SET - IT SHOULD BE
006766 000000 3s: HALT :CMPB FRILED TO SET "2*
006770 000770 BR 18 :LOCK ON HARD ERROR
772 4§: CHP RS, SP :DID SP GET UPDATED BY 2?
774 gnlmsua BEQ 6’ ‘BR x? YES
5§: HALT :CMPB FRILED T TE SP PROPERLY
M M BR 18 :LOCK ON ﬂn W
007002 020412 BS: CHP RY, (R2) : [DEST] ALTERED?

——— e —— e — -

— e —— — —

—— A ———  ——
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DGKDRB.P11  25-APR-77 08:29 175 BASIC "CMPB N, (SP)+* TEST
3i 007004 001402 BEQ TST76 ::BR IF NOT
3161 007006 000000 78: HALT :CMPB MODIFIED [DEST
§i§ 007010 000780 BR 18 sLOCK ON HARD ERROR.

1 33 S0 0000 000000 00 06 06 0 06 00 98 38 08 91 938 3036 36 90 90 30 30 38 36 3 S0 30 98 3% 3% 36 3 36 36 3 3% 3% 9% 36 36 36 36 3 9 4 3 % 3% 3 % %
3165 :kTEST 78 BASIC "CMPB (RA)+, (RB)+" - SRC AND DEST EVEN
gig — ﬂ%uuuumnuum&muui

168 007012 Ol y 876,R0 ;s NITH

8 B nem pon B MR R T e

(N | [ fo¥ o 4 b4
gig 0% OIorE cerao 1S: KOV KMTA §'RE 5 x
i S BEED R ;
3{3 007036 122523 2s: CMPB  (RS)+,(R3)+ s TEST THE CMPB
g%nom‘nmme BEQ 4§ ;BR IF *Z° = | - IT SHOULD BE

1 38: HALT sCMPB FRAILED TQ SET “2Z*

49 WS 5% S IR AR

3182 007046 022703 063325 ys: CMP SOWTA+3,R2 :DID DEST REG GET UPDATED?
3{33 007052 001402 BEQ &S :BR IF YES

gxg 007054 (000000 5§: HALT :CMPB FRILED TO UPDATE DEST REG
315 007056 000763 BR 1S :LOCK ON HARD ERROR

3188 007060 022705 063331 BS: cHP 8DWTA+7, RS :DID SRC REG GET UPDATED?

g}a’? 007064 001402 BEQ 83 :BR IF YES

191 000000 78: HALT :CMPB FRILED TO UPDATE SRC REG
§§§ % 000756 BR 18 :LOCK ON ﬁn ERROR
3N 020412 8% CHP RY, (R2) :DID [DEST) GET ALTERED?

g{g % 001403 BEQ 1577 : s BR xgeuor
1 HALT : A RESULT
g B o B mon RN
102 000751 BR 18 :LOCK ON HARD ERROR
33 122 222222232221 22222112 322212222t st a s ssseay
kTEST 77 BRSIC “CMPB (RA)+, (RB)+* - SRC AND DEST 0DD
glg 1_ g##f!l&“iﬂl&ll*““"lHill“i"ﬂ“!l““m“lllllllllll
1 12700 000077 " MOV 77,R0 ::LORD RO WITH TEST NUMBER
% 007110 312704 177777 MOV 8-1'RY : s#u S/B srf;rm
114 01l MOV A+ % : = DWTA+2
i % . & }m 'R3 'R3 GE DEs ESBEu

210 007130 000257 cee ' :SCOPE S
g{g 007132 122523 2s8: CMPB  (RS)+,(R3)+ :TEST THE CMPB
3214 007134 001402 BEQ 4§ :BR IF »2* = 1 - IT SHOULD BE
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DAKDARB.P11

2 win wow
B3 B -

S A R Rs

llz[..ll
. > n

UL/ UL

.
007224
s
i
O72ds
887523
007564

8525255

o
&5
n

012700
fin

7%
012703
000257

2S-APR-77 08:29

E

§

5

:a
A

:

17?7
38: m.T
ys: g
Ss: g.r
68: CHP
BEQ
78: %T
8s: cHP
BEQ
9s: %T
BR
3 3 SRR
- ¥TEST 100
. BREEE
t47100: -
MOV
18: ﬁ
cCcC
es: CcMPB
BEG
3S: %T
4s: CHP
BEQ
cs: %T
6S: EI;
78: %‘I’
BS: CHP
BEQ

MACY1l 27(1006)
BASIC “CMPB (RA)+, (RB)+"

1S
wTM,RS

18
SDWTA+6,RS
es

18

(R2)
rshoo

RY, (R2)
18

nm

e B

INTR*SM

(RS)+, (R3)+
ys

1S
SDWTR+6,R3
6S

18
$0UTRA7, RS

18

RY, (R2)
1stiol

B HHHHHHHHHHHHHHE HHHHHHHE
- (RA)+, (RB)+"
e’ ﬁmnuihgmm;uunu

25-APR-77 08:37 PAGE 60

- SRC AND DEST 000
R0 R R
gub IF&S‘G GET UPDATED?

;CMPB FRILED TO UPDATE DEST REG
;LOCK ON HARD ERROR

;0ID ?‘C REG GET UPDATED?
;BR IF YES

EC’I’B FRI%TWTE SRC REG
R [ o o

,ClP? IVERED A RESULT
; RES (DEST]
sLOCK ON HARD ERROR

J0 I
EVEN,DEST 7 ODD

:LOAD RO WITH TEST NUMBER

e

{S20PE B

; TEST THE CMPB

sBR IF *2* = 1 - IT SHOULD BE
:CMPB FAILED TO SET ~Z*
it.ocxou%%a

Ew FST REG GET UPDATED?

CFPB FRILED TO UPDATE DEST REG
;LOCK ON HARD ERROR

gﬂ ?C REG GET UPDATED?

D R ™ o e

;01D (FST] GET ALTERED?
;:BR IF NOT




MAINDEC-11-DQKDR-B  KD11-K BASIC LOGIC TESTS MACYl1l 27(1006) 2S-APR-77
DOKDAB.P11  2S-APR-77 08:29 TIOC  BASIC "CMPB (RA)+,(RB)+" -

25 B Do ® OB k2 PG TORE - [DEaT) | T
007272 000750 18 :

ﬁ BR LOCK ON MARD ERROR
;-!umlmmumiumnmmmmmmm
:&TEST 101 BRSIC "CMPB (RA)+, (RB)+" - SRC / 0DD,DEST / EVEN
$4T101: . =
1 ) $101,RO s NITH
i ) B LD D LT et
1 3324 MOV wm.nz : = DWTA+2
10 01 063327 18: MOV 'RS : =
14 01 MOV ,R3 ;
16 cce ;

007320 122523 2s: CMPB  (RS)+,(R3)+ s TEST THE CMPB
maimmzmwoa BEQ g sBR IF *Z* = | - IT SHOULD BE
% 007324 000000 38: HALT ;CMPB FAILED TO SET *Z*

007326 000770 B8R 18 :LOCK ON HARD ERROR

% gzma 063325 ys: CHP SOWTA+3,R3 :DID gw REG GET UPDATED?

1402 BEQ b5 :BR IF YES
D0000C 5§: HALT :CMPB FRILED T TE DEST REG
gm 000762 BN 18 h“ﬂ"%w
39 022705 063330 6S: cHP SDNTA+6, RS :DID REG GET UPDATED?
gllz % 001402 BEQ 8s ‘BR xﬁes
78: HALT :CMPB FAILED T TE SRC REG
g % BR 18 :LOCK ON % W
3305 007354 020412 8s: CMP RY, (R2) :DID (DEST) GET ALTERED?
g 007356 001403 BEO 1stio2 ::BR IF no%

007360 000000 C1 HALT :CMPB DELIVERED A RESULT
3309 007362 010412 MOV RY, (R2) :RESTORE [DEST)
giommx BR 18’ wam%m

lé § 5 SHHRIIHH SRR

1 kTEST 102 BASIC "MOVB (RA)+, X(RB) - SRC EVEN / DEST EVEN
gi"l ;rg“a?unuuumumnnﬁuummmmmuuu

12 % 012700 000102 ’ $102,R0 ::LORD RO WITH TEST NUMBER

17 007372 01 1 MOV sMBUF 1, R2 s DEST s i

18 007376 Ol MOV ; = _MBUFO

30 0074 i 5 18 % :tlaamné : 4 ?nl :

$ H F

e s | iR T ek
% 007420 112563 00000M 2s: MOVB  (RS)+,4(R3) ; TEST THE MOVE
3326 007424 020412 CMP RY, (R2) sRESULT OK?
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- . ——— e ——— e

R e B2

11-DAKDA-8 gu-« BASIC LOGIC TESTS MACY1l 27(1006) 25-APR-77 08:37 "55?2
11  25-APR-77 08:29 Tl BASIC "MOVB (RA)+,X(RB) - SRC EVEN / EVEN
007426 001402 BEOQ %g :BR IF YES
007430 3s: HALT sMOV DELIVERED WRONG RESULT
07438 A BR 18 ;LOCK ON HARD ERROR
064631 e A+1,RS :D G GET INCREMENTED BY +1
S0 B51403 a'a 1510 i8R TFvee
007442 000000 cs: ;MOVB FRAILED T TE SRC REC
007444 000780 18 :LOCK ON HARD
'msr 103 BASIC "MOVB (RA)+,X(RB) - SRC 0DD / DEST 0DD .
0744 té7103:
Q07946 01 103 MOV 8103,R0 ommunun:svm
el A b
. . s 777
B B . B DR | 7
. . -
1 ' s-1, (R2} !m =
G QT oy Tl
007500 112563 00000S 2%: MOVE  (RS)+,5(R3) s TEST THE MOVB
RY, (R2) . T 0K?
0rete SoTuts &0 s BRIF ves
3s: HALT : I WRONG RESULT
ooee B s Ok G MARD ERROR
022705 064636 H§: cHP sD8TB+2,RS :DID SRC REG GET INCREMENTED BY +1
001402 _ BEQ TST104 :;BR IF YES
c§: T FRILED T TE SRC REG
03578 B s i'OR O R0 CRHOR
3 ERUBRERERE
hesr 104 msxc “MOVB (RA)+,X(RB) - SRC EVEN / DEST 00D
?snm
; I G
' nlv MOV 6 g rara
% 18: .183 TA fg
1 MOV -1, (R2)
cce scors svnc
000005 2s: MOVB  (RS)+,5(R3) ;s TEST THE MOVB
cMP RY, (R2) sRESULT OK?
BEQ Y :BR IF YES
3s: HALT I WRONG RESULT
B s 0ok G MARD. ERROR
064631 4%; CHP $DBTA+1,RS :DID SRC REG GET INCREMENTED BY +1
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LSRRV ERER S

PEPPRPPYY
| ol ad and ol and and ol ot Tt
NN EWN—-0O

A

007640
007644
007646
007650
007652
007654
007660
Ba7ees
007eee
007672
&
007714

o
[
—
I

sf

1

SHEF

25-APR-77 08:29

i

=
8 8§ = Beee0Ps
= b=
n

000106

&

063313

FLE

MOS

MACY1l 27(1006) @25-APR-77 08:37 PAGE 63
BASIC "MOVB (RR)+,X(RB) - SRC EVEN / DEST 00D

tér108:

1S:

BEQ TST10S s;BR IF YES
HALT sMOVB FAILED TO UPDATE SRC REG
. BR 18 LOCK ON HARD ERROR
s kTEST 105 BRSIC "MOVB (RA)+,X(RB) - SRC 00D / DEST EVEN
W T MITH NUMBER
MOV % : = MBUFO
v a7zl : /8= 177401
MOV -1, mzl :[DEST] =
cee ; SWé
MOVB  (RS)+,4(R3) ; TEST THE MOVB

&Ho' ﬁ, (R2) zgﬂ#T&?

HALT sMOV DELIVERED WRONG RESULT
BR 18 :LOCK ON HARD ERROR

CMP 80BTB+2, RS ;DID SRC REG GET INCREMENTED BY +1
BEQ 1ST106 ::BR IF YES

HALT : FAILED T TE SRC REG

BR 18 Em on % m

§ 5 SHHHHHHEHHHHHHEHEEHHHHHHHEHHHHHHHEEEHHEHEHHHEHHHHHEHHHHHH
h’EST 106 BASIC "MOVB 2(RR), (RB)+* TEST - SRC EVEN / DEST EVEN

ts%;guum&mn&mmuun P 3
‘% nosm .Lono um Tzsrnm
MOV i mn&s : m-oox
MOV éug i E""B
18: MOV ih DE
MOV -1, (R3) : [DEST) = 1
cce ;
2s: MOVB  2(RS),(R3)+ s TEST THE MOVB
RY, (R2) . T OK?
g iy BT ves
3s: HALT sMOVB DELIVERED WRONG RESULT
BR 18 :LOCK ON HARD ERROR
4§: CHP 1,R3 D ST REG GET INCREMENTED?
BEQ (3 1(:9+ ' E;ag ?f YES
5§: HALT ;MOVB FAILED TO AUTO INCREMENT DEST REG
BR 18 :LOCK ON HARD ERROR
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NOS
MAINDEC-11-0GK0A-8  KDL1-K BRSIC LOGIC TESTS 25-APR-77
OKDRB.PLL  25-APR-77 08:29 BASIE =ROVB Z(RA). (RB)o~ TEST - SAC 000 / DEST EVEN

33 SHHEHHHHEHEHHHE HHHHE

;m:sr 107
; b
iR e o wde
1 O64634
ﬁ 1 18:
1 177777 MOV u-l ma)
cce
% 007774 116523 000001 2s: MOVB  1(RS),(R3)+
M53 01 020412 CHP RY, (R2)
1 001402 BEQ 4§
10004 000000 3s: HALT
10006 000766 BR 18
10010 0633 4s: 1,R3
$ BiEBNG g o %
1 5§ HALT
% 010028 0000e] R 1
465 ;3
ﬁ -izsgr 110
t81110: :
F463 012700 000110 MOV 8110 no
70 1 MOV %#
i £ (i . BB t
7 W - MOV -1, (
s cCeC
116523 000002 . 28: MOVB  2(RS),(R3)+
10060 )
J BRSBTS %
010064 000000 3s HALT
ﬁ 010066 000765 BR 18
10070 022703 063314 4§: CMP SMBUF0+2,R3
286 010074 001402 BEQ TST111
810708 909 wt il g
4
1
itssr 111
TR T LTI SIS RS
M 010102 teT111:

BASIC "MOVB 2(RA), (RB)+" TEST - SRC 0DD / DEST EVEN

Ly

;MOVB DELIVERED WRONG RESULT
;LOCK ON HARD ERROR

;?zg 9;5;5256 GET INCREMENTED?

: FRI T 0 INCREMENT DEST REG
iLOCK ON HARo ERROR
R %
BRSIC “MOVB 2(RA), (RB)+~ TEST - SRC EVEN / DEST 0DD
SIS

EHHHHE
;LOAD RO WITH TEST NUMBER

3%5'35

;TEST THE MOVB
259'#'%’
VB DELIVERED WRONG RESULT

DID DEST REG GET INCREMENTED?
;3BR IF YES

:HOVB Eﬁxhsgotgnnoao INCREMENT DEST REG

o 30300 IO I HHHEEEHEHHHHEHHHHHHEEHHEHHHHHEHHHHHE
BASIC “MOVB 2(RA), (RB)+* TEST - SRC 000 - DEST 00D

e




. — —

S

101 J1g7 00
3 HE
101 Lﬁ
01013 116523 000001
gl' 8 02012
%
1

1

fAL
B BAR R o
3 o g

1
|
|
18

010176 114503
e R
S fiEn E
T fEE EE o
% BiEm

010242 022703 177777

806

PPEat8TSIC LOOC RIS BREYA' ROV Tk STRE) - Tesf""Gnc’ OB /pes oo

%ﬂ Hlﬂl NUMBER
:%‘fl:.n w = MBUFO+1
1(RS), (R3)+ ;TEST THE MOVB

a‘l‘,(ﬂ) :gﬂff‘f&’

198 B AR e

El')m F{ESEG GET INCREMENTED?

- WO WO WO WS VO DS

o
®% %5 53 3 g333e3

18
T.S?l’l‘ e,R3
i gm mx%rmo INCREMENT DEST REG

1]

4s:

BE

tATEST 112 BRSIC "MOVB -(RA),RB™ TEST - SRC EVEN ADOR
tst112:

MOV 81l 32 WITH NUMBER
18: oV éﬁhﬂ,ns :w z %ﬁ'
cCC : SYNC
es: MOVB -(RS),R3 ; TEST THE MOVB
"I E
- s TG ON HARD ERROR. -
Ys: &”ﬁ %I?;B,RS :ﬁ ﬁG‘gT DECREMENTED?
- 10 L e S

"llllllllll!lllllllllllill!llll‘I!Ill!lilllllllllll!illllll!llll

s TEST 113 BASIC "MOVB -(RA),RB" TEST - SRC 00D RDOR
DR R R

w13 ol " WITH TEST NUMBER
T I

CLR ; [DEST) =

CcCC ;s SCOPE
es: MOVB -(RS),R3 ; TEST THE MOVB

CHP #-1,R3 ;RESULT 0K?




| CO6
DDA P11 D Bofen-ry Daes e O THTS  BRET'-ROVA™Ckn) TRe” TeSt -"SAZ 00D ROOR
551 01029 001402 B0 s ;R IF YES
S 1En B I U T L
£2? 0loee0 Goreas - N o + § 2 Yt
....:. m

1 000000 5s: HALT sMOVB FAILED TO UPDATE SRC REG
10264 000761 BR 18 :LOCK ON HARD
o RBEEERREE R R R R R
ggmr 114 BRSIC "MOVB (RA)+,-(SP)* TEST - SRC ADDR EVEN
i 0 000114 L 14,0 ;:LOAD RO WITH TEST NUMBER
i PN 177400 ROV g’ﬁm,m : ?/oz-moo
1 5 18: MOV ;: ; :’Wgu LOOP
i : ?9;;;9 E§§ :E? 'tgi) ; 'Dés
1031 - P, R2 : T ADOR
10314 ST (sP)+ : o
10316 i
010320 2s: MOVB  (R3)+,-(SP) s TEST THE MOVB
g3z m 064631 % 308TA+1,R3 ggox%rmn SRC REG?
R TR AR e S
ys: % RY, (R2) '59#7\%'
%r - 'ng&a mx%r%&xm CORRECT RESULT
) 6S: % §.SP ;%DI?&T PUSHED By 2 ?
:;i 8 %T " gmmt%t PUSH SP PROPERLY
5% 010354 010506 8s: MOV  RS,SP sRESET SP IN CRSE OF ERROR

¢ o SIS I 0 S S S I I I I S0 0 00 A 00 000 0 0 30 S0 S0 00 0030 30 00 30 0 I I 3 B

s #TEST 1185 BASIC "MOVB (RA)+,~(SP)" TEST - SRC RDOR 00D
L L L T T T e T e e P

;E 12700 000115 Rl oV 815,80 4000 ?_go WITH TEST NUMBER
R - § e B

332

s0UTB+3,R3 :
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' DAXDAB.P11

i

1
T
i 10MC
010410
BiENIE
8123
B1tEs
1632
BINE
B1642

oV

Bif

11234

25-APR-77 08:29

\77777

0633ie

T11S  BASIC "MOVB (RA)+,-(SP)" TEST - SRC ROOR 000
-1,=(SP) :
wy b 8 ﬂ#g;é!l Rooe
) | 3
2s: MOVBE  (R3)+,-(SP) s TEST THE MOVB
ﬁmm,na :D1D INCREMENT SRC REG?
g ;u IF
3s: HALT : FRILED T TE SRC REG
BR 18 5{'8‘6'( o % W
4s: RM, (R2) : T OK?
% 6$ ,gsﬁ Yg
HALT sMOVB FAILED TO DELIVER CORRECT RESLLT
BR 18 :LOCK ON HARD
BS: e ,SP ;D10 T PUSHED BY 2
BEQ g ;% I?Yg
HALT : FRILED T Sp
B 008 SRR TR R
Bs: MOV RS, SP sRESET SP IN CASE OF ERROR
3+ » SHIHHHHHHHEHHHHHHHHHHHHHHHHHHHHH HHHHHHHHHHHEHHEHEHHHHHHHHH R
:ATEST 116 BRSIC "MOVB X(R),a8R" TEST - SRC EVEN / DEST EVEN
" MOV 8116,R0 ::LORD RO WITH TEST NUMBER
B Gl B
533 c&rra,ns : mﬂa = DHTB
18: % (R2) ; ml s:”guunm
28: MOVE  6(RS),asMBUF0  ;TEST THE MOVB
RY, (R2) ; T 0K?
5 Tetiis i:8R [F YES
3s: HALT ; xm MRONG RESULT
33 um&?mudgmluuﬁi?mlm'mmunn
hTEST 117 BASIC "MOVB X(R),a8R8" TEST - SRC 00D / DEST EVEN
}é:n;?umnm&mcuuuim&mummummnuulu
" MoV 8117.R0 ;:LOAD RO WITH TEST NUMBER
MOV m. 0,R2 :0EST . reu:o
18 % ?é‘é?a"s smesn § .
H H =
¢ce s SCOPE mgununn
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DQKDRB.P11

ERESERRSEEREREERRES A A A e dadadadd 141

PRGE 68
BASIC "MOVB X(R),38R"™ TEST - SRC 000 s DEST EVEN

25-APR-77 08:29
010534 116537 000001 063312 28: MOVE  1(RS),3sMBUFD ;TEST THE MOV
010542 1 CHP RY, (R2) : T 0K?
0105 8%5 BEQ rshgs ::BR IF YES
01054 000000 38: HALT sMOVB DELI MRONG RESULT
010550 000767 BR 18 :LOCK ON
;-mllllllllllﬂll ERERERERY
,m:sr 120 BARSIC 'nova X(R),38R" TEST - SRC EVEN / DEST 00D
mu ERBRRERNBER LA ERRRERRER R RN
1 tr120:
i { 120 MOV Y um'l‘a NUMEER
1 1 ROV ;
1 18 RoR :
1 ) cé :
010576 116537 000006 063313 28: MOVB  6(RS),3sMBUFO+1 ;TEST THE MOVB
1 cHe RY, (R2) ‘ T 0K?
1 8‘1"-5 BEQ 1stial Eﬁlﬁr YES
1061 38: HALT
il 300707 M s iR OR-AD ERHRGE. o

ooo121

w

000001

000122

063234

063313

3 luuiuumuunimmlmhummnmum&mmun
tkTEST 121 BRSIC "MOVB X(R),38R" TEST - SRC 0DD / DEST 00D

th:g&muumuunumunhnmmmmuuimn
8121,R0 sL WITH TEST NUMBER
it 0? 1

sl E °°'“"°'f'r§°a§““88 NT HALT SET ??

SS _CONTINUE TO RESTART
MBUF

'
'
MOV R2 :
MOV %ﬂﬁ : s
MOV : = DBTB
18: CLR (R2) 3
cCC :
2s: MOVB uns:.amou :TEST THE MOVB
CMP RY msx T OK?
BEQ 1st12 F YES
3s: HALT WRONG RESULT
BR 18 .LOCK %‘.&"”

o A0 00000 000 3 000 006 I 30 36 360006 0006 30 3000 00 30 30 0 0 00 0 0600 SO0 S0 00 3000 00 30 300000 00 00000 06 3100 00 00 0100 30 30 30 34

'iTEST 122 BRSIC QUICK VERIFY TEST FOR BMI,BEQ,BVS,BCS-FLG=0
« SN HHEHEH HHHEHHHHEHHHHHEHHHH e

tar122:
MOV #122,R0 ::LOAD RO WITH TEST NUMBER
18: cee ;e&@ ALL }ans

es: BEQ 35 ;NO BR SHOULD OCCUR-FLRG=0
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' DOKDAB.P11

-

»adla

i
i
B

010714
810720
010722

10724
10726

010730

10732
1073

01073
B
167

s

2S5-APR-77 08:29

i

&IE% 000123

001402

0007

100402

30071

102402

012700 000124

0i2700 000125

Ti22  BASIC QUICK VERIFY TEST FOR BMI,BEQ,BVS,BCS-FLG=0
BMI 33 ;NO BR SHOULD OCCUR-FLAG=0

3“23 é&gﬁW@m

ol L S B TE

;-!lll{!Illl!llllIll!!lii!ll!llillliill!lllllllil!!l!illll!l!l!!i
kTEST 123 BASIC QUICK VERIFY TEST FOR BMI,BEQ,BVS,BCS-FLAG=1
ié??ES?!llll!{lIlllllll! lll‘ll!illll!
) $123,R0 ‘ikw NITH TEST NUMBER
18: SCC 3 N:C = 1111
218:  BEQ 228 s TEST THE BEQ-IT SHOULD BR
3s: HALT :BEQ FAI
BR 18 ;&oa Lﬁg RETURN
228: BMI 238 s TEST THE BMI-IT SHOULD BR
5$: HALT :BMI FAI
BR T3 ;Eﬁm LOOP RETURN
238: BVS 24$ s TEST THE BVS-IT SHOULD BR
78: HALT sBVS FAILE
BR 18 ;%oa LOOP RETURN
o4s:
BCS TST124 :;TEST THE BCS-IT SHOULD BR
qs: HALT : FRI
BR 18 ;goa Llﬁg RETURN

o o S0 USSR 0 0 00 O 0 300 0 SR S0 0 0 0000 0300 0 006 300 0 00 00000 30 6 0000 06 303036 0 00 3030 30 30 3600 30 30 30 36 36 0 30 30 3

s ETEST 124 BRSIC BVC TEST WITH V=1
DR HEHHHEHEHHEHE U

AET
MOV #124,R0 :;LORD RO WITH TEST NUMBER
18: SEV sMAKE V=1
28: : TEST THE BVC-IT SHOULDN'T BR
gc ’Enas 5;03 T0 NEXT TEST
3s: HALT :BVC FAI
18 E?Cmon L@ RETURN

;-llllllllllll!l!l*lll{!!Ililllll!lilllllllll!lllllllllllllIlllll

s KTEST 128 BASIC BVC TEST WITH v=0

}ég:;g?llillllililllllillllllllllllllllli!!!ll!llllllllll!l!lllll
" MOV $125,R0 ;;LOAD RO WITH TEST NUMBER

————— —an ———
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010774 000242

010776
01077 1

011002

38

11
11 01

011010

811618 oo

000126

d

A

-

-
L

o
P
s
o
P
£

#3 K8 BY B8
bl

1

3

000127

L LR ER ER R R ER EFEEEERFEF RRRRR

Bt B B e [OR e s e
et e B P = == P

5

1 000130

B e B b o B et s

NoenEwne—-0
[=]=]

00
Bt s s P et e LR

st

011060

| GO6

MACYL1 27(1% -77 08:37 PRGE 70
BASIC BVC TEST WITH v=0
1S: CLv ;MAKE v=0
es:
BvC TST126 ;s TEST THE BVC-IT SHOULD BR
HALT : FRI
BR 18 ;% L RETURN

R R EHEE RS

SIS 0 S 0 00 30 00 8

s : RREERERR
ATEST 126 BASIC BGE TEST WITH N,V = 00
DL EEREEHEHEHE I HEE

tor12e:

MOV 8126,R0 :;LORD RO WITH TEST NUMBER
18: cee sMAKE N:C = 0000
cs:

BGE 1ST127 ;s TEST THE BGE-IT SHOULD BR

38: HALT :BGE FAI
BR 18 ;gou RETURN
R T s T s s T T I TSI R IR PR TSRS R SIS SIS L SIS S

tkTEST 127 BASIC BGE TEST WITH N,V = Ol
"illl!lllllillll!{llllll!iil*!l!.’iiiQlli'!li"illllllllllllllll

tsr127:

#127,R0 :;LORD RO WITH TEST NUMBER

18: cee :CLEAR FLAGS

SEV ;MAKE N,V = 01
2s: TEST THE BGE-IT SHOULDN’T BR

? gnao 5;53 T0 lt# résr
3s HALT :BGE FAI

BR 18 : L% RETURN
;-llillllll!lllll!illlll!illlllllllllllllll!lllllllllllilllllllll
§TEST 130 BARSIC BGE TEST WITH N,V = 10
}égtsa?!lll{!ll&iilllllllll*lllilllll‘lllllilllllllllll!lllllllll

: $130,R0 :;LORD RO WITH TEST NUMBER

18: cee :CLEAR FLAGS

SEN MAKE N,V = 10
28: BGE 3s ; TEST THE BGE-IT SHOULDN’T BR

BR TST131 ;;G0 TO NEXT TEST
3s: HALT :BGE FAILED

B 18 :ERROR LOOP RETURN
;'illi!llllllllllllll!lllIlllllllllllllllllll!ll!llllllllllllllII
kTEST 131 BASIC BGE TEST WITH N,V = 11

ié??5?lllllll"l§llillllllilllIIlllililllllllIllll!lll!llllllllIl




e

3
2
O

L
Bt R
R

011060 012700

11
11

811070 ooe00:

Bil

2N

012700
011102

b
—— e
—_—— 00
o KT

012700

0o
= s =2 o B frmen e
s s s Gt Bt e [
b ot s == b eems oot
8 2 N8 ==

000773

(=] =]
— et s e pen [ =
e G A Bt == o = s

012700

FE &% & KR

1N

R N R P e e A T S R RaRe §

|
|
|
|
|
|
1

000131

000132

000133

000134

HOG

O G I O TGS BT TR T

MOV #131,R0 ;;LOAD RO WITH TEST NUMBER
18: :CLERAR FLAGS

%gcz SMAKE N,V = 11
es:

BGE TST132 ;s TEST THE BGE-IT SHOULD BR
38: T : Rl

Q‘ 18 : Lﬁ RETURN
;-lllllll!!lll!llil!!!!!i! FEBRERTEUAERRRRAE R SRR
:TEST 132 BASIC BLT TEST WITH N,V = 00
iégtssfllliilililllilli!l!lll!lilllllil!lllll!ll!!!l!!llllllillll

" mov 8132,R0 ::LORD RO WITH TEST NUMBER

18: cee :CLEAR FLAGS
2s: BLT 3$ s TEST THE %T;g SHOULDN' T BR

BR TST133 ;;G0 TO NE T
3s: HALT :BLT FAI

BR 18 5&&00 LQ RETURN

o o3I I 00 00 S0 I 000 0 00 00 0 00 08 3036 3600 00 363 S0 00038 S0 000 30 30 36000 00 30 30 00 00 0 0 300

*ETEST 133 BASIC BLT TEST WITH N,V = 01
"llllllllllllllllllillIlill.l!!lllll‘lllllllllllil.llllillll!!il

t81133:

#133,R0 ;;LORD RO WITH TEST NUMBER
18: ccC ;CLEAR FLAGS
SEV ;MRKE N,V = 01
es:
BLT TSTIM ;s TEST THE BLT-IT SHOULD BR
HALT ;BLT FRILED
BR 3 ;ERROR LOOP RETURN

o o 3036003000 063030036 00 00 00 00 00 00 36 6 090 30 3006 36 36 3600 00 0 030 30 36 30 00 3000 00 00 00 00 00 40 30 30 00 30 00 36 00 00 00 0 6 0 30 30 0

KTEST 134 BASIC BLT TEST WITH N,V = 10
'-ll!lll'llli!!!i!il!llllilll&IIlllllill!llll!llllllllll!llli!!l!

tST13M:
MOV #134,R0 ;;LORD RO WITH TEST NUMBER
18: ccC ;CLEAR FLAGS
SEN :SETN - N,V =10
cs: '
BLT TST13S ;s TEST THE BLT-IT SHOULD BR
HALT ;E.T FRILE
BR 18 ;ERROR L RETURN

;;illll!llllllll!llllllllllli!lll!lllllllll'llll!lIlllllllll!illl

- — ——




106
DS OO0 R B 00 [ BT 7, e

30q7 s #TEST 135 BASIC BLT TEST WITH N,V = 11
11 iégtsg?ll!lllllllllllllllllll!l!lill!illlll!llillllllllllll!lilll
0 giug 012700 000135 " MOV #135,R0 ::LOAD RO WITH TEST NUMBER
111 18: ; FLAGS
g Smg m 295 Ewmv = 11
111 2s: T sTEST THE BLT-IT SHOULDN'T BR
§ oi1ie GoaNGe B e 163 10 NEXT TEST
gmg 000000 38: HALT - :BLT FAI
m"" —vey o
gzaé ;-li!lll!lll!lilllllllll!lllll!lll!l!l!ll!iiilll!ili!lllllllll{!i
;§TEST 136 BASIC BGT TEST WITH Z = 1 AND N,V = 01
3903 - ié?}SEl!ll!l!l!ll I HHEHHHHHEHHHH
% 8111;8 012700 000136 " MoV #136,R0 :;LOAD RO WITH TEST NUMBER
011174 000257 18: cee :CLEAR FLAGS
a 011176 000266 266 :SET 2 AND V
10 011200 003001 2s: BGT 38 s TEST THE BGT-IT SHOULON'T BR
gg guane 000402 BR TST137 ::G0 TO NEXT TEST
13 011 3s: HALT :BGT FAI
gig 811% M BR 18 5% ng RETURN
3916 ;-l!lllllllll!lllll'll!llillllllllll!llllllll!llllll!lll!{llllll!
3917 s kTEST 137 BASIC BGT TEST WITH 2 = 0 AND N,V = Ol
11210 %é?}%??l!llllllll!llllllllll{llllllll!llllllillilll{ll{ll!lliﬁlii
guam 012700 000137 " MOV $137,R0 :sLORD RO WITH TEST NUMBER
11214 18: C . FLAGS
811515 % ggv :&W
11220 28: T « TEST T-17 NOT BR
811 M E ?gmo :TEE TM Loo?%t'i?
11224 000000 3s: HALT :BGT FRILED
11226 000772 BR 18 :ERROR LOOP RETURN

o oS30 IR0 00 00 0000 000 06 00 36 06 30 38 30 30 3606 06 30 36 030 36 06 3038 0600 30 06 3030 000 30 30 00 30 30003038 36 36 3036 36900 00 00 00 00 30 00 30 30 30 0

s TEST 140 BASIC BGT TEST WITH 2 = 1 AND N,V = 00
T T e T T T e S PRt TR A

B T LG

011230 té1140:
011230 012700 000140 MOV #140,R0 :;LORD RO WITH TEST NUMBER
11 : > .
oiis% 305l 18: U5 i ¢ FLAGS
011240 003001 2s: BGT 33 s TEST THE BGT-IT SHOULD NOT BR
011242 000402 BR TSTIM1 ::G0 TO SCOPE LOOP EXIT

13
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58 |
7
%

11
811 012700 000141
011254

o0 00
= poor

= e
B s Bt et

8{%: 012700 000142

11 000257
11 000266
00300

00 00O
=

ke 53

ot s P B fonts smrmty B ot

(=]
g

000143

W

(=]=]
W

¥

E

1 000144

SR S N e e 8

BRSIC BGY TEST WITH Z = 1 AND N,V = 00

®» BT s i BARoR"COOP ReTuRN

o SRR UL 2 0 0O R 00 00 00 00 00 00000 0000 00 0000 0 3640 30 0 06 0000000 000 0000 0 6 0 0

'irg. 141 BASIC BGT TEST WITH 2 = 0 AND N,V = 00
nunumm:nuumnu&mnuuiniulhnmmunuu

TéT141:
MOV #141,R0 :;LORD RO WITH TEST NUMBER
18: ccC ;CLEAR FLRGS
cs:
BGT TSTIN2 ;s TEST THE BGT - IT SHOULD BR
3s: HALT :BGT FAI
B 18 Eﬁm Lﬁ RETURN
3 2322223222222 22223T L2223 I!HHHH!H*#*!
RTEST 142 BASIC BGT TEST WITH Z = 1 AND = 01
?QT1q;?ll!llllll!llll!lllllllilll!llllil iil!!illi!l!llll!!l*lll
MOV $142, RO :;LORD RO WITH TEST NUMBER
18: cee :CLEAR FLAGS
2ob :MAKE N,V = 01 AND 2 =
2s: BGT 3 ; TEST _THE BGT-IT SHOULDN'T BR
85 TSTING ::G0 TO NEXT TEST
3s: HALT FAI
BR 18 Eam ﬁ RETURN

o SIS 300 0SS 3 I I3 36 30 006 00 0600 3 S 3000 0600 300 30008 06 3030 303050 00 00 0 00 30 3000 30 30330 30 30 38 36 36 38 36 8

'hesr 143 BASIC BGT TEST WITH Z = 1 AND N,V = 10
l““"llmmlﬂmuuﬂﬂmilﬂ'l!ll!lm'l!llllll

taT143:;
MOV #143,R0 :;LORD RO WITH TEST NUMBER
18: cee s CLEAR FLAGS
27 IMAKE 2 = 1 AND N,V = 10
2s: BGT T T THE BLT-IT SHOULDN’T BR
BR %Tm 10 r:gf ré
3s: HALT ,a.T FAILED
BR 18 :ERROR LOOP RETURN

o 3000000 S0 00 000 06 0 30 06 36 36 3600 36 3606 36 36 9636 36 36 30 38 0690 0 6 00 00 06 08 00 36 06 08 36 36 30 30 36 30 30 36 30 96 06 06 000 0 06 2 20

’hssr 4w BASIC BGT TEST WITH Z = 1 AND N,V = 11
lll“llllll!llllllllll!l"Illllllll!"l!"“l‘llll“l*lll{lm

St

MOV 8144, R0 :;LORD RO WITH TEST NUMBER
18: cee :CLEAR FLAGS

276 'MAKE 2 = 1 AND N,V = 11
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DQKDARB.P11

ke b et e

11
11

011350
0113s2

11354
11354

011356
011360

(=] =]
B b [l o ol Lo ol
Bt P [y P s e
£LLE £
[
£V O

25-APR-

012700 000145

012700 000146

012700 000147

012700 000150

KOb

TESTS MACYl1l 27(1006) @2S-APR-77 08:37 PAGE 74
TIY4 BASIC BGT TESTWITH Z = 1 AND N,V = 1]

C - T {TEST, THE BGT-1T SHOULD NOT BR
. e i PhtoR LOOP RETURN

3 & SRRSO IO SO 0 00 0 3 30 S O 3 S I S0 30000 S0 S0 3 0 S 0 00 30 3050 00 3 0 0

1ATEST 145 BASIC BGT TEST WITH 2=0 AND N, V=11
o s REEEE l!lll!ll!!llllilllliiﬁ!lllllllil!!!llil
t811u4s:

MOV 8145, R0 s;LORD RO WITH TEST NUMBER
18: cee :CLEAR FLAGS

272 MAKE N:C=1010
es:

BGT TST146 s s TEST THE BGT - IT SHOULD BR
3s: HALT ;BGT FAILED

BR 1S ;ERROR LOOP
;-Illlill!llllllll!llll!llIil!!llilllili!ll!!ll!i!l!l§lilllil!lll
:ATEST 146 - BASIC BWI TEST WITH 2,C = 00
}égt::flllll!!lllllllilllllllllllilllilllllll!l!ll!lll&l{iliil*ii

" mov #146,R0 :;LOAD RO WITH TEST NUMBER

18: ccC ;MAKE Z,C = 00
cs:

BHI 1STIY? s ; TEST THE BHI-IT SHOULD BR
38: HALT :BHI FAILED

BR 18 E&oa LOOP RETURN

o oS30 0000000 30300006 S0 I 00 3006 330 06 36 00 36 38 200 6 00 06 00 00 00 S-SR S 000 30 0000 3030 30 00 30 30 30 30 00 30 00 6 00 00 36 00 31 30 00 3

'kTEST 147 BASIC BHI TEST WITH 2,C = Ol
"illl‘il'iillli‘l!l’i’ililll'*l’*'**illli""!l'i!*‘llllli!lill{

tsT1v7:
#147,R0 ;;LORD RO WITH TEST NUMBER
18: :
ggg 5%?2,& = 01
es: BHI 33 s TEST THE BHI-IT SHOULD NOT BR
BR TST1S0 ;;G0 TO NEXT TEST
3s: HALT : FRI
BR 18 ;Moa L RETURN

;-lllllllll&llllllll!lllllllll!!li!!!il!ll!!ll&llllllllllllilllli
:kTEST 150 BASIC BHI TEST WITH Z,C = 10
--lll!!lllllll!lllll!lll!!Ill!!!lllllillllll!ll!lllllllllilllllli

t81150:
#150, R0 ;;LOAD RO WITH TEST NUMEBER
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TESTS MACYLl 27(1006) @2S5-APR-77 08:37 PAGE 75
TISO  BASIC BHI TEST WITH Z,C = 10

N e 2.6 2 10
s B 63 10 Nexr Thar- DUD NOT R

38: HALT : RI
ER 18 Em L@ RETURN
3 5 SISO S O I #55%
s §TEST 151 BASIC BHI TEST WITH 2,C = 1l
*g%tgtfillllllllil!llllIll!l!l!!lllii‘!llllllillllllllﬁlllllll!!l
" MOV #151,R0 ;3LORD RO WITH TEST NUMBER
18: cee ;CLEAR r%ms ‘
265 MAKE 2,C = 11
2s: BMI 38 ; TEST THE BHI-IT SHOULDN’T BR
&R TST182 :;60 TO NEXT TEST
3s:  HALT ;BHI FAILED
ER 18 ;ERROR LOOP RETURN

SIS 3 300036 S 006 00000030 0 0000 S0 0 00 3000 30 0 0 00 36 30 0 300 30 3036 0 0

§ s R
s KTEST 152 BRSIC NEG MODE O TEST : [DEST] GT O
D RERREEHEHEH I H I HEHH R R

t8r152:
MOV

1s: s‘%?:gqm %ﬁ&. (ﬁt"? - ; e
RARE N:E = 0110

; TEST THE NEG

;DID N:C = 10017

oV
&
es: NEG
[

£3- - I

3s: %T s gWELwLQrI&&TER CODES PROPERLY

Ys: cHP R3,RY s CORRECT RESULT?
BEQ 1stis3 ::BR IF YES

- g, LR e e

o+ SRR 00000 0 000 00 30 00 00 30 36 30 30 06 00 00 308 06 00 3096 040 00 010000 00 00 06 00 00 3600 3038 30 30 30 36 00 30 0 000 0 00 6 30

:&TEST 153 BRSIC *SUB 8,38" TEST
--Illlll!llll!llllll!llll!llillﬁllllll!llillllllllllllii!llllllli

té1183:

T T 0 o s
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DAKDRB.P1l  25-APR-77 08:29 TIS3  BRSIC "SUB 8,38" TEST
R2 sr
it i !!E.E B e B OWRT KT
-m cce ;
qix 011546 063312 28: SUB 82, JsMBUFO s TEST THE SUB
4 M mz) : ’
uﬁg Hg xﬁ % ’g i: 5 vg
i st i s R L e s
:} uﬁ : BR ; L TURN
4123 3 cRULERHBLPBERBASTERRRBERE FHERFEREE RN LR
-us KTEST 154 BASIC "SUB 38,RN" TEST
41 o %333 % % A3 3 30 0 3 36 3 30 96 36 36 3 3 36 36 3 3 3 % %
4126 011566 47154
:{ §H§ §iﬁ ﬁ - % 8154 ; ?h?o go WITH TEST NUMBER
4129 011 1 - 18: MOV ﬂiga :INITIAL [DEST] = 4
4130 Oll60N 000257 cce SYNC
4 011606 163703 063312 2s: SUB  JSMBUFO,R3 .n:sr THE SUB
413¥ 011612 020403 cHP RY,R3 s RESUL T=2?
:{g 011614 001402 BEQ 1stiss ::BR IF YES
41 11 3s: HALT : WRONG RESULT
:ig 11 % BR 18 :Mm
4140 § 5 SIIHIEIE I AR 3 3 HHHHHHEEE
-uas s kTEST 155 BASIC "RTS RN™ TEST - <N:C> = 1111
:i‘i:l " ?gﬂg&ummnmuummmmlumm!luiu
Y144 §u§ 81 000155 MOV s;s%m om RO WITH TEST NUMBER
4i4s 011 10605 MOV )
4i46 011630 gx% 18: MOV FOR ERROR LOOP
4147 011632 Ol 011652 MOV 848, R3 LOAD PC FROM (R3)
41 u& %g# 177777 MOV 8-1,-(SP) LORD R3 FROM STACK
:{ i1 SCC = 1111
:i 1 011644 2s: RTS R3 ;rssr THE RTS - GO TO 4§
4 11646 3s: HALT :RTS FRILED TO LOAD THE PC
:i 11650 % BR 18 :LOCK ON ERROR
41 ug % ys: % g; sN:C = 1111 ?
41 11
M gu 102001 BVC 5§
:i 11660 103402 BCS &S
¥l 1 : HALT RTS ALT ODES - CLERRED ONE
:ig Six 1 - BR 18 ho&“ﬁu%
4164 011666 020327 177777 BS: CHP R3, 8-1 :DID R3 GET LORDED FROM STACK ?
4165 011672 001402 BEQ 8% :BR IF YES

—— — e — -



MAINDEC-11-DAKDAR-B  KD11-K BASIC LOGIC TESTS

DGKDAB.P11  25-APR-77 08:29

i i o
iy i e

1N

ST

g g
NN EWN-—
o0 O

b= b = b=

L
R
—

Bii7te

(=]=]
= e fpen o e P e s
B B e = e = e

FeRevd #7

000157
000010 063234

012000

011774

06

MACY1l 27(1006) @2S5-APR-77 08:37 PRGE 77

TISS  BASIC "RTS RN™ TEST - (N:0) = 1111

78: %T
8s:

5t5
qs: HALT
-
s kTEST 156
tST156: -

MOV
18: ﬁ
es: RTS
33: gl‘l’
4% CMP.

BEQ
ss: ml{lT

s ¢ HEHHHHHEHHE
;iTEST 157
B HHHHE N HHHHHHEHH

EE&F&I‘LM LOAD REG

18
Tatise i0ID TS POP THE STACK POINTER ?
18 RTS8 FRILED TQ POP SP
’
FHSESHIHE S I ST I S0 O 0 030 30 00 0 0030 00 00 0 00 30 30

BASIC "RTS PC" TEST
* HHHHHHHHH

2R TSR,

’
e

848, -(sP) _%% ON STRCK

PC ; TEST THE RTS - GO TO 4§
18 108K ON-HReD ERROR '~
T5tier R

;RTS FAILED TO UPDATE SP
18 ;LOCK ON HARD ERROR

030303 35 306030 36 0038 00 36 36 3063006 36 SH0E-00 30 06 36 00 96 96 36 38 36 36 38 36 30 38 36 36 36 38 08 6 6 96 3

BASIC "JSR PC,a8R" TEST
HHHHHHHEHHHHH

tr157:
MOV 8157, R0 -;Lag NITH TEST NUMBER
.SBTTL cmmaf;fso int’'-- BIT
"ET: '9., .asnlocc § BREAK rTnm.rszr 7
HALT : - CONTINUE TO RESTART
MOV SP, RS : on 85'&”“39
18: MOV RS, SP . : FOR ERROR LOOP
cce ;
2s: JSR PC,3848 ;TEST THE JSR - GO TO 4§
38: HALT s JSR FAILED TO LOAD PC
BR 18 :LOCK ON HARD ERROR
4s: CMP 838, (SP)+ :DID JSR SAVE OLD PC ON STACK ?
BEQ 157160 ::BR IF YES
5$: HALT : JSR FAILED TO oLD PC
B 1s 130K ON-HIARD ERROR

o & S IR0 IR 000 000 00 0000 0000 00 0 3630 06 06 30 36 30 S0 06 30 06 00 36 06 0008 36 06 90 38 0 00 06 06 06 36 06 30 36 36 38 38 36 36 48 30 06 08 0 00 08 36 0

:kTEST 180.

BASIC “RTI" TEST - N:C=0000




P—

BO7

I -ll 91&-&2?51(: LOGIC FEES ﬁul “i‘%&l’ . N:C& 08:37 PRGE 78

000160

BisBs BRO%ER

mm 013702 177776
000357

§ﬁ ﬁ il

1

012070

012072 mwoz

1507 00070

L R e e o <N Y
= e e b s e

ﬁ:‘.‘

- .
- .
%4 012126

12l

B2 W2 I
12140 001

B3 Ee
el

012700 000i62

S#EEERR

1)

té7160: = 'g‘ g T ——

FOR ERROR LOOP

{P34] 3,000

18:

R

es: RTI ;TEST THE RT1 - GO TO 4

N YRR

ys: % ?hga %}%[Pﬂl IN R2

. BT RS

“« R B [REgme

ol L AT

tet161: oy 2? . § rg S e
% gs& §§ = 357

es: RTI ’TES'I’ THE RTI - GO TO 48

B BB

- B oS EURERRe

o S0 000 3000 0000000 00 06 003000 0000000000 300 00000 0 S S0 000 000 00 000 S 0 0 3

'lTEST 162 BASIC "I0T" TEST -VERIFY LORDING PSW WITH 357
R e e A T P e e L e e e e R e L

tar1g2:
MOV 8162, R0 s;LORD RO WITH TEST NUMBER




OQKDAB.P11
‘0279 0121S6 010605

12210

1'} D0000C

OQQOQQQQOQ;..SOM
2 lﬂﬁ

Bron s Bmen ot

£
NN EWN—O 2. ' \

1

1 |

1 1

1

153

1

1

012324 000004
12326 005137
12332 001402
ik 0%

:
B

mxm—um—n glgl BASIC LOGIC

B =

80036

177776
012214

177776

177776

000163

TESTS
Tiee

18:

s Siiaanaaiis

CO7
ﬁ'&‘ fort R m”aﬂd’ m’““fm %7

)

8528338

&?‘L N oo

28: 10T s TEST THE 107
38: HALT ;10T FAILED T0 LORD PC
BR 18 ;LOCK ON HARD ERROR
: MOV ] R2
- g :?.‘fe ﬁo Bﬁé& A 3571
R2, 38PSH
w il
BR 18 s ON
BS: CHP 838, (SP)+ :010 107 oLD PC ?
BEQ 8% ;&{ x*
R2, 38PSH :REST
78: WT ' 'ﬁ 9’53‘% % oLD PC
BR 18 :LOCK ON HARD ERROR
s TST (SP) ;D T OLD PSH ?
: @0 1eries %8 17 vee
o R
: T : A 0 OLD PSH
- 18 :LOCK ON
3 FRERGBUBR LSS B YRR ERESF LT AR R ELEP AT R ER R AR PR R RS
msr 163 BRSIC -xor- TEST - VERIFY LINKAGE TO m gmgs
tar
s “'3 g RO uo NITH TEST NUMBER
18: MOV ' cﬁn
G *SCOFLG™
S 3%' Tebhh
&E .scor: SYNC
28: SCOPE s TEST THE 10T
CcoM J8SCOFLG : SCOFLG BECOME 000000
BEQ 4$ ;aao'x} IT 0ID
3s: HALT 10T FAILED TO LINK TO SCOPE SERVICE
BR 18 :LOCK ON sgoa
Y MOV RS, SP :RESET SP IN CARSE OF ERROR




w&c-u% gxh-xagasxc LOGIC ﬁz"

B —

'm:sr 165

t41165:
1 000165

| 18:

177776

'msr 164
s HERERER
it
18: %
§ ‘ 2s: 10T
4350 01 ¥ 3s: NALT
% T o
N §{ 13 ys: MOV
% i i S0
§{aaz 010237 17777% o n"gl.vT
e R &
4%l 01 012404 6S: cHP
i %
1 177776 MOV
2 IR U . B
y 1 8s: 15T
151 158 B )
3 1 §}asu 010237 177776 - &vT
:ﬁ @:{9 ' EA
4375
7
]
]
4380
Yy
©
:§
W
Y
=
qg
i
b
Y

S
e
:
5 5 #2363

DO7

RS2 F0H RRdr ZTeRTPy Lonlidpek WiTH 257

#E%
BASIC "IO0T™ TEST -VERIFY LORDING PSW WITH 357““

Ly, Wi

-1 "%) xor SHOULD m -1100
v75u BRKE (E3H] = 000 p—
n:sr THE 10T

’ LB RS
e AR
e R -
gt,(SPH gaDI}OT oD PC ?
e R o
1eries o [FTEE OO P

R2,38PSH

18 "fé“rnx TOE% OLD PSKW

o S 0SS I S I 36 06 0 S 06 S0 00 00 0000 00 30 S0 00 0 0 S SR 3 330 30 30 36 36 30 0

BASIC IOT TEST - VERIFY LORDING PSW WITH 000

o ORI 0 000 OO O O SR 30 000 3000 00 00 30 0 S 00 0 3000 0000 S0 300 030 30 30 30 00000 06 00 00 3000 30 30 31 30 30 3 30 6

T e

égﬁaoeo UP 10T VECTOR
, J8PSUH

m Npg“llll

; TEST THE IOT
d8PSW,R2 T_THE [PSW)
6S IF (PSW] = 000

B S S ——




: MAINDEC-11-DOXDR-8  KD11-K BARSIC LOGIC TESTS MACY1l 27(1006) 25-APR-77 08:37 PAGE Bl

oam Pll  25-APR-77 08:29 TIeS  BASIC 10T TEST - VERIFY LOADING PSW WITH 000
g slg % 177776 MOV R2,38PSH ﬂE? G?
3s: HALT : FA 10 THE PSH
ol s TSR T
012536 010506 6s: MoV RS,SP ;RESET THE SP BEFORE CONTINUING

BR300 006 0000 00 000 0 O 00 000 00 B0 00 0 03 30 00 00 00 330 30 O 30 3 0 0 O 5% 3% 3 B
'm:sr 166 BRSIC “TRAP™ TEST - LINKAGE TO PRINT ROUTINE
!!lllllllllll!lllI!iill!lllll{l!llilllillli!iilllll!ll!llllllll

000166 HéTise " MoV ﬁsgm ;1L0AD RO WITH TEST MUMBER

18: %88 X ; OR ERROR LOOP
b G e T TR e

000034 oV w'%?m.am —

28 TYPE sTEST THE TRAP
063166 000034 oy %%m ;SETUP TRAP VECTOR
e & i SHRUR TG pPRIFLG) = 000000

3 HT Emp FAILED T0 LINC TO PRINT SERV.

o SHSHIE S IO 0 00 0 TR0 I 0 SO0 0 0 00 S 0 0000 S B 00 0 S 0

'irzsr 167 BASIC "EMT™ TEST - LINKAGE TO ERROR SERVICE
o S0 3SR 000 00030 3 0 00 06 05 30 30 3 3 38 36 06 06 6 08 3 36 06 36 36 048 38 3098 98 6 3 3 3 98 998 330 3 38 98 36 96 3 0 3 3 9% 3% 3 9 % 3% 3% 3 % %

téT167:
000167 % é&? RO 0RD fg ém TEST NUMBER
18: MOV 5 %g OR ERROR LOOP
X204 aova §cﬁm ,3830 :GET UP THE ENT VECTOR
Y CLR ﬁim : ICE WILL COM [ERRFLG)
s $ EROPE CYNG
2s: ERROR s TEST THE EMT
063240 coM RRFLG :D1 . COM ERRFLG?
BEQ ?5170 5;32 rf'mvgnv
3s: HALT EMT D LINK
B s DUCOR HARD-CRROR ¥ ERLY
3 llllllll!llllllllllll!lllll!llillllllllll!llllllll!lllll!ill!l!
m:sr 170 BASIC TEST OF RSVD INSTR. TRAP LINKAGE
tggtgallllilllllllllllllllliilll!llllll!lll!lll!l!llll!lllll!lll!
000170 w 725 ;Ekom gm TEST NUMBER
061114 000010 MOV T.3810  :SET UP RSVD INSTR. TRAP VECTOR
000340 000012 MOV mo. nlz

— - U p—
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. MAINDEC-11-DOKDAR-8  KD11-K BRSIC LOGIC TESTS MACYll 27(1006) @2S-APR-77 08:37 PRGE B2

o 00 3B 0 SO O O S 3030406 30 00 36 06 00 3600 00 36 00 0000 00 2S00 SO S0 3 0 S0 00 30 30 30 30 0600 30 3 0

'lTEST 172 BASIC TEST FOR ACCESSING DL11 REGISTERS
< 300U 03 3 000 0000 6 0 00 06 0000 00 0 3 38 3% 98 96 36 30 36 36 3% 98 06 06 40 30 3 38 98 3 96 6 36 38 3% 36 3 9 96 3 38 3% 3% 9 9 3 3% 3% 3 3 %

nam P11l  25-APR-77 08:29 TI70 BASIC TEST OF RSVD INSTR. TRAP LINKAGE
wy? 01 18: MOV RS : SP FOR
Yusg 815% m 063246 CLR ankgvn.'c h"uﬁx'm.x % s£mr“&u. GET
% 012714 cee :
:3 012716 000007 28 000007 s FORCE RSVD INSTR. TRAP
1 137 063246 JSRSVFLG : TEST SHOULD GO TO 000000
wes 1o SOnad 2 % BR IF TAAE SPRUNG
1 3s: HALT . NSTR., TRAP FRILED
g 81 M BR 18 5L3§ &4 HARD ERROR
Wil 01 12737 10 9S: MOV 3810 sSET 1 TRAP VECTOR TO POINT
Y46 | 1% 31 37 %53‘8 %12 MOV mha ;?5 mgnmm
Y463 3 T ITIzITI ST I TR R T2 R R e R R R R R e R ISy RS eSS Y]
[t ln:sv 171 BASIC TEST OF BUS TIMEOUT TRAP LINKAGE
4455 R RBFERB IR EBNAR TR NN NSRS R ts212213
15;2 1171
ws'"’? { oimo 000171 % 8171.R0 "3 s;m TEST NUMBER
:303 }% E{% %gs 000004 % g‘gr N :g’r‘ AUS ERROR VECTOR
w7l 01 1 - 18: MOV .zs;r
u 12772 005037 063250 CLR J8BERFLG s INITIALIZE TE nmlu LL GET
W2 012776 :
hala. 000257 cee é&ismc' !“ -
::;g 013000 00S737 177700 2s: ST 38177700 ;FORCE BUS TIMEOUT USING RO ADOR.
W78 013004 00S137 063250 CoM J8BERFLG ;rgr W T0 000000
wg 013010 001402 BEQ 1STi72 :BR IF
Y481 013012 000000 38: HALT :BUS ERROR FRILED TO SPRING TRAP
Y482 013014 000765 BR 18 :LOCK ON HARD ERROR
ﬁ iﬂiz 1 000172 Hrize: MOV Lom m NITH TEST NUMBER
wigd 01 ; ug CLR ra?g 'im
ﬁ 1 7 118: gg ! 'ﬁ"
i i 013074 000004 m aw serwws*"&nﬁon
R S 55-% " on oo
oi |1- 177560 % sRESR, R2 [RE] - smmmc DL11 ADDR.
% 1 28: ST (R2)+ ; DL11 - RCSR
1 18T (:su ; u ROBR
1 157 (R2)+ : u - xcsa '
1 71 15T (R2) : 11 - '

- —— —— e —— ——— e . e

- ———

l
|
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MAINDEC-11-DAKDA-B  KD11-K BASIC LOGIC TE%.T,S MACY11 27(1006)

DOXDAB.P11  2S5-APR-77 08:29
& 013072 000403 g5 g
B 3 Oim 005742 3s: rTar -(R2)
2% B
10 0131 1 ys:
el S31% 8i%7% GRiF8 5330k M m :mz*
:zlg 3 lllll!ll
1 s hTEST 173
Y14 CEPRERREERANESNERR RN RNER
éi; Hl 1 %3 Hri73: MOV sl %
17 0131 1 MOV
18 0131 c‘mam MOV Ry
Rl Sl g g)
131 cce
013140 020412 2%: s RY, (R2)
455 oiaiwa mwo? BEQ ;srm
2 3 & 5
Y, §13st 011203 MOV (R2),R3
13152 : T
§ 13125 Coovee ot B A
§ 'iTEST 174
013156 taT174
3 1iE 1 e BB
1
¥SY0 013172 :
13176 Oo0oes -
013176 020M12 2s: CHP RY, (R2)
013200 001403 BEQ TST175
13202 011203 MOV (R2),R3
1 35: HALT
R b g
% 'iresr 178
igig 1 75 Hrizs: MOV
20 AR P i E
4558 013224 gxgxa % 18: MOV w,(he)

GO7

eS-APR-77 08:37 PAGE 83
BRSIC TEST FOR RCCESSING DL11 REGISTERS

;G0 TO NEXT TEST

R e

175" ehRok SeRvicE ROUTINE |

#EEE

CAUSED TIME OUT

NSIC TEST OF oux = XCSR - mu)

BhLz.

; TEST RERDY BIT - IT SHOULD BE SET

S g
%ﬂs@ P oo o8 @

—

o S99 00 3303000 0038 36 00 38 36 0 30 06 060 00 06 3000 3000 306 000 3 00 0300 00 00 00 0 S 00300030 3000 0036 0000 30 36 0 00 30 30 0 00 01 8

BASIC TEST OF DL11 - XCSR - MAINT BIT (0)
ilill!iIl!lll!lllllllllllilllll!ll!llllllllllllllllll!ll!llllll

e,

% MAINT. BIT

,TEST MAINT(0)
;;BR IF MAINT BIT CLEAR

;GET THE WAS DATA
;CAN'T CLEAR MAINT BIT
;LOCK ON HARD ERROR

o 30030363890 00 9038 36 38 30 3606 08 36 36 36 38 36 36 36 06 36 30 30 38 36 00 00 38 00 00 00 00 00 0000 00 0000 3030 000 30 36 00 00 30 36 00 30 30 06 00 30 30 90 3

BASIC TEST OF DL11 XCSR - MAINT BIT = 1
R L T e e e e e e e e

&W RO HITHCEST NUMBER

(S et 817

e

e ———— - ———— ———




DQKDARB.P11

A2a R M R T O

00000 0000 000 00 000000 000000000

T I T T T T T T e i T e e e e e
o E

SEEFF

LWN—O

013230
013232

o0 BUSRNYY

& & 4% 0

SHeRY 9RY3 BOY BA R

2S-APR-77

000257
o2oMi2
001
011203

8

=

[ Ny — 8
% E

—
o

4s:

HO7

MAINDEC-11-DAKDA-8 11-K BRSIC LOGIC TESTS MACY1l 27(1006) 25-APR-77 08:37 PAGE B84
i moaae T17S  BASIC TEST OF DL11 XCSR - MAINT BIT = |

;SCOPE SYNC
RY, (R2) sTEST MAINT. (1)
TST176 s3BR IF IT WAS

. m'ﬁn mMn IN XCSR

u 1. qﬁmlm CGSISTS

XF AN S ner-

il

%ﬂz H}O mfﬁT m}: BUFFER TWICE

84, 4(R2) : TURN m NT MODE
R
(ﬁw,sma) : 'f 'oLu
(R2) : ; SET ?
3’ 26 ﬁ TIMER
zi ;gg”',, NO TIMEOUT
:DL11 FRILED TO RESPOND IN TIME
&S :LOCK ON HARD ERROR
(R2), (R3)+ :READ THE DL11 INPUT BUFFER INTO CORE
:COUNT ONE CHAR
18 :BR IF NOT DONE 8 CHARS
V10-RS  REGET CHAR COUR
+180F,R3 *RESET MM
$OBUF | RY :§§T IN
(R3)+, (RY)+ : INPUT = QUTPUT ??
;? F NOT
: COUNT ONE CHECKED
sBR UNTIL
CITST :GO TO NEXT TEST
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mmcc-u-om. ) KDH-K BASIC LOGIC TESTS MACYll 27(1006) 25-APR-77 08:37 PAGE 85
DAKDRB.P11 77 08:29 Ti76  BASIC DL11 OUT / IN ECHO TEST (MAINT MODE)

w615 m:m 5§: -(R3),R3 N R3 (8115 7:0)
b g % E%Eg 2107480 3 gm ?F BITS (1 gl o
% n%.m
13 Oivioe W .wxveo ATA NOT_EQUAL TO OUTPUT DATA

P D frmn
o

F

. — ———— -




. MAINDEC-11-DGKDR-8  KD11-K BRSIC LOGIC TESTS MACYll 27(1006) 25-APR-77 08:37 PAGE 86

' DAKDAB.P11

== e et

=t ok Jeen frm e fomd Bemed fmth e () §me GuaD G ot fd B s

P

SN R et R b bR R B SR SRR LRI CRLELEARSETEE

RIS

]
|

25-APR-77 08:29

000200
013614

Ti76  BASIC DL11 OUT 7 IN ECHO TEST (MAINT MOOE)

|
; 0000000000000 0000000000008 00 0000000000000 0000000000000 00000000004009

CITST: MOV ,3820  ;SET UP I0T VECTOR
ﬁ 830  ;SET UP EMT VECTOR
oV 834 :SET UP TRAP VECTOR
MOV .g-a sSET UP POMER FRIL VECTOR
Vs oo uot sxzz BIT SET?

BPL - ﬁ HARDWARE SWITCH REG
3s: BeY % xf.w ﬁxﬂ gf INeCTHTRO. 1.D. MESSAGE?
WOt Oyl T

COM S8ONCE 5 rr: % PRINTING AGAIN
TYPE ;
18: gem ' av?i :
my T aemenn | fbi"glg LIS
MOV RO, 98STES
lllllll!!!il!ll!ill!lllll&llll&lll!lllll!lliilllilllllllllllll
'hsm 177 BCC TEST WITH C=1
tg;:;;Illlllll!lllllllll!lll

'2% Rl usﬁiré?%#rm WORD

T IT SHOULDN'T BR
5:58 10 "EXIT

SCOPE
v iRl
SEC

s K o

3s: ERROR S ;BCC FRILED

o SHSHIE 3033 30 06 0036 003036 36 36 38 36 06 36 36 06 S0 06 303006 090 36 00 36 36 00 00 06 00 00 00 0000 00 00 0006 30 00 36 30 36 30 00 00 0000 30 00 00

'm T 200 BCC TEST WITH C=0
o S0 300030 0 30 38 30 00 06 30 08 38 36 08 96 36 5 3 3% 3% 236 36 3 3% 96 36 96 36 96 30 3% 3% 96 36 3 3 3% 3% 3% 36 3 6 3 3% 36 3% 36 36 36 3 3 3% 36 3 3 3 3 3

t&200:
s"gv L THE SCOPE LOOP UTILITY
MOV 532 Rl : '&g Rl ux*u Ttrg xﬂ RO TRUCTION WORD
cLC
cs:
BCcC 157201 : s TEST THE BCC-IT SHOULD BR

3: ERROR S ;B8CC FARILED

e ———— —— —— -




£ L

;
1F -
3

7 08:23

BASIC LOGIC

1801

KO?7
VEKIFY N0 BRANCH RICROROUTINE DOES NOT CLA FLAGS

;@Izsr 201
tére01:

3HSHHEHHHHHEHHHHHHHHHHHHHHHEHHEHHHHHHEHHEHHE
mxnmmnxmmmmm%

o ins e

PSH
;DEST = PSH FOR ERROR CALL

Re ;
;MAKE N:C = 1111
33 ; TEST THE BCC-IT SHOULDN'T BR
a8PSW,R3 ;GET WRS FLAGS
R3,RY sN:C = 11117
1staoe ;;BR IF YES
1 ;NO BRANCH MICROROUTINE ALTERED CODES

:imr 202 VERIFY BRANCH MICROROUTINE DOES NOT CLR FLAGS
tére02:
Poho HO RITH TESY MPBER |
8202, ssl =
MOV ao;s Rl :(ORD Rl WITH TEST INSTRUCTION WORD
A 1378, Po
. :DEST = PSW FOR ERROR CALL
sCC sMAKE N:C = 1111
2s: BR yg : TEST THE BR
3s: ERROR 5 sJUST IN CASE THE BR DIDN'T WORK
wom R e
&'5 15t203 E;£ IF v&
5$: ERROR 1 ;BRANCH MICROROUTINE ALTERED CODES
33 8 ZEBERBEFE BB LN B A REFE RGP LR DLV ERER AR AR ERBF RS LR
:kTEST 203 VERIFY NO BRANCH MICROROUTINE DOES NOT SET FLAGS
éé:soamumuununummuummummmm
" SCOPE s CALL rg scmrtsogr UTILITY
MOV 8203, RO :-LOAD RO WITH NUMBER
MOV S‘.oas.m ;‘gjo s% WITH TEST INSTRUCTION WORD
CLR : =0
MOV 8PSW, R2 :DEST = PSW FOR ERROR CALL
cce sMAKE N:C = 0000
2 BCS 3s s TEST THE BCS-IT SHOULON'T BR
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MAINDEC-11-DAKDR-8  KD11-K BASIC LOGIC TESTS MACYLl 27(1006) 2S-APR-77 08:37 PRGE 88
DQKDRB.P11 08:29

E%W‘”’“

01377‘0
014000

014002
014004

2S-APR-77 08

Biugis B073

014014
014016

014020

B

014034
014036

014040

000205
014034

Te03  VERIFY NO BRANCH MICROROUTINE DOES NOT SET FLAGS

3s: ERROR | sNO BRANCH MICROROUTINE-ALTERED CODES
;-nmummmumnmmw
;igr 204 VERIFY BRANCH MICROROUTINE DOES MNOT SET FLAGS
R T T T T T T T T e R R e e i et ]
tsrooN:
i sm'
ﬁ aﬂﬂ :@n u! tég?. ﬁﬁnm WORD
MOV 8PSW, R2 :usr = PSH roa ERROR CALL
cee sMAKE N:C = 0000
2s: BR 4§ : TEST THE BR
3s: ERROR 5 s JUST IN CASE THE BR DIDN’T WORK
ys: ngv 38PSH, R3 sGET FLAGS
ST R3 :N:C = 0000
BEQ TST205 ::BR IF YES
5$: ERROR 1 s BRANCH MICROROUTINE ALTERED CODES.
3 X ETTITTIILITTIILESETLLL LR FUUBLBRBLRARREE
irssraos BLE TEST WITH Z = 0, AND NV = 00
fSraos -
umm
o e Lo R T
oy 060 i,
2s: BLE 3s :TEST THE BLE-IT smtum'r BR
BR TST206 ::G0 TO SCOPE EXIT
3s: ERROR 5§ ;BLE FAILED
3 m&mununmuuuuuunm&umumnluliuum
t ATEST 206 BLE TEST WITH Z = 1 AND N
thuuumuuuunuummnumuhuuuulummluu
m ﬁg:ﬁ '%m uﬁi!:rftg?'MnM WORD
cCcC
SEZ ssr 2 - 1
4 ¥
BLE 157207 s s TEST THE BLE-IT SHOULD BR
3s: ERROR § sBLE FRILED
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MAINDEC-11-DGKDA-8  KD11-K BRSIC LOGIC TESTS MACYll 27(1006) 2S-RPR-77 08:37 PRGE 89
08:29 Te06  BLE TEST

DAKDRB.P11

338333 |

5k N e L

25-APR-77

181

1 -

=
3

=]
g
-
o
[y
o -
b
*0—
—

3 5

=5
3%

101401

WITHZ = 1 AND N,V = 00

HATEST 207 BLE TEST WITH 2 = 0 AND NV = Ol m"""
11207 et e ;¢ 753%:{;? UTILITY
'33 sg:m :@n W 1 TION WORD
&5 SMAKE Z = 0 AND N,V = 01
% me  rsta10” ;;TEST THE BLE-IT SHOULD BR
38: ERROR S sBLE FAILED
3 12 2223222222223 2222222322222 222 2R eI s 222222223
lm:sr 210  BLE TESTWITH Z = 0 AND N,V = 10
%von: $210,R0 :%% s?g::tgor RBER |
3828 Rl : WITH TEST INSTRUCTION WORD
% :%z AND N,V = 10
TR T ; :TEST THE BLE-IT SHOULD BR
3:  ERROR § ;BLE FAILED

3 c BHNNRNBRNNRRR RN R RN RRERRRERRRRNRRRRBRRNENERRERRERE RN NE
hesr 211 BLE TEST WITH Z = 0 AND N,V = 11 T

? g:sﬁfuimuuumu!m
8211,R0 isl 75 Eg?ﬁ‘rt&?'ré’.'&i"

nog 3828 R1 ;tonga G i TEST INSTRUCTION WORD

gg? :% Z=0AND NV =11

@ B e 160 10 ScoPE exrt o | BR

3s: ERROR S ;BLE FRILED

¢ S50 30000 0000 0600 3600 36 360000 36 30 3608 36 36 36 3636 36 36 36 36 38 98 36 6 3096 36 36 36 90 36 36 36 3036 06 38 36 36 38 38 36 36 48 38 6 00 00 06 360 36 3

'hssr 212 BLOS TEST WITH 2,C = 00
llllllllll!ll!llll«llll““ll!lli“ﬂwmlﬁmlm{“

tira12:

SCOPE
m .ala.m ' ?ﬁ
E:Kg\cl d828,R1 f.“? Rl WITH TEST INSTMTIW WORD

es: BLOS 3§ ; TEST THE BLOS-IT SHOULDN'T BR




DOXDRB.P11  2S-APR-77 08:29
014172 000401
014174 104005

141
14
i
iNeie booeel
gi 14 101401

014216 104005

14236 101401

:
:

1
1
| 1 000215
M 014260
14
1

014260

014260 101401

014262 104005

bR s R LR R R SNSRI E
s §

NO?7
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Tel2a BLOS TEST WITH 2,C = 00

BR 151213 :;G0 TO SCOPE EXIT
3s: ERROR § :BLOS FAILED
3 FUBERERALFELERE 1223222222223
m:sr 213 BLOS Tswwl
398 90 9636 36 9 38 98 96 96 6 36 3% 3% 36 9 9 3 3 3%
'rsma-
213,80 -1&§' ’?ﬁﬁéﬁf
| aogim : lu W TION WORD
'.%g : = 01
cs:
BLOS  TST21M s s TEST THE BLOS-IT SHOULD BR
3s: ERROR § ;BLOS FRILED
; HHHHHE T G
m:sr 214 BLOS TEST WITH 2,C = 10
%?gruumumnmnnh
mscopt e He umm LOOP UTILITY
MOV 3328 R1 &éﬁ: h.ag" n’:ﬁ x%ﬂﬁnoﬂ WORD
ccC
SEZ :MAKE 2,C = 10
cs:
BLOS  TST21S : s TEST THE BLOS-IT SHOULD BR
38: ERROR § :BLOS FAILED
3 CRBELBNPEERESRRERESBHAB LG R BN YRS RRRRES SR
lm:sr 215 BLOS TEST WITH 2,C = 11
lillll&llll!l!lllll!lllilllili‘l!lilll 363698 98 36 36 38 3 3% 3 3 3 3
Hrais: SCOPE um TY
MOV 8215, RO si;ﬁsrgs
% 3828 'Rl ono R NI T INSTRUCTION WORD
265 nnxs z =1l
es:
BLOS  TST216 * ;;TEST THE BLOS-IT SHOULD BR
3s: ERROR 5 ;BLOS FRILED

llliiil!ll!illlllllllllllliilliilllillllIlllilllll!illlllllll!l

’hssrans SXT MODE O TEST WITHN =0 AND C = |
R EREP SR RSN R RS LE R R RN R R R N U DU R R LSRR AR R LR R PR B RN RS

t&T216:
SCOPE t:mdl‘,i
% 3% no | : :iﬁ W1 isi Tti msrmcnon WORD




wc— %w&gﬂsxc LOGIC E

iy

mmﬁiﬁmmmmmagéﬁégém

14

17

s”i"&%i’ '8

808
-77 &S‘I PRGE 91

Ns=
$ /8=0
l-l.R3 i IN T oP =
NG =
28: SXT R3 s TEST THE SXT
% a sDID SXT MAKE N:C = 01017
3s: ERROR 2 ;SXT FAILED TO ALTER CODES PROPERLY
ys: 1 : T =07
B B %R 1 oo
5§: ERROR 2 sSXT DELIVERED MRONG RESULT TO R3
'htsren SXT MODE O TEST MITH N =0 AND C = 0
EREBRERRY
fs'ran
2y, 0 10 USR rECT et
?i : !ho n NI TION WORD
.SBTTL uf
g .8 ; "sm MALT SET 77
T : - DEPRESS CONTINUE TO RESTART
CLR RY ; ? z
@};’ #-1,R3 oP = 177777
cs: H
?cg ?grezo ;Iﬁ "Mc?“ STILL CLEAR
3s: ERROR 2 ;SXT AFFECTED *C* BIT
3 B ERR AR ER R R RN B R PSR RSB E R RGN B RN RS NS R R RN BN RN AN B R R
h:sraao SXT MODE O TEST HITH N = 1 AND C = |
e O 300000030 00 000 00000 0% 08 00 00 0038 3% 08 98 96 0690 3 90 98 08 06 6 30 0 98 96 38 40 3000 98 38 06 95 30 S0 9 38 36 O 38 34038 3% 3 36 0 3 3 3 %
tSre20: ——
MOV 8220, RO : E,F
MOV 3828 Rl ; m u TION WORD
MOV -1, ﬁll
% R3 xu u. u:s ov =0
m N:C =
28: SXT R3 s TEST THE SXT
ﬁ g ;N:C = 10017

s e e =



mﬁﬁﬁgﬁ%ﬁﬁmﬁﬁﬁ :

=
AS
3
[ JN

s01

i

. e ————

I 25-APR-
Ol1¥i2e 103401

0130 10%002

[

1¥3 001401
01440 104002

I
1Y

104001
dlvess Di%07 O19RLE

CO8

-}1-&@4 gl&*amlc LOGIC TESTS &Y J&l%‘r “m “% 87

3s: ERROR 2 sSXT FAILED TO ALTER CODES PROPERLY
: 17 G0 T0 0
BEQ 151221 s '&‘“&?
58: ERROR 2 ,SXT DELIVERED WRONG RESULT.

’&resraax SXT MODE O TEST MITH N= 1 AND C = O
GHBBUFRRURERRREEERERERRE

-

ROV ezl
ROV ;?mﬁ

%

es: :

% ?greaa E;Tg u“ UNRFFECTED
38: ERROR 2 ;SXT SET =C* BIT
3 BRI R RN R E RN R R AR B R RN RN AR R ARG R F R R R RN
htsrazz SXT MODE | AND 2 TEST WITH N = 0 AND C = |

 REPEPEEHPRRRBERRERR LRSS

tira22:

BV a5 Rl i lu u %#non WORD

MOV  #MBUFO,R2 :

CLR RY :

g% 8-1, (R2) S IN 1 z 177777

: = 0011

2s: SXT (R2) ;rssr THE SXT - DMI

g g sN:C = 0101

"]

3s: ERROR 1 sSXT FAILED TO ALTER CODES PROPERLY
4§: 15T (R2) :DID RESULT = 0?

éo 11 5&5 IF ?é
5§: ERROR 1 ;SXT SHOULD MAVE ZEROED (DEST)
118: MOV SMBUFO, R2 ;DEST ADDR = ’?{?

MOV 38128, A1 :LOAD R1 WITH TEST INSTR WORD

————— e ——— - =

o — e — = = -
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DAKDAB.P1l  25-APR-77 08:29 Te32° X7 MOOE 1 AND 2 TEST WITH N = 0 AN € = 1
21 B g@ ﬁ 177777 My R j ST) = 177777
sms 23 'MAKE M:C = 0011
1 014566 006722 128: SXT (R4 s TEST SXT - DM2
1 ;N:C = 0101 ?
i% R
1 103401
014600 104001 78:  ZRROR | ;SXT FAILED TO ALTER CODES PROPERLY
500% Qiuce Qos737 063312 6: 15T 3IEUFD ;&{",F&';T GET ZEROED ?
014610 104001 9:  ERROR | sSXT FAILED TO ZERO (DEST)
R GO F RETe G
014620 104001 ERROR 1 ;SXT FAILED TO AUTO INCREMENT

S

I Y T IYIYIYIYIIRYITIYISRRTRTICOYYTTRTITYTRE SIS S22 2 2
'h:sr SXT MODE | TESTHMITHN=0AND C = 0
FEEEBP LR BB R R LR R BRSNS E AR RS SR U IR B R AR E N BB E ARG HI BB HR AR R RRY

ig 151223 N

1 1 000223 W 8223,R0 : m&i

{ﬁ 1 014650 no; g'oas 'R1 .so m u r xusmucnou WORD
1 1 063312 %v SMBUFD, R2 : T OP
1 177777 MOV #-1,(R2) i INIT q, (nﬁn = 177777
1 ccc .

014650 006712 28: SXT (R2) . T

014652 103001 BCC TST224 ”ﬁ xrwc‘ UNDISTURBED

014654 104001 3s: ERROR | sSXT SET THE "C* BIT

IIlllllli!llllll!lllllllllllll!lll!l.lllllllllillilll!IllllQll!

’hssraa SXT MODE | TESTMITHN = 1 AND C = |
SN0 00 0 00 0 00 6 6 30 0% 06 38 08 30 3038 98 06 96 96 30 30 36 3% 96 30 3 30 30 3 3198 3 06 0 3 36 3 3 3 B

et L

sng T§ 0E T N
(R2) INIT DEST] =
SCC MAKE N:C = 1111

3 TEST THE SXT

e
sae
55

=3

1

N el e e e e e

S 33N
5
A

g
—
n
%
2
—
—
&

(=)
—
£ L
S
—
o
—
gg
=
[ =]
3+

;N:C = 1001°
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014724

naxmsc—u-oam—o KD11-K BRSIC LOGIC TESTS
DQKDARB.P11 -APR-77 08:29 TeeM

B 4o

{
8%‘:’

104001

&

EO8

) 08:37 PAGE M
THITHN! 1 AND C

s ]

3s: ERROR | sSXT FRILED TO ALTER CODES PROPERLY
48 (R2) . RM : 1 = 1777777
e 1558 RERIF vES
c$: ERROR 1 :SXT DELIVERED WRONG RESULT
3 RSN ER SRR RIS SR BL Y B R AR R SRR G PR AR TARERARE RN R R RS
ATEST 225 SXT MODE 1 TEST MITHN = 1L ANDC = O
fg;;;;!lllllll!llllll!ll!llill!lll!!!!llllll!ll!!!lllllllllllllll
: Y
8225, RO s9fhho‘iﬁ ﬂf?ﬂ‘rkg?'nﬂﬁﬁkl
MOV 3828 R1 : 1 WITH TEST INSTRUCTION WORD
MOV e-1,RY : /8= 17
MOV sMB(F O, R2 ; T§1?E
535 (R2)  INT =0
276 :nnxs N:C = 1110
cs: (R2) T
355 rgiaas 5:53 xg"icsxunnrrscrsn
3s: ERROR |1 sSXT SET THE "C™ BIT

o SO SO 00 S0 IS0 36 0 00 30 330 0600 30 00 30200 6 0000 00 000 00 00 S90S 00 3000 0 SO0 S 30 3000 00 0000 30 3000 0 00 30 2

'h’EST 226 SWAB MODE O TEST WITH POS. RESULT
R HH R R R R R AR

TR
gov 37/. o :m%m nes? 0P =
: = 1011
es: SWAB R3 ,TEST THE SKAB
Egé +N:C = 0100
C 4s
38: ERROR 2 ;SWAB FAILED TO ALTER CODES PROPERLY
w o ge W o mun
SS: ERROR 2 ;SWAB DELIVERED WRONG RESULT

3 BHOEIAA BRI 00000 0 N HHHHHHHHHHHHHHHHHHHH
lTEST ee? SWAB MODE O TEST WITH NEG. RESULT




DOXDAB.P11

£
—

015074

iy cnuan
Bt o e Bt Pt s Pt Pt P Pt Pt P s Pt Pt Pt P P P

015076
015100
015102

SEHESS

Ao drdfddrdtd
2RHRRERR2E

[ ol gl onioni o onlonioniLond

8333 A LIS EIFRILRZE S BIRRLLNLB 56

MIINDEC-11-DGKDA-B  KD11-K BRSIC LOGIC TESTS MACY1l 27(1006)
25-APR-77 08:29 Tee?

L
s

8

o
e

— —— e =

FO8

25-APR-77 08:37 PRGE 95
SHAB MODE O TEST WITH NEG. RESULT

Illll!llllilllll!liilllllllllll!ll!!ll!lll!lllllllllllll!llllll

tit2z7
; CALL scort LOOP UTILITY
E§§ ig;;:gg : gx u?‘u 3;7 TION WORD
MOV #177900,R3 :ékzzz " 177400
523 : = 0111
2s: SWAB R3 ; TEST THE SWAB
% § :DID SWAB MAKE N:C = 1000
38: ERROR 2 :SWAB FAILED TO ALTER CODES PROPERLY
ys: A RY,R3 :DID suna DELIVER CORRECT RESULT?
BEQ 1st230 BR IF
5§: ERROR 2 :SWAB DELIVERED WRONG RESULT
3 BEABRENIELREER IR ER B REF ORI RR TR R ER LSRR
m:srz:n SWAB MODE 1| AND 2 TEST WITH POS. RESULT
fg;;sallli!l!lillllliliililllIllll!!llll!llilllllll!lill{lll!!!ll

CcCC
e73
es: SWAB
BMI
BCC
38: ERROR
4s: CHP
BEQ
ERROR
cs: MOV
MOV
MOV
CCC
273

T

8l B4
HelrB e

(R2)

4$

RY, (R2)
c§

1

3 R
SRBUTD
8377, (R2)

STW
= 377

'cnhhonx usigsztgggpusrnuctxon WORD
Egsﬂb "Eisr

;CLEAR
MAKE N:C = 1011

; TEST THE SWARB - DMI

;N:C = 0100

;SWAB FAILED TO ALTER CODES PROPERLY

;wﬂ RESULT?
1BR IF 0K

; SWAB DELIVERED WRONG RESULT

m?m HITH &? &lSTR WORD

g3l
sMAKE N:C = 1011
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MACY1l 27(1006) 25-APR-77
SkAB

GOS8

08:37 %

MODE | AND 2 TEST WITH POS. RESUL

1 >
ig 015200 208: (R2)+ :TEST THE SWAB - DM2
i hEn Rl ﬂ i e
1 1
1 1 102401
ig 015210 103001
i 01S212 104001 78: ERROR | :SWAB FAILED TO SET CODES PROPERLY
191 015214 020437 063312 BS: cHp RY, J8MBUFO : CORRECT RESULT ?
ig 015220 001401 BEQ as' ;aa: 1'5 YES
ig 015222 104001 9§ ERROR ;SWAB DELIVERED THE WRONG RESULT
51 1 063314 8s: cHP SMBUF0+2 :D 0 INCREMENT OCCUR ?
giz 81 gmoil BEQ Rg? 5;8 ?‘szg
199 015232 104001 ERROR ;SMAB FAILED TO AUTO INC REG.
1 5 3 AR
5202 s #TEST 231 SWAB MODE 1 TEST WITH MEG. RESLLT
MU o 30300 U 30 0 0 3% 0696 36 46 36 98 3% 9% 38 96 36 36 36 9 98 38 36 96 0 36 38 38 38 98 313 3 36 06 3% 36 30 38 3% 390 98 36 3038 36 36 96 36 3 2 3% 3% 3 3 B
520 0}523'! tit231: -
g ng 000231 8231,R0 :cféo% 55?:‘:&8?’ ru&ﬁ
1 13701 015266 % g g ; Rl NITH TE INSTRUCTION WORD
? } 1 12 MOV sMBUFO, R2 : s'@n?s 78 DEST OP
10 01 12712 177400 MOV umob. R DEST. OF = 177400
521 gxsasz cce sCLE
i 15264 267 ,mxs N: c = 0111
ig 015266 000312 2s SWAB  (R2) :TEST THE SWAB
sai;. oisz g BFG £ N:C = 1000?
sl 012578 TBgS e X P —
19 015276 103001 BCC 4§
015300 104001 3s: ERROR | :SWAB FAILED TO ALTER CODES PROPERLY
15302 020M12 4s: CHP RY, (R2) s CORRECT RESULT?
3153m 001401 BEQ 1sta3z ;;mc” fr YES
% 015306 104001 5$: ERROR | :SWAB DELIVERED WRONG RESULT
3 2T 22222222 SRR ERLIERILIL IS LISTSSLSTLIZIESS TSI LS LS ]
msr 232 NEG MODE O TEST : [DEST] = O
1 1531 1 'é;;;;llll!lllllllil!lllllIllll!ll!l!l«li"lﬂlllllll“lllllilllll
{ ig §?moo %v & ;CALL THE SCOPE LOOP UTILITY
1831 15-;8? 3?23% MOV aogi:m :Lhao RI W 1% Tstg? xmnoﬂ WORD
1 00S004 CLR RY RESULT S / B
6236 015324 005003 CLR R3 : INITIAL ([DES &) o

e —
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=
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015332
1

1
01

¢ 55

B

0153s¢

o=t ot fremss fomy st P Bamch s

53 R BANFKAYY

00000000
P Bomn Bt Bemon Pt Puct Pt eme

:

N =
[

46
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:
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Y1l 27(1006) @25-APR-77 08:37 PRAGE 97
O TEST : (DEST) =0

e
L R N 1011
NEG

2s: R3 s TEST THE NEG
§ g sN:C = 0100 ONLY *Z* SET?
48
38: ERROR 2 sNEG FRAILED TO ALTER CODES PROPERLY
4s: CHP R3,RY : T=0
BEQ 15te33 E';ﬁ %
5§ ERROR 2 :NEG DELIVERED WRONG RESULT

; SHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHH
iTEST 233 NEG MOOE O TEST : (DEST] LT O

!l!llllllilllll!l!lllll!lilll!llllll!l!l!l!illillilllllillillll
tét233:
SCOPE , ogp UTILITY
MOV ,RO 3«)
MOV 3828 RI m u TION WORD
MOV 'E
% 8-2,R3 ; 1 : 177776
276 ;m N:C = 1110
28 NEG R3 : TEST THE NEG
BM] K} 1
BEQ 33 ;N:C = 00017
BVS 35
BCS 4§
3s: ERROR 2 :NEG FRILED TO ALTER CODES PROPERLY
4s: CMP R3, RY . T =2
BEQ T5t23y ;?gufr vss

S§: ERROR 2 ;NEG DELIVERED WRONG RESULT

o 0300 90 36 3038 30 00 90 36 3006 36 36 9430 36 30 36 36 36 06 9 36 38 36 36 6 00 06 06 36 38 6 0000 00300030 0 00 06 00 30 36 36 3000 000030 30 30 3 3 30 36

'hssr 234 NEG MODE O TEST : [(DEST] = 100000 (8)
Ililll!llll!lill!lillllllllllll!llllllllll!Illllllllllll{!llll{

234
oa' UTILITY
MOV 8234, R0 g;ﬁirt
MOV a% oao m u TRUCTION WORD
ﬁvv 55 R3 - I IDE =i
8
cCce ’ ’CLsm“fLacs
SEZ MAKE N:C = 01000
2s: NEG R3 s TEST THE NEG

——— e —————— e —




Pll

i

1
Sii 8
5313 01
1'0 1
lz 1
S3l 1
gg 015516
19 015520
S321 015522
015524
15526
15530
015532
015534
015536
015540

S R B RE RN

000000000
b= B b= e Boss s Pt e

(=]
—

=
A
o!

QL L

01

HQIP(!C-U-W-B 11-K BRSIC LOGIC TESTS
DQKDARB . 08:29 Te3vy

MACY11l 27(1006
NEG MODE

b3

;N:C = 10117

;NEG FAILED TO ALTER CODES PROPERLY

O RS IS

cs: ERROR 2 ;NEG DELIVERED WRONG RESULT
+ SHHEHHHHHHHEHHHHEEHHHHEHEHHHH HHHHEHHHHHHHHHHHHHHHHHHHHHHHHE

'hssr 235 NEG MODE 1 TEST : [DEST) = 0
ig¥3§;llllillllll!ll!llll!llll ET2 2222222222

THE SCOPE_LOOP UTILITY

MOV RO HITH
MOV a'%g RI 't%nm ux;u é? TION WORD
MOV sMBUFO, ;
G0 Tk i
R (R2) i IN to: T1=0
cce
e73 ;lﬂ(E N:C = 1011
2s NEG (R2) s TEST THE NEG
BMI 3
BNE 33 ;N:C = 01007
BVS 3
BCC gs .
38: ERROR 1 sNEG FAILED TO ALTER CODES PROPERLY
ys: CMP (R2) ,RY RESULT = 07
BEQ 157236 IF YES
5§: ERROR 1 rcc DELIVERED WRONG RESULT

o S0 00030 36 S I3 36 36 36 36 36 36 36 36 36 0 00 0 JHH6 6 30 36 30 3030 00 30 36 06 3008 30 30 38 36 38 38 36 36 000 00 0000 06 30 00 3696 3006 30 36 36 30 3

’irssr 2% NEG MODE | TEST : [DEST] GT O
?g¥;gzll!l!llllliliilllllllil!lil!!llliilllllllllil!llllll!llllll
SCOPE scon' LOG’ UTILITY
MOV ao :cuﬁlio% NUMBER
MOV : Rl ux rssr INSTRUCTION WORD
MOV usut : ;ms T oes oP
MOV $-2,RY’ s RESUL
MOV 82, [R2) .mxmlE (DEST) = el
cCC iC
266 .mxe N: c = ouo
2s: NEG (2) s TEST THE NEG
BPL 3s

- e —e— =y




nanu:c—u-om—a ll-K MSIC LOGIC TESTS
DAKDAB.P11 T236

8 B
1 1 |

104001 38:

815512 021204 ys:
1Sble 001401

01S614 104001 cs:

§ 5 SHHHHHHHHHHHHEHHHHHHH
lTEST 237 NEG MODE 1 TEST : [DEST] LT O
 SHEHHHHEHHHHHENEHHHHHHHE HH

sié 000004 *QTW SCOPC
i

-77 08:37 PAGE 99
TEST : (DEST) GT O

Eg g ;N:C = 10017
ERROR
cHp

1 sNEG FRILED TO ALTER CODES PROPERLY
(R2) ,RY s CORRECT RESULT?

BEQ 151237 ::BR IF YES

ERROR 1 sNEG DELIVERED WRONG RESULT

4%

Tgw UTIL TY
Rl HI INSTRUCTION WORD

SR

l
o-é um :ézg ossn = mm
: mo

G
015650 00SM12 2 NEG (R2) : TEST THE NEG
1
2% 4 /I
015660 103401 BCS 4§
015662 104001 3s: ERROR 1 sNEG FAILED TO ALTER CODES PROPERLY
1 1 ys: (R2),RY : T RESULT = 27
81 %158'1' % rg‘?’eﬁa :%ﬁ v:"g
015670 104001 5$: ERROR 1 ;NEG DELIVERED WRONG RESULT
3 o S0 3306 00 36 06 30 30 96 3638 96 36 36 3038 36 36 36 38 36 338 06 36 396 36 38 36 90 0 06 3058 98 36 396 3838 9198 3 98 36 98 96 36 36 96 38 3 0 36 36 3 36 % 3
hssr 240 NEG MODE 1 TEST: [DEST] = 100000 (8)
? s:llll FY Y1 s22222222 2222212 2222223232223 22232232
Rov 0 ‘igﬁ‘
MOV ag‘a m u nsmucnon WORD
MOV a2
MOV 8l RY
MOV m.taa) n . mocm
&5 omo
2s: NEG (R2) ,rssr THE NEG
g'ﬁ 32 :N:C = 10117
BVC 33

———— ——



NAINDEC-11-DGKDA-B  KDI11-K BRSIC LOGIC TESTS mckuow 25-APR-77 08:37 PAGE 100
| DGKDRB.P11  25-APR-77 08:29 T240  NEG 1 TEST: [DEST] = 100000 (8)
405 015732 103401 BCS g
2407  01S734 104001 3:  ERROR 1 ;NEG FAILED TO ALTER CODES PROPERLY
5409 015736 (021204 yS: O (R2),RY sCORRECT RESULT = 1000007
}o 015740 001401 _ BEQ TST241 :;8R IF YES
}é 015742 104001 5§: ERROR 1 sNEG DELIVERED WRONG RESULT
194
ags 'm:sr 241 ROR TEST - DMO - N:C = 1110
1? 015744 tSTa-u
fi3 gl B oeum Lol AT e
f i 1 85% MOV anai'mm : INSTRUCTION WORD
M= T
gg 015770 000276 276 :N:C = 1111
% 015772 006003 2s ROR R3 s TEST THE ROR
1 BMI 3$ :N:C = 0000 ?
12776 S0ne Ba 3% e o
S430 016000 102401 BVS 3
aan 016002 103001 BCC 4§
gg 016004 104002 38: ERROR 2 :ROR FAILED TO ALTER CODES PROPERLY
3 01 020403 4§: RY,R3 comscr SULT ?
ggg xw“xus 001401 BEQ Tstava ::BR vﬁ
gg 016012 104002 5$: ERROR 2 sROR DELIVERED THE WRONG RESULT
SH40 ;<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>